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Abstract

In this report we will describe the Higgs mechanism, the technique used for
giving mass to particles in the standard model of particle physics. We will
start by introducing the theory required to understand the mechanism,
continue to outline the mechanism itself and conclude with the
implications of the mechanism and a brief summary of the attempts to
measure its effects.
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Chapter 1

Introduction

1.1 Notation

Below we give a brief discussion of the notation we will be using, the idea
behind this is to define a set of notation that we will try and use consis-
tently. We will leave aside universal notation such as basic addition etc, but
we include vectors and the complex unit number as these can be denoted in
several different ways.

We will use the energy scale where ¢ (the speed of light) and & (planck’s
constant) are taken to be one. This is merely for convenience and we may re-
store these factors to compare the results of theory with those of experiment.

Vectors will be denoted @

Operators will be denoted by a hat e.g. A

Scalar fields will be generally denoted by ¢

i,j will be used to denote the space-like indices of the four-vector

u, v will be used to denote the indices of the four-vector including the time
indices

x; will be used to denote position co-ordinates

xg = t will be used to denote time xg will be generally used in the context
of the four vector , and t when it is considered as a separate variable
normal script will be used to denote the four-vector restoring the index p
only when it is important

x, 2’ will be used to denote the space-time four-vector

k, k' will be used to denote the momentum four-vector , occasionally we will
also use p,p’ this should be clear from the context

k.x = koxg— k121 — koxo — ksxs , i.e we are using the mostly negative metric
g"” denotes the special-relativity metric

O = %

Finstein summation is used i.e. a,b, = Z a;b;
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w_ 9% 9 92 9
alu’a - 83302 81‘12 8:)322 81‘32
a’ is the transpose of a
a* is the complex conjugate of a

al = a*T is the dagger of a

bra-ket notation is used where:

(a | is the bra

| a) is the ket

(al=]a)t

{a | b) is the complex inner product of a and b

all = a(a-2)(a-4)... 11!=1

Generally the measure of the integral e.g. dx will apply to all functions to
the right of it up to the ending of a bracket

§3(k — k') is the dirac delta function of &, k' for three-dimensions
ie. [dK f(k)P K —Kk) = f(k)

This extends to four-dimensions i.e. [d*k f(k)5*(k — k') = f(k)
i=+v-1

0.5 is the variation of S

confusingly d;; is the kronecker delta function = { (1) 2 f j

. d

P= G )

*aataa’, = ata’aa is normal ordering i.e. put all af to the left of @

1z>0

0xz<0

€ is the strictly positive small variable i.e. it can be arbitrarily small

T is the time ordering operator T(¢(x")p! (x')) = (' — t)p(x') Pt (x) + O(t —
")t (x)p(x') the operator with the largest t comes first

A is the small parameter used in the perturbative expansion of the interact-
ing lagrangian

0(z) is the heavside function = {

In the consideration of interacting fields

do(t, &) denotes the free field field i.e. when A = 0

This also applies to the vacuum state | 0)¢ is the free vacuum | 0) is the
interacting vacuum ¢y, (Z) denotes the field in the Schrédinger picture

O(x?) denotes terms of order z2 or higher

V = (s, 8y, 0-)

0 = [ 5z — V¥ = 0,0"

The 4-dimensional Levi-Cevita tensor e#f? =
The 3-dimensional Levi-Cevita tensor €% = —eith (123 = 1

—VBPT 60123 = —€p193 = -1



1.2 Required Mathematical Techniques

Obviously this is a mathematical paper and thus there will be much more
mathematics outlined in this paper. Here we highlight some of the more
commonly used mathematical techniques in this paper that we will take to
be common knowledge but may be outside the general knowledge of the
undergraduate mathematician. We expect a reasonable grounding in vector
calculus and linear algebra. We hope to introduce and cover new techniques
in detail throughout the paper and any confine any excessive calculations to
the appendices.

The Operator Exponent
Taking our cue from the taylor series of the normal exponent we define :

o0

1 .

e = —A""  neN (1.2.1)
n!

n=0

The Heavside function
The Heavside function can be defined as the limit of an exponential :
dw eiwt

e—0 ) 2miw — i€

(1.2.2)

This can be seen by considering the contour-integral of the function over
the two half-planes. As e > 0 the pole of the function ( w = i€ ) is in the
upper half -plane. Thus the integral over the lower half-plane (¢t < 0) is 0
as it contains no poles and the integral over the upper -half plane (¢ > 0)is
the function evaluated at the pole which gives a value of 1 .

The Taylor Expansion of a Function around a Minimum
Consider the taylor expansion of a function V(x) about its minimum:

"
V(z)=V(z)|o+V'(z) oz + Vz(at) lo 2% + O(x%) (1.2.3)
Since V'(z) |o =0 at the minimum at low orders of x i.e. near the minimum.
k
V(z) =~ V(0)+ 5:1:2 k=V"(x)|p is a constant (1.2.4)

Importantly for physics this means near a (stable) minimum many poten-
tial function V(x) can be approximated up to a constant by the harmonic
oscillator potential %mQ .

Variational Derivatives
By analogue with normal derivatives for two fields ¢(Z,t), (¥, t) we define
the variational derivative:

6¢(Z, 1)

=83(& — 7 2.



Commutators
The commutator of two operators a, b is:

[a,b] = ab — ba (1.2.6)

If [a,0] = 0 @,b are said to commute .

Anti-Commutators
The commutator of two operators a, b is:

{a,b} = ab + ba (1.2.7)
If {a,b} = 0 @,b are said to anti-commute.

The Poisson Bracket
The Poisson bracket of two quantities f and g that are functions of p and q
is defined:

fhat=5 -+ (1.2.8)

Left and Right Derivatives
for the differential operator D we define a% = Da and :

fOug = F(9u9) — (0uf)g (1.2.9)

Cross-Product
for two vectors @ = (a1,a2,a3) and b = (b1, ba, b3) their cross product is
defined by :

a X g: (agbg — a3b2,a3bl — a1b3, a1b2 — agbl) (1.2.10)

The Dirac Delta Function
The n-dimensional Dirac delta function is defined by §"(x) where for any
functionf and any n-dimensional vector x we have:

/ &5 f(2)0"(z) = £(0) (1.2.11)
We take the Fourier transform of this to give:

2m)" 6" (@ —2') = / d" ke @) gr (1.2.12)

1.3 Required Mathematics: Group Theory

We here introduce a few aspects of group theory that will be useful later
. A group is a set of objects (e.g. numbers, vectors, matrices etc) with an
operator *. That obeys the axioms of a group for group G operator *



i) VA,B € G If A*B =C C € G completeness.

ii) (A*B)*C = A*(B*C) VA, B, C € G associativity.

iii) 3 € G such that I*A= A*I=A VA € G existence of the identity.
iv) VA € G 3B such that A B = B * A = I existence of the inverse.

We need only consider two groups U(1) and SU(2).

U(1) known as the circle group is the group of complex numbers modulus 1
with complex multiplication, i.e. it has members z = € |z |=1 .
Complex multiplication is associative, the identity is 1 given by 8 = 0 , the
inverse is given by zx = e~ ¢ has modulus one for all f so 2129 = ei(?1102)
is in U(1) V21, 22

The SU(2) group is the group of 2 x 2 unitary (U~! = UT ) matrices with
determinant 4+1 ( U(N) unitary matrices of dimension N have determinant
+1, SU(N) special unitary matrices of dimension N have determinant +1 )
under matrix multiplication.

matrix multiplication is clearly associative, the identity matrix:

(é (1)) (1.3.1)

is clearly a member of SU(2). Since for any two matrices A, B det (AB)
=det (A) det (B) if A and B have determinant 1 AB has determinant 1 and
as matrix multiplication between two 2 X 2 matrices gives a 2 X 2 matrix ,
this group is closed. If the inverse A~! exists then using the properties of
determinants det(I) =det(AA™') = det(A)det(A~") since det(I) =det(A)=1
for A in SU(2) det(A~1) =1 . For any 2 x 2 matrix :

<Z Z) (1.3.2)

1 d -b
1.3.
ad—bc(—c a) (1.3.3)

We would now like to show the equivalence between O(3) and SU(2) where
for our purposes O(3) is the group of all possible rotations in 3-space.

its inverse is :

We follow now section 13.1 in [1]. Assuming our SU(2) matrix is of the

form:
a b
U= <c d) (1.3.4)

uW=ul= <Z ;) (1.3.5)

then:



using:
1 t+_(a b\ (a* "\ _ faa® +0bb* ac* + bd"
e = e d) \oroar) T \ear +07d cot + dd
10
(0 120

and det u = ad-bc=1 .

we now have four -equations:

Dlal+]b]?P=1.

2) ac* = —bd*.

3)ad —bc=1.

HlcP+|dP=1.

These reduce to the one equation | a |> + | b |?>= 1 with the solutions
c=-b",d=a*.

We now take our general matrix to be( 13-3a p342 [1] ):

u= <_°;)* ;’*> (1.3.7)

Consider the matrix:

| =z x+iy
h_<:n—z'y ; ) x,y,2 €L (1.3.8)

The equation &' = uhu' :

-2 2+ a b —z  x+iy\ (a* b
= 1.3.
(m' — 11/ 2! —b* a*) \xz — 1y z b a (1.3.9)
clearly provides a transform :
T x
=y | —-r=1yvy (1.3.10)
z z
which can be written in terms of a 3 x 3 matrix R:
ie. ¥ = Rr

R is a rotation matrix as:
1) lengths are preserved:

det(h) = =22 — (x +iy)(z — iy) = —(2* + 2° +y?) (1.3.11)
which is the negative of the length in free-space :

det(h') = det(uhu') = det(u)det(h)det(u') (1.3.12)

10



using property of determinants det(AB) =det (A) det (B) (see Appendix
A1)
so:

det(h') = det(h) as det(u) = det(ul) =1 (1.3.13)
by the properties of unitary matrices .
2) All its terms are real so R is real (see appendix A2)
3) Its determinant is 1 as R — I3 continuously as u — Iy (a — 1,b — 0)
(see 19-13 p343 [1] ) .

We will now show that some specific SU (2) matrices correspond using this
method to rotations about the three co-ordinate axes (x,y,z) in 3-dimensional
space. We here use introduce the Pauli-spin matrices(see p217 eq 5.4.18 [2]

(01N o (0 =i\ 5 (1 0
o —<1 0>,J —<é 0>,a =0 -1 (1.3.14)

we will use these in preference to the form in [1] for later clarity.

Assume u is diagonal, i.e. b=0, | a |?’= 1 — a = e2"i.e. u becomes (
126 p343 [1] ):
_(eml=] 0 \_, i
up = ( 0 eaplie]) = exp| 50 ] (1.3.15)
Recall:
Je sy gy (L0 Lty (100
exp| 5° =1+ 5 (0 _1> + ( 2) (0 1) + ... (1.3.16)
using the exponential for a matrix, which reduced to :
a4 o G L 0
crpl-5 o= ( 0 14y oy ) (131D
So: -
to 3. fexp L 0
exp| 50 | = ( 0 exp[’S‘]) (1.3.18)

using the taylor expansion of the exponential.
This means:

) o+ iy B
' — iy 2 -

zes e%m(x+iy)
e (x —1iy) ze 2
_|_

Zy (1.3.19)



This gives the four equations:

1) =2/ =—2

2) z + iy = cosax + sinay + i(—sinax + cosay)

3)x — iy = cosax + sinay + —i(—sinax + cosay)
)

4) 2/ = z using € = cosx + isinx . which implies:
x cosae  sina 0\ [z
y | = | —=sina cosa 0] |y (1.3.20)
2 0 0 1 z
So:
cosae  sina 0
R(up) = | —sina cosa 0 (1.3.21)
0 0 1

which is a rotation about the z-axis.

We now assume u is real , we have (130 p343 [1] ):

B _gin8 ]
uy = (%3 T2 :exp[@UQ] (1.3.22)
sing  cos’

2 2

using the exponential for a matrix :

earp[2 o] 1—1—2(1. 0)—1—(2) 0 1)
_ <1—(§)2+ -84 . >
L. 1—(9)2+ ...
B _ginB
- <C?S% " > (1.3.23)
SZ?’LQ 6035

using the taylor expansion of cos and sin in the last line. which implies:

-+ —z  xHtiy

' — iy 2! - T — iy z

cost S sin
(s

COS 2 —S’LTL >

B
sins 5 COSg

COS 2 —8in

B
sins 2 cos5

(1.3.24)

Q
0
M\Ql\') [

o[
N— "

8 in B s

—Zcosg —(z+ Zy)smg (x + iy)cosg - zsin%
(x —iy)coss — zsing zcosg + (z —iy)sing

This gives us four equations:

1)—2 = —z(coszg - sinzg) - m2sin§cos§

12



2) o' +iy = —z2sm§cosg + (cos2§ — sin g):p + Zy(COSQg + sm2§)
3) ' —iy = z?singcosﬁ + (00325 sin g) zy(0082§ + sinzg)
4) 2 = z(cosQé — sin 7) + x251n§cosg
which using cosQﬁ — sm2’8 = cosf 0032’8 + sin g =1 28@%%003% = sinf ,
gives in reduces to
1)—2' = —zcosB — xsinf
2) &' +iy = —zsinf + cospx + iy
3) &' —iy = —zsinB + cosfx — iy
4) 2/ = zcosff + xsinf
This implies :
x’ cosB 0 —sinf x
y]l=1 0 1 0 y (1.3.25)
2 sinf 0 cosB z
So:
cosp 0 —sinf
R(uz)=1 0 1 0 (1.3.26)

sinB 0 cosp

which is a rotation about the y-axis.
Assume b is imaginary, we get (13 p344 [1] ):

A - A .
_ [cosg  ising\ _ 1A 1397
s <isin§ cos%) expl-o7] (1.3.27)

using the exponential for a matrix :

A iA (0 1 iAo (1 0
exp[7a ] = 1+ - (1 0) + (?) <0 1> + .
_l’_

A igind
- (F?SzA Zsmg) (1.3.28)

zsm7 COS 3

using the taylor expansion of cos and sin in the last line. Our transformation
is:

A A AN cos% isin% —z  x+iy
' — 1y 2! isz’n% cos% T — 1y z

A
COS —18tns
2\ 2 (1.3.29)
—181mS 2 COS+ 2

B (cos 5 ZSZTL )
ising  cosg
A : A s A
" <—20052 — (z —|— iy)ising (v +1iy)cosg + zzsm&>

N A SN
(z — iy)coss — zising  zcos§ — (x —iy)ising

13



thus we get four equations

1)—2' = —z(cos’S — sin?S) + y23m > cosS

- A A 2A : 2A - 2A
2) o' +iy'z = 2isingcosg + (cos?4 3 + sin®5)r +iy(cos* 5 — sin”g)
3) 2’ — iy = —22isinScosS + (cos’S + sin?L)x — iy(cos?S — sin?%5)

4) 2 = z(cosg% - szn2§) yQSanco.s%
using cos?5 — sin?L = cosA cos?S + sin
reduces to:

1)—2' = —zcosA + ysinA

2) @’ + iy = izsinA + z + iycosA

3) &' —iy = —zisin2A + x — iycosA

4) 2/ = zcosA — ysin2A

2% =1 25@'71%003% = sinA , this

This implies:

x’ 1 0 0 T
vy =10 cosA sinA| |y (1.3.30)
2 0 —sinA cosA z
So:
1 0 0
R(ug) = [0 cosA sinA (1.3.31)

0 —sinA cosA

Which is a rotation about the x-axis.

We assume that any rotation can be described by combinations of rota-
tions about the three co-ordinate axes (see 112-13 p344 [1]) and thus the
group O(3) is holomorphic to SU(2). Thus any rotation in three-space can
be described by an appropriate combination of exp[— w‘ a3, exps i 0?] and
e$p[2A 11", This will be useful later.

1.4 Introduction

In this paper we hope to give brief outline of quantum field theory and then
move on to outlining the specifics of the Higgs Mechanism. In this intro-
duction I hope to give a brief summary of the motivation behind quantum
field theory and the central concepts underlying the theory. We will then
proceed on to the main body of the paper where we will develop the con-
ceptual framework from quantum field theory needed for understanding the
Higgs mechanism before describing the mechanism itself and then finally
highlighting the relevance of the Higgs mechanism to modern physics and
performing some calculations to show how it can be used.

We begin with a brief summary of quantum mechanics and special rela-
tivity focusing on the aspects required for the development of quantum field

14



theory and also highlighting the techniques from classical mechanics rele-
vant to quantum field theory. We also highlight Maxwell’s equations as a
classical theory that can be easily adapted to a quantum theory. We then
introduce dimensional analysis as a way of comparing quantities especially
in the ¢ = h = 1 notation to ensure that equations are dimensionally cor-
rect. Next we introduce the five most common free fields starting with the
most simple harmonic scalar field and then introducing the complex scalar
field , we then move onto their spinor analogues in the Majorana fields
and Dirac spinors, finally we introduce the concept of a vector field link-
ing this to Maxwell’s equations. We then introduce canonical quantisation
and the path integral formalism as two standard ways of representing quan-
tum field theory. We then introduce the concept of interacting fields and
the techniques of dealing with these through perturbation theory and the
LSZ formula and the graphical representations of these techniques in Feyn-
man diagrams and their associated rules. We then introduce two important
quantum field theory concepts the Ward identities and conserved currents
the latter of which is very useful for our discussion of the Higgs mechanism.
We then move onto corrections to Feynman diagrams to ensure accuracy
specifically covering loop corrections and introducing 1PI vertices. Renor-
malisation is then discussed as a method of limiting the number of possible
field theories and ensuring non-divergence of results.We introduce the quan-
tum action as a useful concept for considering symmetries. We then discuss
spontaneous symmetry breaking as a key component of the Higgs mecha-
nism highlighting Goldstone’s theorem and its prediction of the Goldstone
Boson. We then expand on the concept of gauge theory and highlight the
difference between abelian and non-abelian theories. We then give a brief
summary of QED as the simplest useful quantum theory and an example of
the use of different types of fields. Finally we discuss the Higgs mechanism
and highlight Higgs detection paths explicitly explaining the connection to
the LHC and the Higgs boson paths expected there. We then proceed to do
some calculations to derive interesting quantities for a number of different
predicted Higgs bosons. We conclude with a conclusion summarising the
work above and follow with the Bibliography and appendices.

This paper attempts to be relatively self-contained and comprehensive, we
hope to highlight issues which are not covered. Specifically we ignore the
complexities associated with the strong force since all the new particles in-
troduced by the strong force are massless and thus the Higgs mechanism
does not apply to them.

The original aim of quantum field theory is to combine the two separate
theories of quantum mechanics and special relativity. In essence this means
creating a theory that allows for the Lorentz invariance of special relativ-
ity and quantisation of quantum mechanics, allowing us to simultaneously
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incorporate such key notions as the uncertainty relation of position and mo-
mentum and light-cones.

Initially we will consider the so-called free-field relation whose lagrangian
density is given by £ = —%8,@8“@%) — %mQQSQ which is analogous to the har-
monic oscillator (this notation will be discussed later in further detail for
now it is only the relationship to the harmonic oscillator that is important) .
This can be derived by thinking of space as made up of a lattice of harmonic
oscillators and taking the limit of an infinite number of harmonic oscillators.
As we progress to more complicated field relations we will have to think of
there being more complicated potentials at each point which is obviously
less intuitive, but could be considered as interacting corrections between
the different harmonic oscillators.

The initial consideration of harmonic oscillators is useful for two reasons.
Firstly as will be shown below the equations for the harmonic oscillator can
be solved exactly. Secondly by analogue with classical physics many poten-
tials near their minimum can be approximated at low order by a harmonic
potential. This second point is something we will come back to when we
consider perturbative expansions leading to Feynman diagrams.

1.5 Brief Summary of Required Quantum Mechan-
ics

For this section we retain A’s to make it easier for the reader to recognise
concepts that they may already have covered.

One of the fundamental tenants of quantum mechanics is that fundamental
physical quantities such as energy and momentum do not form a continuous
spectrum but are instead quantised in discrete levels . This is a concept re-
alised by the operator notation of quantum mechanics where each physical
quantity we wish to measure is promoted to an operator whose eigenvalues
are the possible measurable values (observables) of the given physical quan-
tity . These operators are considered to be hermitian (A = At) so that in
matrix representation their eigenvectors form a basis and their eigenvalues
are real. The eigenvectors forming a basis means that they span the re-
quired space and thus any vector in this space can be written as a linear
combination of these eigenvectors, these two general properties of hermitian
matrices are proven in the appendix Al. The eigenvectors are taken to be
real so that observables are real which is what we hope as we always observe
physical quantities as being real.

In generalised notation the eigenvectors are represented by the dirac bras
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ie:

Aln)=ala) (1.5.1)

where A is an operator, a is an eigenvalue | n) is the eigenvector

There are a specific class of operators that will be very useful to us known
as the creation and annihilation operators.They have an analogue in the
standard quantum mechanical treatment of the harmonic oscillator which I
will outline below.

The expectation value of a given operator Ais given by :

(Ay = (| A| ) (1.5.2)

where | 1) is a arbitrary state vector

Another important quality of quantum mechanics are uncertainty relations,
these essentially say that if we have two quantities and one is measured to a
certain degree of accuracy , the other cannot be measured to arbitrary accu-
racy. The most famous of these is the uncertainty relation between position
and momentum which can be written as:

h
APAQ > 3 (1.5.3)
where AP is the uncertainty in P and AQ is the uncertainty in Q

It can be shown that all uncertainty relations between two quantities is
equivalent to the two operators representing them not commuting i.e for
two operators A, B

AAAB #0=[A,B]#0 (1.5.4)

This follows from a proof that shows that if (AA) is defined as:
(| (A= (A))? | ) for arbitrary operators A and B then :

~

AAAB > o | (| [A,B]| ) | (1.5.5)

l\.’J\»—\

(see for example [3])
this shows that if if [Q), P] = ihI then AQAP > £ and vice versa

For the harmonic oscillator in quantum mechanics :

a|n) =+/n|n—1) annihilation operator as a | 0) =0

at | n) =+vn+1|n+1) creation operator as af | 0) =| 1)
see the appendix A2 for details
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In quantum mechanics as stated above each physical quantity is promoted
to an operator and each poisson bracket is promoted to a commutator and
multiplied by if so the poisson bracket {g,p} = 1 implies

[Q, P = ih (1.5.6)

The Pauli spin matrices will also prove useful .They have the property that

olod =ieikoh £ 4 (1.5.7)

which implies : o
{0,067} =0 (1.5.8)

o = (é (1)> (1.5.9)

the Pauli matrices form a basis for the 2 -dimensional matrices with the
properties :

together with :

otot = o° (1.5.10)

(see appendix A3)

1.6 Brief Summary of Required Special Relativity

The principle idea of special relativity we wish to preserve is the concept of
Lorentz invariance. This is the idea that there exists a transformation called
a Lorentz transformation which when it is performed on a on certain quan-
tities (Lorentz invariant) gives the quantity after transformation as before.

A very useful quantity in special relativity is the metric g which can be
taken to be represented by the matrix:

1 0 0 O

0 -1 0 O .

0 0 -1 0 negative (1.6.1)
0 0 0 -1

uv

This can be used to switch between up and down notation.
For special relativity we define the contravariant four vector:

a* = (d°, @) (1.6.2)
where @ is the normal three vector and the covariant four vector:

a, = (a”,—a) da' =g"a, (1.6.3)
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and the square of the vector is defined as :
a® = aya” = a'a, = (a°)? — (a")? - (a2)? — (a3)? (1.6.4)

Some texts use the negative of the metric and so the four-vectors have time-
components which change sign, but the vector remains the same sign.

For the position four-vector x* we define its Lorentz transformed quantity
M by:

oM = A (1.6.5)
where : -
x
AP = 1.6.6
ox? ( )
is a Lorentz transformation. Similarly:
xul = A#Vxl/ (167)
™ = AMym, (1.6.8)
z, = A2 (1.6.9)
where:
oz,
A = K 1.6.10
w = B (16.10)
ozt
AP, = aj; (1.6.11)
ox,’
A = aw’; (1.6.12)

Where A, A" = gy =0,

This means that Lorentz transforms can be considered as unitary trans-
forms, we will get back to this later. This delta relation which follows from
commutativity of partial derivatives means that all products of four vectors
chosen like this are Lorentz invariant, i.e. any a,b" for a*, b* four-vectors is
Lorentz invariant.

A tensor of rank 2 is a quantity that transforms like:
F'™ =AM NV, FPO (1.6.13)

where the A are Lorentz transformations as above. It can be seen that for
two tensors like this F),, G is Lorentz invariant.

We now define some useful four-vector quantities which are Lorentz invari-
ant. The first is the position four-vector:

at = (ct,z,y,2) (1.6.14)
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where t is the time co-ordinate, x,y,z are the spatial co-ordinates. c is the
speed of light.
The momentum four -vector is defined as :
E
pt = (;,ﬁ) (1.6.15)

where E = mc?y,p = ymo¥ where mg is the mass of the object measured
in its rest frame ¥ is its velocity and :

1
¥ = (1.6.16)
-5
We also define the derivatives:
0
0, = — 1.6.17
I 81‘“ ( )
and vice versa 9
ot = — 1.6.18
o (L6.18)

We also note that the normal vector should now be written @ = (a', a2, a3)

and that a® =ag , a; = —a* i #0 .
1.7 Brief Summary of Maxwell’s Equation

We first state the normal differential form of Maxwell’s equations ( see p120
eqs 5.1 -5.4 [4] ):

VE = 0 (1.7.1)
€0

. OB
VXxE = —— 1.7.2
x BT (1.7.2)
VB = 0 (1.7.3)
- o - OF
VxB = M0J+M0€og (1.7.4)

where E is the electric field, B is the magnetic field density , J is the current
density and pg and €y are constants with SI values

€0 = 8.85 x 107 2Fm™1, g = 4 x 107 "Hm ™! with relation ¢ = \//%

These equation can be simplified using the vector A and potential ¢ where :

B=VxA (1.7.5)
and o
L - 94

EF=- - — 1.7.

Vo (1.7.6)



since V.V x C = 0 and V x Va = 0 for all vectors C' and potentials a (proof
in appendix A4,A5)

VxE= —%—? ,ﬁﬁ = 0 are automatically satisfied and thus maxwell’s four
equations reduce to two:

. o - -
V24 2 (V.A) = _ZT? (1.7.7)
oo 1024 o o 106 .

=

using that V x VXA = V24 — VV.A (see appendix A6,A7)

Obviously the choice of A and ¢ is not unique any A that differs from
A by an amount D such that V x D = 0 will give the same result for B and

—

any ¢’ that differs from ¢ by an amount d such that Vd = —%—? gives the

same result for E so /Y’, ¢’ can be used instead of ff, ¢ providing d and D
are chosen as described above. This is called choosing a gauge.

If we use the Lorenz gauge :

- > 10¢
A+ —=— = 1.7.9
VA+ 25 0 ( )
and define the four vector:
AP = (i,ﬁ) (1.7.10)
c
and the four current:
JH = (pc, J) (1.7.11)
maxwell’s equations become:
OA* = poJH (1.7.12)
(see appendix A8)
Suppose:
Fop = 0,A — 0gAn (1.7.13)
with A, = (2, —A)
Then in matrix form ( see appendix A9) :

Fag=| & (1.7.14)



by definition :
FHr — ghop BQBV

So in matrix from (see appendix A10):

0 _Ez ;Ey _Ez

E (& & 4
v _ == 0 —-B. By

LB, 0 -B

L,

= -B, B, 0

(1.7.15)

(1.7.16)

We will generally be taking ¢ as one but we leave in factors of ¢ so we
can compare to usual results. The choice in four-vectors and tensors may

mean difference of a factors of ¢ to other literature.
We can define a new quantity :

~ 1
v — §6w’po Foy

which in matrix form becomes(see appendix A1l :

0 B, B, B,

E E,
pw _ | =B 0 %= 2
=|l_g E ¢ _&
Yy CE g c
— 7Y L
B, E - 0

Thus the Maxwell’s equations become (appendix A12):

OFs
oz
QFoP
ox™
We can show that the lagrangian density:
1
4410
leads to the equation of motion (see appendix A13):
(63
88}; aB = 1o J?

= o’

=0

L=——F"FF,5—A,J"

In a vacuum with no sources i.e. J* = 0 the lagrangian becomes :

1
L=——F%F
4po s
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(1.7.19)

(1.7.20)

(1.7.21)

(1.7.22)

(1.7.23)



1.8 Dimensional Analysis

(This section follows Srednicki Chapter 12)

In the set of units where ~A=c=1 time, inverse mass and length can be thought
of as having the same units as for a given length L there exits a time T such
that L=cT (since c is simply a velocity) and since & has units Joule seconds
in SI (from E=Aw) and a joule is a kgm?s=2 (F = z—f,ﬁ: mv, E = Fd)

h has units kgm?s~! and thus hc™! has units kgm thus for every inverse
mass M ! there exists a length such that M~ = chA~!L.

This means that any quantity that could previously been given with units
in terms of powers of length, time and mass can now been given in terms
of a power of just one of these conventionally taken as mass. The quantity
covered include all dynamic variables. The power in terms of mass of a
quantity C will be denoted [C]. eg:

[m] = +1 (1.8.1)
by definition (see pl04 eq 12.1 [5] ).
4] = —1 (1.8.2)

(see pl04 eq 12.2 [5] ) as the space parts of z# have dimension length and
the time parts have dimension time.

0] = +1 (1.8.3)

(see pl04 eq 12.3 [5] ) the inverse of the previous as this differentiates a
quantity with respect to z* and thus reduces the power in terms of x* by 1
and hence increase the power of mass by 1.

[d%z]) = —d (1.8.4)

(see pl104 eq 12. 4[5] ) this is the inverse process of the previous one and
thus has the inverse sign.

Knowing these and similar results we can derive the dimension in terms
of mass for any new quantity such as the field. We can also invert the pro-
cess so that if we know the dimension in terms of time, mass and length of
a quantity and have computed it in this regime we substitute in c¢’s and A’s
to restore the original dimension and thus we have the correct number of c’s
and 7's.

1.9 Summary

In this section we have introduced the notation that we will be use and given
a brief summary of the basic physics and mathematics that this report draws

23



on. We have also introduced the topic and given a brief summary of the
report and the motivations for it. Finally we have introduced dimensional
analysis as a useful concept and a pseudo-justfication for taking h =c =1
as well as a process that we can invert to get quantities in terms of SI units.
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Chapter 2

The Types of Field

2.1 The Free Harmonic Field

The simplest possible free theory involves a scalar field ¢ given a real value
at every point in space-time i.e. :

6 = o(t, T) (2.1.1)

We identify the Lagrangian L as the three-integral of the lagrangian-density
Lie. :

L_/fu: (2.1.2)

and similarly identify the Hamiltonian H as the three-integral of the hamil-
tonian densityH i.e. :

H:/fﬁi (2.1.3)
The simplest useful lagrangian density is ( pl6 , eq 2.6 citeP+S):

The similarity between this and the harmonic potential of classical physics
is obvious. The use of this lagrangian is limited as it has no self-interaction
terms for the field above harmonic order, so it does not simulate the interac-
tion between particles, i.e. it models particles that hit each other but are not
affected by their mutual interaction. However the great advantage of this
model is it can be exactly solved and provides a simple example of the proce-
dure that can then be extended to be more complicated lagrangian densities.

The following derivation is fairly standard and can be found for example

in Section 2.2 of [7] (with the caveat that we use the mostly negative metric
g"" rather then the mostly positive n*#).
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The action S is defined as the four integral of the Lagrangian density, i.e.:

S = /d4x£ (2.1.5)

where [ d*r = Jdt [ d3x or equivalently the time integral of the Lagrangian
S = [dtL.

The principle of least action suggests that particles follow paths in which
the action is minimised i.e. the variational derivative of S is zero (0.5 = 0) .
Thus we have the equation:

_ _ 4, dL(x)
0=65 = /d Soa o) (2.1.6)

Using the definition of variational derivatives above (Section 1.2 (1.2.5) ):

Ap _ .
55 = /d%[a(s g:U y) aga(j#)gw (@) — ool (@17)

where the halves have disappeared as the differentiation is applied twice to
the same term to give double the outcome and g"” comes from switching 0,
to 0¥ integration by parts on the first term then gives:

55— — / 4 2]0,0"6(x) + m>d(2))54 (@ — )5 (y) (2.1.8)
if we assume the derivative term:
Ip(z)
4 v
vanishes when evaluated at the boundaries. Thus :
65 = —[0,0"p(y) + m*¢(y)]5(y) =0 (2.1.10)

since 0¢(y) is arbitrary. We have quite simply the Klein-Gordan equa-
tion(pl7 , eq 2.7 [9] ):

9,0"p +m?¢p =0 (2.1.11)
Analogously to classical physics we define conjugate momentum :
0S
T(x) = — (2.1.12)
6¢(x)

and the hamiltonian, “the legendre transformation of the lagrangian”’ ( p12
123 [7] ) as ( p16 , eq 2.5 [9]):

H= / dix(n(x)(z) — L(x)) (2.1.13)
We defer further discussion of ¢ and creation and annihilation operators to

the next section as they are a special case of the complex system which is
more illuminating and useful later.
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2.2 The Complex Scalar Field

The complex scalar field is the complex analogue of the real scalar field
i.e. it assigns a complex number to every point in space-tme. As might be
expected the complex field allows for two different types of particle, it also
allows us to introduce the concept of current. The analogous lagrangian is(
p90 eq 3.51 [6]):

L= 10,600% — tm? |0 (22.1)

for which the equation of motion is again the klein-Gordan equation (see
appendix B1) (2.1.11):

00" +m?¢ (2.2.2)
the conjugate momentum:
oS .
m(x) = — = ¢ (x 2.2.3
()= 57 =909 (2:23)
Since the plane waves:

with wi = V k2 + m2 (seen by substitution into the equation) are solutions
of the Klein-Gordan equation. Using the analogue of fourier transforms we
can postulate that the field can be written as (p20 eq3.26 [7]):

&’k N\ ik Z—iw Tx (T ik Eiw
o(x) Z/W(a(k)e’“' st ¥ (K )elh TRt (2.2.5)
7T) ka
where W oo s a normalisation constant and a(k) and b*(k) are arbitrary
coefficients.

Separating out the b*(k) integral taking b*(k) = —b*(—k) and swapping k
for —k gives (p20 eq3.27 a [7] ):

d3k T R
— k ik.Z—iwit b (k —ik.T+iwgt 2.9.6
o0) = | G oB T (B 2
We then derive:
* _ d*k * (T —ik.FHiwgt ik E—iwpt
¢*(x) = | ——=——=—=(a"(k)e + b(k)e ) (2.2.7)
(27)3 /2w,

thus for a real scalar field where ¢ = ¢* we get by comparison of the coeffi-

-, -

cients of the exponentials a(k) = b(k). Then the conjugate momentum and
its transpose are:

3 [ o PR N

7T(X) _ /(;iﬂ-l;?’ 7lf(Z-)(a»«(k:)efzk.a:+w.)kl‘/ _ b(k)ezk.a:fzwkt) (2.2.8)
3 w — - —, e

700 = [ Gy Sy e 2.0)
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We can thus derive a(k) and b(k) (see appendix B2) and get :

a(l;) = /d3x( %¢(X)+ \/;Tkw*(xne—ilg.f-i-iwkt (2210)

b(E) = /dBZ‘(\/?(b*(X) + \/STkW(X))eiE.£+iWkt (2211)

As the Poisson bracket of position and conjugate momentum is 1. We pos-
tulate that:

[6(t, @), 7(t', 7)) i—p = ih6°(Z — §) (2.2.12)

Where we have promoted our fields to field operators and used Dirac’s pre-
scription that we should then multiply their commutator by <A , this is an
example of canonical quantisation which we will come back to. Previously
all our results would have been true of classical scalar fields. Using this we
can then derive (see appendix B3) :

[a(k),al ()] = [b(k), bT (K] = (27)?63(k — K (2.2.13)
(a(k), a(k")] = [a' (k),at (&')] = [b(k), b(K")] = (B (k), 61 (F)] =0 (2.2.14)
[a(k), b(k")] = [af(k), ' ()] = [a' (), b(K")] = [a(k),b'(F)] =0 (2.2.15)

We can show that the hamiltonian becomes (p21 eq3.32 [7] ) ( see appendix
B4).:

H= / f’ﬁ)wkw(k’)a(%) + b (K)b(K) + const] (2.2.16)

This constant integrates out to an infinite number which can be ignored
by choosing our measuring system so that this constant is zero by making
measurements relative to this constant.

One can see that this can be separated into two Hamiltonians which depend
on a and b of the same form as the one acquired if ¢ was a scalar field hence
a and b can be considered two represent two different types of particles.

It will be shown later that these two particles are anti-particles i.e. they
have the same energy but opposite charge.

2.3 DMajorana Fields and Dirac Spinors

(This chapter follows from Chapter 3 Peskin and Schroeder)

First we need to define the four gamma matrices (given in the Weyl repre-
sentation) these are four dimensional matrices given in terms of the Pauli
spin matrices by ( p4l , eq 3.25 [9]) :

o <00 %()) , (2.3.1)

g
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; 0 o
i __ ) s
vt = (—0’ 0) 1=1,2,3 (2.3.2)
these have the property that:
{77} = —28Y (2.3.3)

These matrices satisfy the Dirac algebra (p40 , eq 3.22 [9]) for 4 dimensions:

{",7"} = 26" X Inen (2.3.4)
It can be shown that : )
S = ih“m”] (2.3.5)

satisfies the Lorentz algebra (see appendix B6) and thus boosts can be rep-
resented by S% and rotations by S% .
One can show that:
Aily“A% = Ay (2.3.6)
2

p4l ,eq 3.29 [9] (see appendix B7)
where (p42 eq3.30 [9] ):

—i ,
1= eazp(jww,S“ ) (2.3.7)

A
We can now show that the Dirac equation (p42 eq 3.31 [9] ):
(iv" 0y — m)Y(x) =0 (2.3.8)

is Lorentz invariant where v (x) is a Dirac spinor, a four-component field
that transforms under boost according to S¥ and under rotations according
to S%p4l | 125-26 [9] , i.e it has Lorentz transformation:

Y(x) — A%w(A_lx) (2.3.9)

We can show the Klein-Gordon equation (2.1.11) (02 + m?)y = 0 follows
from the Dirac equation (see appendix BS8) .

We now want to define a lagrangian that is Lorentz invariant . It can be
shown that :

=iy (2.3.10)

Lorentz transforms to (see appendix B9) :
EA; (2.3.11)
this implies that (p43 eq 3.34 [9] ):
L =(in"0, — m)y (2.3.12)
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is Lorentz invariant (see appendix B10) and we can show that the Euler
-Lagrange equation for ¢ implies the Dirac equation (see appendix B11).

We consider some of the forms of the solution for the free theory.
As 1 satisfies the klein-gordon equation we know that 1 can be written

as a linear combination of plane waves u(p)e "P* and v(p)e'P* where

p>=m? p” > 0 and thus one can write the field as ( p54 eq 3.92 [9]):

—ipx b;TvS(p)eip'x) (2.3.13)

(aju®
271' \ /2Eﬂ Z
s are the spin states.

The rotation and boosts generators S#*” can be shown to be in block diag-
onal form (Weyl representation) (see appendix B12) and thus we can write
the Dirac spinor as( p43 eq 3.36 [9]):

Y = @;) (2.3.14)

where each block of the matrices acts on vy, or ¥ g where 1y, and g are the
left and right-handed Weyl spinors,a two component spinor that transforms
with the pauli matrices under rotations.

Defining ( p44 eq 3.41 [9]) :
r=(1,8)c"=(I,—-7) (2.3.15)

one can show (see for example section 3.3 [9] ):

u(p) = (\/@9 (2.3.16)

v(p) = <_‘/\})g777) (2.3.17)

where £ is a weyl spinor. We normalise u and v with (see appendix B9):

u"(p)u’(p) = 2md" or urT(p)us(p) = 2E50"° (2.3.18)
v"(p)vi(p) = —2md" or v’”T(p)vs(p) =2E50"" (2.3.19)
and
u'(p)v*(p) = v (p)u’(p)=0 (2.3.20)
uT(p)v*(—=p) = v"T(—p)v*(p) =0 (2.3.21)
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The spin sums give (see appendix B13 for derivation) :

Y i (p)u(p) =v.p +m (2.3.22)
and
S 0% (p)7*(p) = 7-p — m (2.3.23)
S
Defining;:
Vipu=1p (2.3.24)
and (p50 eq 3.68 [9] ):
7° = iyOyly2y3 (2.3.25)

we can show that in the weyl representation (Appendix B15):

-1 0 0 0
s=l0 Y0 (2.3.26)
0 0 01
We find our conjugate momentum to 1 is:
it (2.3.27)

The Hamiltonian of the Dirac field can then be shown to be (Appendix B15)
/di”w(—ﬁﬁ +m)y (2.3.28)

We now introduce the Majorana field defined as ( p101 115 [8]):
Yo = CyO9* (2.3.29)
where C is the charge conjugation operator( p70 eq 3.143 [9]):
Ca’pyC=0°), CV,C=ad’ (2.3.30)
it can be shown that (see appendix B16):

Pe = yp* (2.3.31)

It can also be shown that the Dirac equation implies the Majorana equation
(Appendix B17):

i = mp, (2.3.32)
This type of field can be used in the description of neutrinos but will not be
of great use to us.

31



2.4 Vector Fields

We now look at the concept of vector fields. Above we introduced an example
of this for electro-magnetism A* and its associated Lagrangian:

1
=—— FF 5 — A, J" 2.4.1
L= Py — A (2.4.1)
Using the source-less case (J=0).
We rewrite £ = —ﬁF‘“’Fw/ as :
1
L = ———(0"AY —0"A")(0,A, — 0,AL)
4po
1 v 174 12 12
= —TMO(&”A oA, —0"A"0, A, — 0" A" 0, A, + 0" A0, A,)
_ Lorara,a, — v ara,A,) (2.4.2)
210

by changing the order of variables on two of the terms.

We seperate out the time and space co-ordinates to get :

-1

L = 5 (OA0A —PA0A + 0 MOy — O 0o i + ' A0; A — & A0 A
-1, . _
Considering :

VAV A; — 24;V, Ay (2.4.4)
We can integrate by parts to get
A;ViVA; — 2V A Ay (2.4.5)

assuming the field components vanish at the boundaries. By choosing
the gauge :

V;A; =0 (2.4.6)
This expression vanishes and we get :
-1 . .
L= E(AiAi — VZ‘A]‘VZ‘A]' + Vz‘Aon‘Ao) (2.4.7)
0

which has no propagation term for the Ay components and is essentially
the scalar lagrangian upto a constant with mass equal to zero for the other
Als (If any mass terms did exist they would by analogue with the scalar
field of the form %mzA? since scalar fields have a mass term —%mquZ (2.2.1)
and there is arelative minus sign between the propagation terms of the two
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lagrangians)

Using an analogue with our scalar case (section 2.1 and 2.2) we can rewrite
A, (x) as (p336 eq 55.1 [5]) :

d3p 1 & r.r —ip.x T r* ip.T
A“(a:):/ Zaﬁeu(p)e p- —i—aﬁTeM (p)e** (2.4.8)

where €, (p) are the polarisation 4-vectors and r labels the basis of these vec-

tors and thus there are as many as there are space-dimensions. We define

) (p) = 0 So we can safely ignore the A° terms.

We can in analogue to the scalar case define creation and annihilation opera-
tors for each A; and for each A; we find the canonically conjugate momentum

I = — = A (2.4.9)
5A;

As demonstrated above A, () is gauge invariant a property that will be
important for vector fields as we will see below.

Bosonic particles (particles with integer spin) can be represented by vec-
tor fields. The carriers of each fundamental force are represented by gauge
bosons, here we only consider electro-week interactions and ignore the glu-
ons associated with the strong force.

The two types of vector fields we are interested in are those associated
with electromagnetism and those associated with weak interactions. A, (z)
is associated with the U(1) symmetry group and the three fields associated
with the SU(2) symmetry group Bj(x) . The group SU(3) is the extra group
we need for strong force interactions but we will not consider it here.

The number of vector fields required for each symmetry group corresponds
to the number of infinitesimal generators required for that group, we will
enlarge on this later. As discussed above the U(1) symmetry group has one
generator and the SU(2) symmetry group which has 3 generators (see also
above) and thus the SU(2) group has three vector fields. The SU(3) group
has 8 generators corresponding to the eight vector fields used to describe
the gluons but we will not discuss that further here.

For the lagrangian terms of the form m2Ai(x) correspond to mass terms
(kinetic energy like terms) the extra minus sign that we would see by com-
parison to the normal scalar field comes from the relative minus sign between
spatial and time co-ordinates, since normal mass terms come from the spa-
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tial co-ordinate.

2.5 Summary

In this section we have introduced the field types we will need to consider
the Higgs mechanism. We have tried to give for each type the free-field
lagrangian and free-field solutions. We will consider these fields again when
we consider the interacting case.
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Chapter 3

Different Formulations of
Quantum Field Theory

3.1 Canonical Quantisation

Although we have already used some of the concepts of canonical quantisa-
tion, however we now give a more detailed summary to ensure clarity. The
basic idea behind canonical quantisation is to use a set of relations relating
classical and quantum representations of the same quantity to derive quan-
tum field theory results from known classical results.

We define the canonically conjugate momentum to a field ¢(z) by:

55

=5 (3.1.1)

m(x)
by analogue with the classical case

For this process we use the Poisson bracket as defined above with p and
q momentum and position respectively. Dirac postulated that given these
classical relations we can replace the poison bracket of two quantities with
the commutator (for bosons) or anti-commutator (for fermions) of their op-
erators at equal times and multiply by ¢h.

Defining the position and conjugate momentum fields in this way allows
us to derive the relation between creation ' and annihilation & operators
for fields. These commutation relations between creation and annihilation
operators make it much easier to commute vacuum expectaton values a
property which will become important later. An example of this with the
scalar fields was given earlier.

Care is needed to apply canonical quantisation in the case of the Dirac spinor
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and Majorana fields. Using the appropriate anti-commutator relation ( as
we are representing fermions) :

{a(@, 1), 7(F. 1)} = 1056°(7 — 7) (3.1.2)

ignoring factors of A.
The conjugate momentum of the dirac field is:

it (3.1.3)

This leads to for the Dirac field (p237 eq 37.14 [5] ):

and for the majorana field (p237 eq 37.21 [5]):

by using the definition of the conjugate momentum. We also gain for the
majorana fields (p237 eq 37.22 [5]) (see appendix C1):

{\I/a('ﬁt)? qjﬁ(ﬁ? t)} = (070>a553(f_ ¥) (3'1'6)

3.2 Path Integral Formalisation

Another way of describing quantum mechanics is to use the path integral
formalism. Although this is theoretically equivalent to the formalism found
by using canonical quantisation (see p275 15-7 [9] ) there are many results
that are easier to derive in one formalism then another, thus for the sake of
convenience we here introduce this second formalism.

The idea behind the path integral is that a particle traveling between two
points can be considered to travel along any path between the two points
with a given probability for each path .Hence the amplitude to propagate
between these two points is the sum over all these paths.

The propagator from vacuum to vacuum can be considered as equivalent
to a given path integral. By analogue with the discrete case where we would
sum over paths, we integrate over all fields (only scalar fields considered)
ie.

/ngeésw};fd‘*mﬂ@? (3.2.1)

the € term means that if ¢ does not go to zero at the boundaries the integral
is still suppressed and thus we can calculate it.
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To justify the exponential dependence on S we first discuss the classical
case for a discrete number of paths the above amplitude is given by :

> X (3.2.2)

all pathsX (7)

where 6 is the phase for the path X (7) this expression means that we end
up assigning an amplitude square of | ei9(7) |2 to each path which can be
considered as a probability as it is always between one and zero and is chosen
for each path . Generally the larger contributions to this sum come from the
stationary phase, in the classical limit only one path will contribute, which
will thus be stationary hence ( p30 eq 4.5 [7] ):

5
sx( XD =0 (3.2.3)

The classical path is also described by the principle of least action hence:

(S[X(r)]) =0 (3.2.4)

for a path dependent action.
We know that classical physics is the i — 0 limit of quantum physics. Thus
by identifying:
1
0[X (1) = %S[X(T)] (3.2.5)

we get an agreement that becomes better and better as we reach the classical
limit. Hence the exponent in the sum becomes:

e I Ldr (3.2.6)

where L is the lagrangian and X (7;) is the start of the path and X(7y) is
the end of the path and 7 runs along the path.

Ignoring the € term we can add in a source term that allows us to write
terms of the form:

/ Dg(1)p(ar2) kS (3.27)

in terms of functional derivatives of the path integral (the importance of
these terms will become clear later) .
The expression we want is then:

AU / DgeiSt[ 461 (@) (3.2.8)

thus Z[J = 0] = (0 | 0) vacuum to vacuum propagator.
Hence for example:

/D¢¢($1)¢($2)6,§S[¢] _ 1 5 5

77157 57

)Z1J] =0 (3.2.9)
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For the free scalar field we define:
ZolJ] = /D¢¢(331)¢(1‘2)€;fd4xé¢(82_m2+ie)¢+?‘]¢ (3.2.10)

restoring the € and the Klein-Gordan equation [?].
We identify Gp(z — y) as the green function of the Klein-Gordan equation
ie. :

(02— m? + i) Gr(z — ) = ?54@—,@) (3.2.11)

and using the parameter shift :
$(x) = dlx) + /d4yGF(x —y)J(y) (3.2.12)

we obtain:

ZolJ] = / Déer a3 3@ —m2rid]+ [ d'ad'y) (0Cr@—)I()  (3913)

which simplifies to:
ZolJ] = Zo[J = 0] x ez [ d'zd'v](@)Cr(z—y)I () (3.2.14)

using the definition of Zy[J = 0]. The use of this form will become clear
later , we are also able to remove the ¢ dependence by division by Zy[J = 0]

3.3 Summary

In this section we have clarified the techniques of canonical quantisation and
path integrals. These are two useful formalism for describing quantum field
theory and we will make use of both forms later, primarily following the
technique of canonical quantisation
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Chapter 4

Interacting Theory

4.1 Perturbation Theory

(This chapter follows from Chapter 4 of Peskin and Schroeder)

We have introduced the basic fields and some of the Lagrangians. We will
now add in self-interacting terms, we want the action to be dimensionless ( a
definite requirement of the path integral formalism since the action appears
in the exponent) using our discussion on the d%z we know its dimension is
-4 so our lagrangian density has dimension 4. We know that we have the
correct dimension lagrangian density for the scalar fields, the spinor fields
and the vector fields. The m?$? has dimension 4 so ¢ has dimension 1 as we
are working in dimensions of mass. The dirac lagrangian has a term ma)
so 1) has dimension % . The vector lagrangain has a term like | 9, A" |2
since 0, (see above) has dimension 1 this means A* has dimension 1 . We
will discuss renormalisation later for now we will just state that our constant
must have positive dimension. This means there are only a finite number
of interaction terms we need to consider for the three types of field. Clearly
we can’t have an self- interaction of the dirac spinors higher then 1) as this
already dimension 3 and adding another ¢ makes it dimension 4.5 which is
not allowed. Since the differential 1) term has order dimension % it can’t in-
teract with terms of higher dimension then a spinor. The scalar and vector
derivative terms have order 2 so we can have at most two of them inter-
acting together, the scalars and vectors themselves have dimension one so
we can have at most four of them interacting together. We assume only
positive integer powers of the fields are allowed (by analogue with Taylor
expansions) and we can recombine any lower order terms into our already
existing quadratic terms for dirac spinors and scalar fields up to a constant ,
i.e. we can remove linear terms for these fields by changing the variables to
absorb them into the quadratic term (compare the technique of completing
the square). The condition of Lorentz invariance allows us to place even
more restrictions on the allowable interactions.
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Despite this massive simplification there are still very few lagrangians that
we can solve exactly, we therefore consider lagrangians with small coupling
constants which we can then expand around the free solution that we know
exactly (small perturbations hence perturbation theory).We can thus assume
that:

H = Hy+ Hjp (4.1.1)

where Hjy is the non-interacting hamiltonian and H;,; is the interacting
hamiltonian

4.2 Correlators

To demonstrate the idea behind perturbation theory we will consider the
two-point correlator for the scalar field, the analysis will follow similarly for
other fields. The use of the two-point correlator in measurable quantities
will discussed later. The two-point correlator for the scalar field is given by:

Q| Te(x)o(y) | Q) (4.2.1)

where (Q | represents the ground state of the theory in the case of interac-
tions ( the perturbed vacuum ).
Using the definition of the Heisenberg field we obtain ( p30 eq 4.8 [7] ):

o(t, ) = 1) g4y, 7) et (= 0) (4.2.2)
we will use the free field:
do(t,) = o1 (1, 7)H(Holt=t0) (4.23)

and then find that:

Qb(t, l—:) — eiH(t_tO)e_iHO(t_t0)¢0(t, :Z:)eiHo(t—t())e—iH(t—to) (424)

we define :
U(t, tg) = e'foli=to)gmif(i=to) (4.2.5)

We define:
Hy(t) = etHolt=to) o= tHo(t—to) (4.2.6)

Thus :

i%U(t,to) = eHo(t=t0) (F] — Fy)e~#H(=t0) — FT, (¢, 1)U (L, t0)  (4.2.7)

by inserting the identity :
I = e tHolt=to) gito(i~to) (4.2.8)
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We thus postulate a relationship that can be shown retrospectively:

Ut ty) = T(eap[—i /t dt' Hy (1)) (4.2.9)
and thus generally:
Ul(t,t) :T(exp[—i/t/ dt" Hr(t")]) (4.2.10)

We now consider the state (€2 | by assuming (0 | ©2) # 0:
e T 10) = e BT 1N [ 0) + ) e T | n)(n|0) (4.2.11)
n#0

where Eg = (Q | H | Q) (Hp|0)=0)

by expanding in the basis of the eigenstates of E (| n)) .

As E, > FEy if we let T tend to infinity with a slight imaginary component
i.e T — oo(1 — i€) then the e~**0T" dominates as the other terms die faster.
Thus we get a limiting expresion for | ) i.e.:

Q)= lim (e BoT(Q|0)) e T | 0) (4.2.12)

T—o0(1—1€)

Since T is close to infinity we can alter the exponentials by a small amount
to , also since:
Hy|0)=0 (4.2.13)

which implies using the taylor expansion of the exponential :
e®Ho | 0) =| 0) (4.2.14)
inserting this into our expression and using the definition of U above gives:

Q)= lim (e "Boto=(=T)qy | 0)) " U (tg, —T) | 0) (4.2.15)

T—o00(1—ic)
similarly (p87 eq 4.29 [9] ):

W= Tagﬁfie)w | U(T, to) (e Folto= (=T | )~ (4.2.16)

We can now find an overall expression for the two-point correlator, by as-
suming z° > y" > ¢y we get we find using our definitions of (Q | and ¢o(x)
we find:

Q| @)y) | Q) = lim (e PT=0)(0 ] 2))!x

T—o00(1—i€)
(0| U(T, to)U (2, t0) o (2)U (2°,t0) U (4, to) "o (y)U (4°, t0) U (to, =T) | 0)
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x (e~ Hoto=(=T))() | 0))~* (4.2.17)
which by rearrangement and the relations (see Appendix D1):
Ul(t1,t2)U(te,t3) = U(t1,t3) (4.2.18)
and
Ult1,t3)U (Lo, t3)! = Ulty,t3) (4.2.19)

simplifies to:

lim (77T (0] Q) [1)710 | U(T,2°)o(2)U (", y*)do(y)U(y°, =T) | 0)
T—o0(1—1e)
dividing through by:
Q] Q) =
lim (e 2E0T 1 (0| Q) |*)"0 | U(T,to)U(to,~T) | 0)  (4.2.20)
T—o00(1—i€)
which is equal to one.
Thus:
Q] o(x)o(y) | ©2) =
L 01U 20)60(2)U (0, 50)b0(m)U (4, ~T) | 0)
T—o0(1—ie) <0 ’ U(T, —T) ’ O>
This is a time ordered expression and so by using our exponential formula
for U

(4.2.21)

O T(p(x)e(y)) | €2) =

- (0| T(go(x)do(y)exp[—i [T dLH (t)]) | O)
T—00(1—ie) (0| T(eap[—i [T, dtH(t)]) | 0)

(4.2.22)

The derivation has not relied on the number of fields or any property of
the fields expect the relation between their Schrodinger and Heisenberg ex-
pressions, we can insert any number of fields on the left and gain the same
number of free fields ¢g’s in the numerator on the right . The specific advan-
tage of this function is if Hy is small i.e it depends on a coupling constant
that is small we can taylor expand the exponential in terms of this coupling
constant to give an expression for the two-point correlator in the perturbed
theory in terms of the two-point correlator for the free field going to arbi-
trary accuracy by taking more terms of the expansion.

Providing we have the correct n-point correlator on the left for any other

type of field we expect we can use this expression to give a similar expression
on the right
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4.3 Contractions

The advantage of the free field two-point correlator is it can be expressed
in a relatively simple way. We split our free field into an annihilation and
creation part i.e.:

¢o(x) = ¢ (x) + 65" () (4.3.1)

where:

(0] 65" =0,05"0)=0 (4.3.2)

This means:

¢o(x)do(y) = o7 (2)" (y) + &7 (2)0™ (y) + ™" (2)d” (y)
+ 0"(@)0™ (y) (4.3.3)

We want normal ordering where creation operators are on the left of anni-
hilation operators :

¢o(x)do(y) = o7 (x)6" (y) + ¢7 ()™ () + ¢7 ()™ (y)
+ 0"(@)0™ (y) + 96" (2), ¢5" ()] (4.3.4)

This is :
N(do(z)do(y)) + [66" (2), 65 ()] (4.3.5)

where N is normal ordering, since the first four terms before the commutator
are the same if y and x are exchange, the time-ordered form of these terms
is the same for these terms. We define the contraction of ¢ as the time
ordered form of the commutator of the creation and annihilation fields als
equivalent to the Feynman propagator p33 eq 4.24 [7] :

Dp(r —y) = %M(y) = {Pgigg;i’ggﬂ ﬁg z zg (4.3.6)
We let:
N (o()0(y)) = do(z)do(y) (4.3.7)

recalling the commutator relation between annihilation and creation opera-
tors in the scalar field. We find that :

1

T(¢o(w)po(y)) = N(po(x)do(y) + Po(x)do(y)) (4.3.8)

since N puts annihilation operators on the right and creation operators on
the left for n-fields :

(0| N(¢o(w1)¢o(x2)..-00(zr)) [ 0) =0 (4.3.9)
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and thus :

(0 ] T(d0(x)d0()) | 0) = (0| o(z)d0(x)) | 0) (4.3.10)

we want to extend this concept to correlators of n-fields. Wick’s theorem (
proved in the Appendix D2) generalises this so that :

T (¢o(x1)do(x2)...00(xn)) = N(do(z1)po(x2)...¢0(xy)+all possible contractions)
(4.3.11)
to demonstrate this we will do the time-ordered product of four-fields i.e. :

T (¢o(z1)¢o(w2)do(z3)P0(74)) = N(Po(71)do(w2)Po(3)P0(T4)

+  do(x1)do(z2)do(x3)P0(z4) + Po(21)P0(T2)Po(23)Po(24)

+ ¢0([3U1)¢0($2)¢0($3)¢0(‘964) + ¢o(w1)do(w2)do(w3)do(74)

[ 1 [ 1

+ do(x1)do(z2)do(23)P0(z4) + Po(21)P0(T2)Po(23)Po(74)

——1

—— ]
4+ po(x1)do(x2)d0(x3)P0(w4) + Po(w1)Po(w2)do(23)do(24)) (4.3.12)

Taking the contractions through the normal ordering symbol , we get one
normal ordered product of four fields, six terms involving a contraction
and a normal ordered product of two fields and three terms involving just
contractions. For any normal ordered product of two fields the annihilation
operators are on the right and creation fields on the right this means if we
take the vacuum expectation value, i.e. take (0 | on the right and | 0) on
the left, we gain 0 by the definition of our creation and annihilation fields.
This means our four-point correlator only has the terms dependent only on
the contractions i.e. :

(O] T(o(x1)d0(22)d0(x3)d0(z4)) | 0) = (0| do(z1)do(w2)do(w3)o(4)

{ \ { \ —
+  do(z1)do(z2)do(x3)do(4) + do(w1)Po(w2)do(w3)P0(x4) | 0) (4.3.13)
In terms of Feynman propagators this becomes:

Dp(z1 — 22)Dp(x3 —x4) + Dp(21 — 23)Dp(72 — 24)
+ Dp(m'l — x4)DF(x2 — .%'3) (4.3.14)

This concept generalises to n fields therefore we can see that the only terms
that come out in our correlator are the terms where all the fields are con-
tracted all other terms going to zero. This means we can ignore correlators
with odd numbers of fields as these will not all contract and that even fields
will have (n-1)!! terms made up of the product of § Feynman propagators
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where each product has the field co-ordinates occurring only once in the
propagator

4.4 LSZ formula

We now introduce the LSZ formula. This is a way of relating probabili-
ties for particles created in the far past going to particles in the far future
given in terms of the correlators discussed above. For generality we will try
to discuss all three types of field together, since the method is similar for
all three fields we concentrate on the details for the scalar field and only
highlight the results for the other two field types, consigning the specifics
to the appendices. For the scalar field we defined (see Appendix D3 for the
equivalence to our previous definition (B.3)):
1

a(k) = i d%memb_&b@(m) (4.4.1)

for the free theory, where :
| k) = af (k)| o) (4.4.2)
and
a(k)0)=0 (4.4.3)

By analogue we define a time-independent operator which creates a particle
which is localised in momentum-space around ki:

al = / gy (k)al (k) (4.4.4)

= _(E_EI)Z
where g1(k) o< e 42 is a gaussian function which localises the wave-
packet ( o is the width in momentum space ) . If we assume this works

similarly for interacting theory in the far-past and far-future, then defining:

- 1 e
a () = /dgxgl(k:)(—i) d3x\/277keﬂm o po(x) (4.4.5)
For n particles created with initial momentum El, Eg, . En our initial state
is :
)= lim_ al(t)ad(t)....al (t) ] 0) (4.4.6)

We finish with n’ particles with momentum Ei, E’2, ey l;:‘v’@ the final state is :
| ) = lim a,(t)al, (1)....al, (1) | 0) (4.4.7)
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Hence our scattering amplitude is:
(f 1) = (0| ayr(00)ag (00)....an (00)al (—o0)ab(—00)...af,(—o0) | 0) (4.4.8)

as the operators are already time-ordered we can insert the time-ordering
symbol and write :

(f 1) = (0| T(ar(00)az (00)....an (00)a] (—00)ab(—00)...a},(~o0)) | 0)

We can show that( see Appendix D4):

al(—o00) = al(c0) +i / kg () /d4xe_ikx(82 +m?)¢(x) (4.4.10)

and:
1
V2w

by substituting these into our expression we realise that the time ordering
symbol now moves the annihilation operators to the left where they annihi-
late the vacuum and thus are not counted. We also localise the particle by
letting o — 0 thus g1 (k) — 6(k — k1). We are then left with

ai(—o0) = aj(00) — i/d?’kgl(E) d*x e (02 + mH)p(x) (4.4.11)

(fliy = "t / dize®® (92 4 m?)..... / d*zpe”®T (02, + m?)

X {0 T($(x1)..c(@})....) | O)

(4.4.12)

Defining (see Appendix for equivalence to previous definition (B.3)) :

7 . 1 ike?
b(k)=1 d?’x\/TTke k9o qﬁg(ﬂv) (4.4.13)

for the free theory.

We now consider the dirac field using the definition in terms of a% and
b3 we find ( see Appendix D5).:

dBx
s — | L wrys 4.4.14
iy [ S i) (14.14)
which by transposing gives:
s dg‘r —ipx, ] s
af = / T () (7) (4.4.15)
We also have:
s dgm —ipT =S 07
by = e PP (P)y () (4.4.16)



and its transpose:
d3
bl = et 4.4.17
i [ =it (4417

These two creation operators then act on the vacuum to produce particles
and their anti-particles i.e.:

| p.s,+) =a3 | 0) (4.4.18)
|ps,+) =52 0) (4.4.19)

By analogue with above we define a:

af = / d*pgr(7)a (4.4.20)

which creates a particle with spin s, charge + localised in momentum space
—(P—p1)

near p; where g1 (p) o< e 402 which is a gaussian-like function that localises

the wave-packet. Our initial state for n particles is then :

| ) = lim a} (t)al(t)....al,(t) | 0) (4.4.21)
and our final state for n’ particles is:
| £) = Jim a},(t)al (1)-...al, (1) | 0) (4.4.22)

We then find by a similar method that (see Appendix D6) :

a}(—o00) = af(o0) + /d3p () (i ﬁ+m) —IT(4.4.23)

conjugate transposing gives :

41‘
a(o0) =ar(=o0) i [ @pon(p) [ Ecmu—i Pt mpula) (1420

We can also see that (see Appendix D7) :

4x
bl (00) = bl (—o00) — i / d*pg1 (p) / jﬂ e PTTY(—i P+ m)y(x) (4.4.25)

and conjugate transposing:

by (—o0) = b1 (o0 )+z/d3pgl ﬁ)/ F (1,29 —i—m)vpﬁm (4.4.26)

Our initial state will be given as the vacuum state | 0) acted on by bJ{(—oo)
for every anti-particle and a aJ{ for every particle and our final state in terms
of the vacuum state (0 | acting on b;(co) for every anti-particle and a a; for
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every particle. Thus our required quantity (f | 7) is time ordered, as before
replacing the a’s and b’s with the formulas we have found for them with
the help of the time-ordering eliminates explicit a and b dependence due
to terms annihilating or being annihilated by the vacuum.We then gain the
prescription that within the vacuum expectation, i.e. acted on from the left
by (0 | and from the right by | 0) , where in terms are at —oo, out terms at oo:

4
0, \;l%( 2)(iD + m)uge”i#* (4.4.27)
d4
s & 1 [ p i) (1)
d*z
b?m - _Z/m ey ;( i O+ m)p(x) (4.4.29)
[ d*z «— .
Dot P(x)(i 0 +m)vge®” (4.4.30)

Pout \/W

This applies similarly for majorana fields. We will clarify this idea when we
do calculations later

From our calculations above showing the link between the spatial compo-
nents of a vector field and the scalar field and assuming two polarisation
states ( + and - ), we have :

Y _ d3k — N ikx - o, —ikx
A(a:)—;[(%)g m[ew(zf)e + &yay(k)e 2] (4.4.31)

where the & ’s are the polarisation vectors and k0 = w =| k |.
Thus we get very similar result as the scalar case:

a(F) = e, \‘jﬁ e 90 Alz) (4.4.32)
3
al (k) = —i&(k). dx —lkwa A(x) (4.4.33)

If we define eg(E) =0 we get:

- - Br .
ax(k) = ik (k). Ee’kz 0o Apu(x)
3 .
a:r\(k;) = —ie)'(k) ¢’z eilkmggAu(x) (4.4.34)

V2w

By analogue with the scalar case and defining a;(z)zn as the operator that
creates a photon in the A polarisation at —oo and a A(E)Out as the operator
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that creates a photon in the A polarisation at co we get:

- d*z

al(K)in — —ieh™ (k) Eeikwamu(m (4.4.35)
4 .
xFowt = i (®) [ L2, () (4.4.36)

Vaw

The process of contractions and the LSZ formula means that for we can write
its general interacting field correlator in terms of its two-point correlator in
the free-field theory. Hence we now derive a more mathematically succinct
expression for the two-point corelator. We can show that ( see Appendix
D8 ):

(0 T(¢o(z)gh(x)) [ 0) = Gp(z,2))

i ' d*k e~ thu(z —z)k (4437
= lim(= )/ (2m)3 Zk ki +m? —te )

which is nicely in momentum space:
B —ih
— —kykt 4+ m?2 — e

Gr (4.4.38)
for a scalar field.
For fields given by Dirac spinor we want a similar propagator:

(0] Ta(@)ds(y) | 0) (4.4.39)

We define the time-ordering symbol acting on Fermion fields to pick up an
extra minus sign for each interchange of fields required to take it from the
original order to the time order pl16 12-3 [9] .We define this to be true
for Normal ordering p116 17 [9] as well therefore Wick’s theorem remains
the same, but the expression for the free-field correlator in terms of Dirac
propagators picks up an extra minus sign for each pair of fields 1.

Trpa(@)P5(y) = 0(2° — ¥ )ha(@)Ps(y) — 0(y° — 2)s(y)tbalz) (4.4.40)

we can then find the Dirac propagator as (see Appendix D9) :

d'p i(p+m) e
Sp(x—y):/(27r)4p2_m2+i€e p{e=) (4.4.41)

or in momentum space as:

i(p+m)
— 4.4.42
p% —m? + ie ( )
The propagator for gauge fields :
(0| TA (z)A7 | 0) (4.4.43)
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is given by an analogous calculation as for the complex scalar field and thus
we obtain (see Appendix D10):

O dth M
A==+
and in momentum sSpace:
—ih—s—— > ex(k)e\ (k) (4.4.45)

By defining the two-point correlator of the time-part of the four vector ( A°

) as the source of the coulomb potential:

1
A%(z)A° = 4.4.4
(01 4@ A) |0) = frzmz) (4.4.46)
we can extend to :
1 1 -
AR == 4+ - B ey 4.4.4
(k) kQ + k2 _ 7;6 );t 6)\(’6)6)\([{:) ( 7)

(This non-rigorous explanation is expanded on in the appendix where we
use path integral formalism to show these results)

4.5 Feynman Diagrams and Rules

Feynman diagrams are a diagrammatic way of representing the terms in
a correlator or more generally in a state to state transition in the non-
interacting vacuum. For a given set of interaction hamiltonians we can
draw a set of Feynman diagrams consisting of lines and vertices which have
an associated set of Feynman rules. The lines are associated with a particle
propagating from one place to another and each particle type is given its own
type of line (typically dotted lines for scalar particles, wavy lines for vector
particles and filled lines for fermions and each line has a four-momentum
associated with it). The types of vertices allowed are determined by our
interaction hamiltonian e.g. if our interaction term is ¢* our only vertex
will be one where four scalar particles meet, if it is gybé ( yukawa theory )
then each vertex will be the meeting of two fermions and a scalar particle.
Feynman rules can be formulated in either momentum or position space.
Here we will give the rules associated with the propagators (lines) for our
three types of fields and some example vertices which we will choose for
their use later. There are also rules excluding what diagrams we can draw.
Generally our interaction Hamiltonian will be a sum of terms. Since our
perturbation is small H is usually considered for each interaction type as
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a small coupling constant multiplied by some product of the fields. Since
Hi only occurs in the exponential we can write e 1) 5g 5 Taylor ex-
pansion in terms of the small parameter. Thus our Feynman diagrams are
given an order in this small parameter corresponding to that term in the
Taylor expansion. The order corresponds to the number of vertices of that
type in the diagram as Hj is the term that allows the particle interactions
represented by vertices. Considering the free case if we start with particles
with momenta pj, ps... and end with a state with momenta p, pl, Then con-
sidering a given interaction the order of our coupling constant must be so
large that the total number of the fields representing that particle in the
interaction is greater then or equal to the total number of momenta we have
specified. Since there is always time-ordering in our expression we contract
off fields with momenta until we have exhausted all momenta and then we
can contract the fields with themselves only contracting fields of the same
type. The contractions of fields with momenta are represented by internal
lines and the contractions of fields with themselves are represented by lines
between vertices. Four-momentum is conserved in all our diagrams. We
need to consider H of the form A\¢?* | gypo apA, A", ey A, , . The rea-
son for considering only these will be explained later :

Finally we have the arrows representing incoming particles as discussed
above these are obtained by contracting fields with momentum states. To
get the value one applies the free field onto the momentum state which
is essentially the annihilation operator with a given eigenvalue applied to
the vacuum the commuting properties of the annihilation/creation opera-
tors and the cancelation of the normalising factor isolates the exponential (
and the spin (spinors) or polarisation (vectors) variables )in position space
and thus has the simple representation in momentum space given below (see
appendix for calculation)

for ¢ each line gives a factor of 1

for ¢ coming into a vertex (a particle) we get a factor u®(p)

for 1) coming into a vertex (a particle) we get a factor u*(p)

for 1) coming out of a vertex (a anti-particle) we get a factor v*(p)

for 1) coming out of a vertex (a anti-particle) we get a factor v*(p)

for A, into a vertex we get €,(p)

for A, out of a vertex we get €, (p)

If we start with the vacuum we can just pair up all the fields inside the vac-
uum expectation and no longer worry about particles coming into vertices
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4-scalar Vertex ) Fermion-Fermion-Scalar Vertex

— < — :——iag/“’ = —ie’y“

Vector-Vector Vertex Fermion-Fermion-Vector Vertex

Figure 4.5.1: Above are given the four-vertices required. In momentum-space
we associate with each of these a coefficient. In all but one of the cases this is
simple since the number of vertices is the same as the order of the expansion and
the expansion is in (-i) times the coupling constant we just associate (-1) times the
coupling constant with the vertex in the case of two fermion’s interacting with a
vector field we require a y* for each vertex to make the quantity scalar and so we
associate this with each vertex as well as (-i) times the coupling constant . We
also require the standard metric to convert the p vector to the v vector in the
vector-vector scalar vertex

a k p
i _ —igu = i)
qz—mi—o—ie k2+ie p2_mi+iﬁ

Figure 4.5.2: Above are shown the propagators for each type of particle . These are
the lines that pass between two vertices they have associated values in momentum-

. y + 3 —1 v .
space for ¢ = ﬁi“f , for ¢ = p;ﬁi‘ngﬁié and for A, = 739 (Shown in the
Appendix D10)

In general our rules will be something like

1.Associate a line of the correct type with each particle that is incoming or
outgoing

2. Assign an arrow to each line to denote whether it is in-going or out-going
3. Put in the number of vertices equivalent to the order we want

4. Join each line to a vertex
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5. Depending on the interaction Hamiltonian create enough internal lines
so that each vertex has the correct total amount of fields

6. Assign a four-momentum to each line the external lines are already given
the rest can be calculated by four-momentum conservation or are undeter-
mined

7. Assign the factors to external, internal lines and vertices as discussed
above

8. Integrate over all undetermined momentum ( i.e. one for each closed
loop)

9. Divide by the symmetry factor, i.e if there are changes of internal prop-
agators that leave the diagram unchanged

10. Summing over all the different diagrams thus produced gives the re-
quired contribution

11. We consider each possible configuration at this order

There is also a problem to do with disconnected diagrams i.e diagrams where
vertices exist that are not joined by external lines. However it can be shown
that in a free field the sum of all diagrams for a given number of particles
is the sum of all the connected diagrams in that set multiplied by the expo-
nential of the sum of the disconnected diagrams in that set (see ). Thus we
normalise away the disconnected pieces

4.6 Summary

In this section we have introduced the idea of an interacting field theory
as a perturbation on a free-field theory. We have then used the idea of
contractions and the LSZ formula to give formulations of complicated cor-
relators and particle interactions in terms of propagators. Finally we have
introduced the idea of Feynman diagrams as a diagrammatic representation
of terms in the expansion
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Chapter 5

Ward Identities and
Conserved Currents

5.1 Ward Identities

The Ward-Takahashi identity applies only to QED processes i.e. those with
(eq4.3p78[9]):
1

L=——(Fw)* + 00 p—m)yp — ey’ A, (5.1.1)
Ho

with an external photon with momentum k. If we add up the diagram using
the Feynman rules in position space and call this quantity :

M(k) = e, (k) MM (k) (5.1.2)

we get:
kyMP(Kk) =0 (5.1.3)

. For later convenience we consider 1PI (defined later) contributions to the
photon propagator and the two-photon to two-photon scattering. We show
these two diagrams below we call the photon propagator iII*”(q) and the
two-photon scattering A#*?? . We make the large assumption that neither
of these has a pole at ¢*> = 0 ( following sections 7.4 ,7.5 [9] ) for momentum
q. Thus for II considering both photons y and v we get:

qu11""(q) =0 (5.1.4)
and

11" (q) =0 (5.1.5)
Thus I is proportional to (g, — q:g”)
since g, (g™ — TF) = (¢" = #HT) = ¢" — " =0

and



sz AV
a (9" — qqg )= (¢" — qy(é2q )=¢"—¢"=0.
Our requirement for no poles means that :

" (q) = (g™ — ¢"*)I1(¢?) (5.1.6)

and thus this has no terms of order less then ¢%. Giving our momentum
labels u, v, o, p we get the conditions :

k ARYPO (k) = Kk, AMYP (k) = ke AP (R) = k,AMPP (k) =0 (5.1.7)
these each lead to a proportionality term of the form:
(g" Kk — gMokY) (5.1.8)

cycling ( clockwise with respect to the diagram) through the photons so the
coefficients change by one i.e we get:

(9"7kP — g"Pk?), (g7 k" — g7"k") and (g""k" — g" kM) (5.1.9)

Our no poles condition means that these four constants multiply a term
constant or higher power k term so that our original A has only terms k* or
above.

%AAﬂ‘.NAAAO/

Figure 5.1.1: The photon propagator is shown on the left, the two-photon scat-
tering is shown on the right

It now remains to proof the Ward identity

We consider the diagram with our photon removed and postulate there are
two ways it could join the diagram, either joining onto a line that runs from
an external point to an external point or joining onto an internal photon
loop. If we consider the photon added to an external line we can arrange the
line so that the photon travels from right to left and thus every propagator
left of the point our photon joins will gain momentum k . The contribution
to the diagram multiplied by k, is given by —iek,y* . Thus if our photon
occurs at position j our diagram has structure:

i

pj—1—m

—te v Aj
(i B

i

(———— )Nt
/f’j+1 -—m

Aj+1 l
e
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which can be written in the form :

o

i

v { o Y i Aj
bir1—m it k—m ﬁj—mh (pj_l_m)w .. (5.1.10)

sl

by writing :
F=p+k—m—(p—m) (5.1.11)

separating out the terms in the numerator and canceling .
This is true for all j , the minus sign between the two terms means that if
we do all j unique insertions and then sum over the j we get cancellation
of all terms except for the ones where we insert the photon at either of the
extreme ends. These two terms have a minus sign between them and are
both multiplied by e from the vertex, the one where the photon is inserted at
the far right (the beginning) has all momentum terms increased by k relative
to the other diagram. Using q=p’+k where p’ is the final momentum of the
fermion without the photon being inserted, we see that our original diagram
where we have ingoing momentum p and outgoing momentum ¢ should have
a term proportional to: . '
i i

Ad—m p—m
since for the photon inserting on the far right momentum is always greater
than or equal to p+k and for our photon inserted on the far left final mo-
mentum is p’ which is less then q , our contributions from the propagators
which depend on the momentum cannot correspond to this on either side
and thus the contribution must be zero

(5.1.12)

Clearly the individual j terms will be exactly the same for photons join-
ing the fermion loop if we choose an initial vertex and an order in which to
enumerate our j’s either clockwise or anti-clockwise. By direct analogue we
are only left with two terms which are products of propagators and in which
the momentum differs by k in each propagator between the two terms. The
two terms also have a relative minus sign between. Since for each loop we
are integrating over undetermined momentum for a given k we can in our
second term shift the integration variable meaning we have two terms that
are equivalent with a relative minus sign between them and thus cancel

5.2 Conserved Currents

The main result we use from conserved currents is Noether’s Theorem. This
Theorem states that for each continuous symmetry of £ we have a conserved
current j#(z). This is important as we will be using spontaneous symme-
try breaking as an integral part of the Higgs mechanism. We start with a
approximate proof of the Noether’s theorem using the scalar field and then
outline the conserved currents for the complex scalar and Dirac fields
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We consider the transformation of the field :
b — ¢+ alp(x) (5.2.1)

and decide that the field is symmetric under this transformation i.e. this is a
symmetry, if this transformation leaves the equations of motion unchanged.
This means that the action will be unchanged except for a possible surface
term and that the Lagrangian density will be unchanged except for a four-
divergence (which integrates up to this surface term) . So the Lagrangian
transforms as:

L= L+ ad,J"(x) (5.2.2)

We suggest that this can also be written:
L— L+ al(x) (5.2.3)

By varying the fields we obtain :
oL oL

aAL = ﬁ(aAqﬁ) + (5(6,@) )0, () (5.2.4)
as L is a function of ¢ and 0,,¢ only.
Using that :
oL oL oL
9] A¢) =0 A —),A 5.2.5
we can rewrite aAL as:
oL oL oL
aa“(a(am) Ap) + a[% - a“(a(am) A (5.2.6)
Our standard Euler-lagrange equations for £ give:
oL oL
— —0u(=————=)=0 5.2.7

Then equating ad,J* and aAL we find 9,j* = 0 where our conserved
current j#(x) is given as :
oL
g () = =———=Ap - T" (5.2.8)
A(9u0)

For every such continuous symmetry of the lagrangian density we have a
similar conservation law. If we choose a symmetry involving more then one
field, the derivative of the lagrangian density will now be a sum over the
fields of the derivatives of the lagrangian density for each field multiplied by
the change in that field.
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If we consider the free complex scalar field lagrangian, we can see that this
is invariant under the transformation:

b — e also ¢f — e ¥t (5.2.9)

considering ¢ and ¢! as independent fields this becomes the infinitesimal
transform :

alA¢ = iag and aA¢! = —iagh (5.2.10)
since the lagrangian is unchanged :
oL oL
= ApT+ A 5.2.11
T T 21
which is:
ail(0*¢h)g — ¢1(99)] (5.2.12)

We can also consider a infinitesimal transformation on the spacetime co-
ordinates :
at — at —at (5.2.13)

Given the dependence of £ upon z* we obtain (p19 12 [9]):
L+ a0, L =L+ a"0,(00L) (5.2.14)

where the second expression gives the change in the form 9,J" we then
define four conserved currents one for each component of v :

oL
as:
Ap = 0,0 (5.2.16)

for the v the component of a” from above.
We note that the Hamiltonian (p19 eq2.18 [9]):

H= /T00d3x (5.2.17)
and the physical momentum (pl9 eq 2.19 [9]) :

P = /TOid% (5.2.18)

We now consider the Dirac field, we obtain two possible conserved currents
by considering the transformations :

() = ep(x) and (x) — eia751/1(:1:) (5.2.19)
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where as in (2.3.25) :
70 = iyO0y1n2y3 (5.2.20)
Since the first transformation leaves the Lagrangian unchanged we expect

the current aged associated with it to be unchanged. Using the infinitesimal
form of the transformation:

Y =+ i) (5.2.21)

for the first transformation and :

P — 1+ iy’ (5.2.22)
for the second and that : Y B
IGRD) = apyH (5.2.23)
we expect our first conserved current to be of the form :
3" (@) = d(x)y"yH (5.2.24)

ignoring the constant term and it is shown in Appendix E1 that this in
fact conserved. This current will be important later. It can be shown (see
Appendix E2 ) that :

Yot = —Py* (5.2.25)

We know that (see Appendix E3) :

AP =45 (5.2.26)
and that (Appendix E4):
vy% =1 (5.2.27)
Thus : o o
P — e A0 = e (5.2.28)

using the definition of overline (2.3.10) and the commutator relation for 7> .
Hence the lagrangian is invariant in the derivative term where the y* leads
to an extra minus sign but not in the mass term, since the extra term is not
in the form of a four-divergence. By comparison with the other current we
expect :

j,uS(:E) _ E(x)'YM’YBwM (5.2.29)

we show in Appendix E5 that the divergence is :
Ouj*? (x) = 2imapyip (5.2.30)

and thus as expected the current is only conserved when m=0
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5.3 Summary

In this chapter we have introduced the idea of conserved currents and
through the use of Nother’s theorem linked this to symmetries of our la-
grangian. This will be important in our study of symmetry later. We have
also derived some examples of conserved currents for the free-scalar and
Dirac field models.

We have also introduced the idea of ward identities as a useful concept
this will be used when we discuss the renormalisation of QED.
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Chapter 6

Loops and Renormalisation

6.1 Loop Corrections

When drawing Feynman diagrams it becomes obvious that we can have
loops, i.e an internal propagators that starts and ends at the same vertex
or two or more propagators that start and end at the same vertices. This
means that their internal momentum cannot be completely determined by
the conservation of four-momentum and we introduced the prescription that
we should determine over all undetermined momementa.

- N >

/

C) e N s
N e

— > _\_‘_j_  — - -
Scalar Loop 2-Propagators

Scalar Loop

Figure 6.1.1: Here we illustrate the two simplest types of loop on the left we use
¢* theory on the right we have ¢3 theory. We illustrate here with scalar fields for
simplicity the phenomena of loops can occur for all field types

The presence of these loops will lead to a term coming from our Feynman
diagram where the propagator or propagators are integrated over the mo-
mentum. The forms of our propagator mean that each individual propagator
has in terms of momentum dimension p~2 (scalar and vector propagators)
or dimension p~! (the spinor propagator ) the momentum four integral has
dimension p* thus this integral is proportional to a positive power of p and
thus diverges

We attempt to solve this problem by introducing a large cut-off momen-

tum A which we integrate upto and specify that we don’t expect the theory
to work above p > A some suitably large energy scale
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We ideally want our results to be independent of this A .So far the param-
eters we have introduced in the Lagrangian have been artificially selected
and need loop corrections to correspond to physical observables

6.2 1PI Diagrams

One-particle irreducible (1PI) diagrams are diagrams that cannot be split
into two by removing a single line.

- N -
/ \ -

N
_ﬂ»__d_»_i_ya—_»_,——-»__. ___,__‘__,__gﬁ_.__(,»,/f_,__

~

N -
_ —_

1PI Diagran\q e Not 1PI Diagram

Figure 6.2.1: here we illustrate a 1PI diagram on the left and a one-particle
reducible diagram on the right

6.3 Renormalisation

We define a theory as renormalisable if its physically observable quantities
are independent of our cut-off scale lambda. To assess renormalisability we
introduce a parameter D corresponding to the superficial power of momen-
tum which will tell us whether a theory is superficially renormalisable or
not. We get superficially :

1
([ anhr (6.3.1)
,a =1 for fermions, 2 for vectors or scalars P is the number of propagators, L

is the number of loops D=4L-aP, clearly if D > 0 this diverges and if D < 0
it converges if D=0 we get a term like:

JdVp
pN

(6.3.2)

which diverges logarithmically. Superficially divergent diagrams may not be
divergent but we will use other methods to assess this. Superficially undi-
vergent diagrams may diverge but they will have a divergent sub-diagram.

We here cheat slightly by only assessing the renormalisability of the dia-
grams given by the QED Lagrangian (5.1.1):

L=~ 3(Fu) + T D~ mo)y — eolr Ay (6.3.3)
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the Yukawa lagrangian (see for example p79 eq4.9 [9] ):

B B~ mo)b + (D) — 5mie” — giio (6:3.4)

and the general n-dimensional interacting scalar lagrangian (similar to sec-

tion 4.4)

1 1

A
5 (Ou0)? = Gmi” — Jro” (6.3.5)

where we have denoted the non-physical quantities with the sub-script zero.
We also only consider one-loop divergences which is a more serious problem
and ignore the issues associated with divergent sub-diagrams.

Starting with the scalar-field, the superficial divergence is given by the power
of momentum in the numerator minus the power of momentum in the de-
nominator. Since the powers of momentum in the denominator come from
the propagators each of which have a momentum squared operator in the de-
nominator, the powers of momentum in the numerator come from the loops
each of which give a integral over all the dimensions. So the superficial
divergence is given by:

D =4L - 2P (6.3.6)

where 4 is the number of dimensions.
The number of loops:
L=P-V+1 (6.3.7)

where V is the number of vertices , using the fact that the number of loops
is the same as the number of undetermined momenta and each vertex de-
termines the momenta for one propagator leaving it, except for one vertex
required for overall conservation.

Since each vertex has n lines coming out, each propagator joins twice to a
vertex and each external line joins once to a vertex:

nV =N +2P (6.3.8)

N = number of external lines.
Combining these we get:

D=2P+4—4V =(n—-4)V — N +14 (6.3.9)

We see that for a given number of external lines,if n > 4 there will be a
number of vertices such that the diagram will diverge. For n < 4 choosing
enough vertices and external lines, will mean the diagrams will not diverge,
we can then enumerate these diagrams and assess whether they do actually
diverge. For the special case d=4 we have:

D=4-N (6.3.10)

63



and thus we only need to look at the diagrams with between 0 and four
external lines.

Consider all diagrams with N external legs to have the same amplitude
and remember from above that our field has dimension 1. An interaction
can be written as:

g™ (6.3.11)

with one vertex which thus picks out just n and thus has dimension 4-N or
in terms of \¢"Y where there are V vertices that each pick up a factor A and
may be divergent i.e. the term is proportional to :

AVAP (6.3.12)

re-introducing the cut-off momentum A for the divergent quantity.
If A now has dimension r this gives for the right-hand side a dimension of

rV + D (6.3.13)
and thus by comparing both sides
D+rV=4—-N (6.3.14)

hence:
D=4—7V-N (6.3.15)

Clearly for » > 0 we can pick a number of vertices such that D is always
negative and for » < 0 we can pick a number of vertices such that D > 0
this is our result that the coupling constant must have dimension greater
then one

We now define the three case, We take N to be the total number of incoming
lines not worrying about their type, as for each case we only consider one
vertex type V is a reasonable number (positive integer), this should hope-
fully be clear from the calculations:

Super-Renormalisable : There are only a finite number of Feynman dia-
grams which diverge superficially ( i.e. there are only certain values of N
and V we can pick so that D >0 )

Renormalisable: Only a finite number of amplitudes superficially diverge
(i.e. as amplitudes are defined by external lines N and not by V | there
are only certain N’s for which diagrams diverge) but there are diverging
diagrams at all orders (we get these by picking an N such that the diagram
diverges and then varying V through the orders ) i.e. D is independent of V
. It is difficult to show this is equivalent to our initial definition so we will
just show this for the special cases out-lined above

Non-Renormalisable: All diagrams diverge at sufficiently high-order in per-
turbation theory. ( i.e. for a given N we can get a divergent diagram by
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going to higher orders i.e. choose a number of Vertices such that D > 0)

In terms of the coefficients of V in D (call this y) these neatly becomes:
Super-renormaliable : y < 0

Renormalisability : y=0

Non-Renormalisable y > 0

We now consider the four superficially divergent cases for our scalar the-
ory N=0,1,2,3,4. As mentioned above the number of fields must be even
to get an amplitude so we are left with N=0,2,4. N=0 is just a vacuum
correction. So we are left with N=2 and N=4. Explicit calculation for these
terms is done in Appendix F1 for the moment we merely state that these
two terms give us three divergent terms and that we hope to absorb these
in someway by using the constants in our lagrangian.

We now need an expression for the physical mass defining :

QHZ/;“:ZQ,{; A0 (6.3.16)

where | \;) are boosts with momentum g’ of the zero-momentum eigenvalues
of H \p with energy my and the sum runs over all these states and (p212 eq
7.2 [9]):

Ez(\) = /| p? | +m3 (6.3.17)
Inserting this into the two-point correlator allows us to rewrite it as ( p213
eq 7.5 19] ):

@I Tole)ot) |9 = [ dp4zp o | 6ON P (6319

(see appendix ) . Since in the energy spectrum the mass of the particle is
isolated (if we have two or more particles we can have all energies (2m)? or
higher using their relative momentums and bound states will give us a few
states just below this energy) . Thus translating into momentum space and
setting y=0 for simplicity:

7
/d4x<Q | To(x)p(0) | Q) = m—i—( terms with poles away from p?
(6.3.19)
where Z is the value of :
| (2] 6(0) | A) [? (6.3.20)
We redefine our field to eliminate Z i.e :
b =720, (6.3.21)
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We relate our observable constants (m, A) to our terms in the lagrangian
(mo, )\0) via :

67 =2 —108m =m3Z —m?, 6\ = XZ* -\ (6.3.22)

Thus our lagrangian goes:

1 1 A
5 (Out)? — omis® — 50 (6.3.23)
%Z(@,@T)Q — %mgz¢$ — %Z%;‘: (6.3.24)
L gz Lo Aui 1 SRR

We can now define our physical parameters in terms of our two remaining
divergent diagrams. The N=2 divergent diagram has already been used to
define m . Since in this space it is :

1
7

< / Q| Tox)6(0) | Q) = ——— (6.3.26)

p2_m2

+ ( terms with poles away from p® = m?)

We choose to define A in terms of our N =4 diagram taking the case where
all particles have zero three-momentum and the same mass. The new terms
give new Feynman rules. The counter-term vertex follows by direct analogue
, the counter-term propagator is found by ....

. i(p26Z — 6m) m
Figure 6.3.1: The new Feynman propagators the ont on the left is the counterterm
propagator and has associated value i(p*>§z —d,,) , the one on the right is the normal
propagator and by analogue with before has value where m is now the
physical mass

[
p?2—mZ2+ie

It can now be seen that we have three unknown terms that do not contribute
to our physical calculations 0z d,,, d\ and at any order these can be chosen
using our definitions of m and A to cancel out the divergent sub-diagrams
that will occur (see section 10.5 [9] for an example calculation)
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—id) N_ 7 —i)\
o
S .

Figure 6.3.2: The new Feynman vertices , the one on the left is the counterterm
vertex and has associated value —idy , the one on the right is the normal vertex
—iA where \ is now the physical coupling constant. the coefficients can be found
by look at the coefficients of the two ¢ terms

We now consider the QED case. Here the superficial degree of divergence D
is calculated similarly. Again we only have one type of vertex which adds
four powers of momentum for each loop however we have two types of prop-
agators, the vector propagator which is proportional to p~2 and the fermion
propagator which is proportional to Z or p~! thus for L = number of loops

,Pr is the number of fermions and Py is the number of vector fields.
D =4L — Py — 2Py (6.3.27)

By momentum conservation each propagator of either type adds a poten-
tially undertermined momenta and each vertex imposes momentum conser-
vation, one being required for total momentum conservation. The number
of undetermined momenta is the number of loops so:

L=Pi+P,—V+1 (6.3.28)

Each external vector particle goes to a vertex and each propagator goes to
two vertices hence
V =2Py + Ny (6.3.29)

Ny are the number of external vector fields since each vertex has two
fermions attached

1
V=2 (2P; + Np) (6.3.30)

Ny is the number of external fermion fields by analogue. Substituting for L
in D we have :

D=4(P;+Py -V +1)—P; —2Py (6.3.31)
Using:
1
Py =V — §Nf (6.3.32)
1
Py = 5(‘/ — Ny) (6.3.33)
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1 1 1 1
D = 4[(V-gNj)+5(V-N)=V+1 =25V = Ny) = (V- 5Ny)
1 1
= A+ 4[5 (V =Ny = Nv)] =2V — 5Ny = Ny =4 Ny — ;N§.3.34)

Clearly now there are only a finite number of diagrams that might diverge,
there are in fact seven corresponding to:

Ny = 0 which has four Ny =0,1,2,3,4

Ny =1 which has two Ny =0,1,2

Ny = 2 which has one Ny = 0,1

the Ny =1 cases are excluded since Ny = 2V .

For convenience we show these diagrams below:

1,
o 0 0 ® O

AN, =0 Ny = AON, =2 )N, =4
— € v=
Y S dN,=3
HN, =0
v g) v:1

Figure 6.3.3: Diagrams that superficially diverge for the QED case

a) only effects the vacuum and thus we can ignore it . In the case of an odd
photon vertex e.g. b) , d) , the incoming propagators can be ignored as they
will just add a polarisation vector and thus for b) we get a term in position
space of the form :

—ie / d*ze " (Q | Ty, (x) | Q) (6.3.35)

for photon of momentum q, where (p318 eq 10.5 [9]):

J* =y (6.3.36)

see our Feynman diagram vertices. We require charge conjugation to be a
symmetry of the vacuum p318 118 [9] :

C|Q) =) (6.3.37)
We know (see Appendix F2) :

CjH(x)CT = —j*(x) (6.3.38)
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and thus:
Q] (@) | ©) = Q] CHCiL@)CTC | Q) = —(Q | ju(@) [ Q) =0 (6.3.39)

using CTC = I as C is unitary . So this term vanishes . In the three-vertex
case we get two terms like this that both vanish

We now consider g) by substituting in Ny = 1, Ny = 2 we find D=0. We can
expand in terms of the momenta of any of the propagators. The constants of
this expansion will be successively higher order derivatives with respect to
momentum of the propagator. Since both types of propagators are already
at least inversely proportional to momentum their nth constant , for n > 0
n starting at 0, will be inversely proportional to p"*lor higher and thus the
term in the expansion will be inversely proportional momentum and thus
converge. Thus only the constant term can diverge

A similar argument works on f) substituting Ny = 2, Ny = 0 we find
D=1. Expanding in the propagator gives terms inversely proportional to
momentum, this means we have one term that diverges linearly and one
that diverges logarithmically. As the terms in the taylor expansion will be
reduced by a power of p for each term and thus any terms after the first two
will converge

Nothing we have done so far is explicitly dependent on the use of vector
particles rather then scalar particles therefore this analysis applies equally
well to yukawa theory.

For the remaining two diagrams c¢) and e) we make use of ward identities
(useful the two examples we showed earlier). These allow us to exclude the
first n powers of the expansion in terms of momentum and thus lower the
divergence by N. substituting Ny = 2, Ny = 0 for ¢) we find D=2 originally
and thus the term will only diverge logarithmically 2-2 =0 and substituting
Ny =4,N; =0, D=0 for e) means the term will not diverge D=-4. Hence
we now have four divergent terms

By direct analogue with our scalar case.
The fermion interaction f) corresponds to:

Y4
pz > 4 terms with poles away from p =m (6.3.40)
—m
The vector interaction ¢) corresponds to (see section 10.1 [9]):
— 123G . 2 _
—5—— + terms with poles away from ¢° =0 (6.3.41)
q
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We define : )
= Z2, (6.3.42)

and )
AWM = 72 AP (6.3.43)

using ep p330 130 [9] as our bare coupling constant and mg as our bare mass
our lagrangian becomes:

1 _ 1_
L= _Zzg(F,fW)2 + Zoy (i B —mo)hr — e0Z2Z3 oy b Ay (6.3.44)

Defining the physical charge by :

1
€Z1 = €0Z2Z32 (6345)
with:
03 =1T3—10=27,—1 (6.3.46)
5m = ZQmo —m and 51 == Zl -1 (6347)
we gain:

1 — —_
JEE)? 4 (i = mo)ipr — ey Ary

_ iag(F#Vf T (620 — S )by — €01 AP, Ay (6.3.48)

Our four divergent terms can be cancelled off by our four delta’s

Following figure 10.4 [9] we simply quote the Feynman rules for QED with
counter-terms the normal propagators, normal and counter-term vertex are
obviously seen by analogue with our original case:

VAVVVVAV

— p

q .
Vector propagator Fermion propagator

’\/\/\/\/\®’\/\/\/\/ u — :}——*‘
Fermion Counter-term
Vector Counter-term Propagator

Propagator

v

Figure 6.3.4: We associate with the fermion-propagator the factor T with the

)
—m
—9uv

vector-propagator in the Feynman gauge as with the counter-term fermion-

q2+ie
propagator i( pda — 6,,) , and with the counter-term vector-propagator —i(gh"q? —

q"q")03
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—ieyt —ieyH s,
Vertex Counter-term Vertex

Figure 6.3.5: We associate with the normal vertex —iey* and with the counter-
term vertex —iey*d;

By comparison with both QED and scalar fields we see that in Yukawa
theory we get five delta’s our extra one relative to QED coming from the
mass of the scalar field. The two diagrams corresponding to ¢) and e) pick
up an extra divergence from the location of the mass of the scalar field which
we can cancel away with our extra delta

This section in no-way is a full treatment of Renormalisation, but is merely
included to highlight the issue and the property of the theories that we will
be using that they are renormalisable and we can thus get physical quantities
that are non-divergent

6.4 The Quantum Action

We now define the idea of the quantum or effective action, it is analogous
to the Gibbs free energy in magnetic system p366 121-22 [9], this is useful
as there are symmetries in magnetic systems that are often broken by the
system being magnetised in a given way. Using our path integral formalism
we have in scalar field theory:

Z[J] = eE] — /D¢eifd4$£[¢]+J¢ (6.4.1)

where J is a source term .

0 o 1.9

57 PV = 59 = s ?
B fD¢eifd4x£[¢}+J¢¢(x)
= — Do TFtTIs (6.4.2)
We can write this as (p366 eql1.45 [9]) :
)
WE[J] =—(Q] o) | Q) (6.4.3)

which is the vacuum expectation value of the field in the presence of the
source J(x) .
We define :

¢a(z) = (2] ¢(z) | Q)s (6.4.4)
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Now we can define the effective action as (p366 eql11.47 [9] ):

Nigal = ~EU) - [ d'yIw)sa(v (6.4.5)
We can show that ( see Appendix F3) :
)
mr[écl] = —J(x) (6.4.6)
and thus without sources :
)
5o (x)r[qécz] =0 (6.4.7)

6.5 Summary
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Chapter 7

The Path to the Higgs
mechanism

7.1 Spontaneous Symmetry Breaking

Spontaneous Symmetry Breaking is an interesting physical phenomena, that
appears in both the classical and quantum world. A classical example of
where it occurs is in a magnetic system where the aligning of magnetic
fields generates a field with a preferred direction. Generally we get sponta-
neous symmetry breaking when we violate symmetries of the lagrangian

For later convenience we consider the Lagrangian of the complex scalar field
with (¢¢)? coupling :

L= % p$0" ¢ — %m%w - gw )? (7.1.1)
and specify that m? < 0 i.e. Ju? = —m? p € R
1 1 A
L= 50,00"9" + S Poo" — 2 (00")? (7.1.2)

This lagrangian is clearly unchanged under the substitution :

p——¢ (¢f =—¢) (7.1.3)

Using the definition of H (2.1.13) :
H= / dBz[re — L) (7.1.4)

where 7 is the conjugate momentum in this case m = ot writing :

Dup0t¢t = ¢ — 9;00;0" =| 7 > — | Vo |? (7.1.5)
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We get:

1 1 1 A
H= /d3x[2 |7 P45 | Vo [P —5uPs! + S (00")?

(7.1.6)

since | 7 [2,| V¢ |*>> 0 V¢, 7 to minimise the hamiltonian and thus energy

we need to minimise :

1 A
V(9) = —5uee’ + 7 (001)”
i.e. we need to find:
e _,
0

This gives :

5126+ (60Nt =0
which factorises to :

o 5u2 + 5001 =0

which implies ¢T = 0 or ¢p¢! = “7\2

82V(¢)_)‘ N2 _ t_
writing :
¢ =¢1+ig2
and using:
12
o0f = o + 85 =
Rel(61)’] = Re[6} + 3 — 2i6162] = -

SO

2
t_
¢¢—A

is a minima

We choose our minima to lie in the real direction i.e. :

¢ = ¢} + v+ iy

where:

e
L

A

vacuum expectation value and ¢/, ¢, have minimum value zero

(7.1.7)

(7.1.8)

(7.1.9)

(7.1.10)

(7.1.11)

(7.1.12)

(7.1.13)

(7.1.14)

(7.1.15)

(7.1.16)

(7.1.17)

This choice of v breaks the symmetry of the problem and is equivalent to
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choosing a unique minima
We now simplify slightly by introducing:

¢ (91 +v+igh)

and thus our original Lagrangian becomes:
L= 9,00"0" + ;200" — \(dDT)? (7.1.19)
since v is constant :
1 1
89, Por 0t = 58@’18%’1* + 58@’28%’2* (7.1.20)
@ph) — GiHvHis)((@+v—idh) _ (9] +v)7+ey’
2 2
12 / 2 12
2
_ At Wl; v+ ¢ (7.1.21)
12 / 2 12
(®21)? = [¢1 - 21@1; v 9% 12 (7.1.22)
¢!+ 40’ + 20204 + 2020, + 4029 % + 40P¢) + dug b’ + vt + 202¢> + G
substituting and using v = 4/ “72 we find (see Appendix G1) :
1
£=3 A 8“¢28"¢ + 5 — 12, (7.1.24)

If we ignore higher then quadratic powers of the fields ( i.e. interaction-
terms) . This can be seen to be the sum of the a complex scalar field ¢
with zero -mass and a complex scalar field ¢; with mass m? = 2u? as mass
for a field £ are of the form:

1
—§m2§2 (7.1.25)
In our full Lagrangian:
4 )\ 74 1
L= L0.00%] + Soum0rol+ 1 20 - 20 ai g
/ 2 72 14
— Arpg)? le% - Mff (7.1.26)

Our original symmetry ¢1 — —@1, 2 — —¢p2 is no longer evident
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Figure 7.1.1: [10] An illustration of the Potential used. As calculated in the text
there is a maximum on the axis and the set of minimas form a circle round the axis
choosing one of these minima as the unique minima, breaks the symmetry.

7.2 The Goldstone’s Boson and Goldstone’s The-
orem

Simply stated Goldstone’s theorem states that every spontaneously broken
symmetry leads to a massless Boson known as a a Goldstone Boson. As
will be observed later these Bosons are not seen when considering the Higgs
Mechanism, they are taken to be eaten by the other Bosons (more later).
Thus here we prove Goldstone’s theroem before showing why it can be dis-
regarded for the Higg’s mechanism, we will later demonstrate the role of the
Goldstone Boson in the Higgs mechanism.

We consider here only the case of scalar fields. Obviously to have a bro-
ken symmetry our original system must have a symmetry and thus from our
discussion above must have a conserved current J,(x). We define a current

Quyz/ﬁ%udaw (7.2.1)

with the definition of a conserved current 0*.J,, = 0 we obtain by 3-integration
that :

/ﬁ%ﬁﬂﬁﬂ:@ (7.2.2)

We want the situation with conserved charge, but where the vacuum is not
left invariant by the charge operator i.e :

Ql0)#Q=0 (7.2.3)
We define (eq 2.27 [11] ):
M7 (k) = /d4$ | [J3(2), 65 (0)] | 0)exp[i(kz)] (7.24)
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In the basis of eigenvectors of P, | n) this becomes:

M (k) = Z/d4x capli(k)][(0 ] Ji(x) | n)(n | ¢;(0) | 0)

= (01¢;(0) [n){n] Ji(z) | 0)] (7.2.5)
= Z/d4w eapli(kz)][(0 | =, (0)e™™ | n)(n | 6;(0) | 0)
— (0] ;(0) [ n){n | e T (0)e ™ | 0)] (7.2.6)

using the transform between Heisenberg and Schrédinger representation:

M (k) = Z[(/ d*zexpli(Pa + k)]){0 | J,(0) [ n)(n | ¢;(0) | 0)

/d4:ﬂe:ﬂp —Pu + E)])(0 | J,(0) [ n)(n | ¢;(0) | 0)7.2.7)

using
er0) = [0)
(e = (]
esz‘An> — ’n>eanx
(n]e P = ¢7thneip | (7.2.8)
Mi(k) = (2m) 254 k)0 | J(0) | n)(n | ¢;(0) | 0) (7.2.9)
- 54(Pn— k)0 ] 6;(0) [ n)(n | J,(0) | 0) (7.2.10)

We make the assumption of “manifest covariance” this can be violated later
to allow for the massive bosons of the Higgs mechanism. This condition is
(eq 2.32 [12] ) :

(0| J,(0) | P, E,) = P,a(P?) (7.2.11)

where a is an arbitrary function
We then obtain :

1ko2>1

M, (k) = e(ko)kypy (k) + kups () e(ko){ _ | ko <0

(7.2.12)
where this form comes from the fact that each delta has a part proportional
to k2 x k, by the postulate and that one delta contributes when kg < 0 and
the other whenkg > 0. p1, p2 are arbirtary

clearly

o
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since M is in k-space we know conservation of current:

0

@J;(x) =0 (7.2.14)
and 5

since there is no spatial or time dependence. Thus the only difference be-
tween M,/ (k) and 52: M7 (k) = 0 is the factor of k* which comes from the
exponential
hence: N N

e(ko)k?p? (K*) + k?p3 (k*) = 0 (7.2.16)

Hence we get two equations for p :

ko >0 K2 [pf (k) + pi ()] =

ko < 0 E2[p% (k%) — p (k*)] = 0 (7.2.17)
The two solutions are thus:

p(E?) = c10(k%) (7.2.18)
pa(k?) = (k%) (7.2.19)

as away from k? = 0 py, po = 0 to satisfy this equation

If either ¢1, co # 0 then there exists a P? = 0 state i.e. a zero mass state p12
column 2 126-30 [12] . This will apply for every symmetry hence a boson for
each symmetry.

For a broken symmetry we assume Q does not annihilate the vacuum. Hence

(0] Qi(t), #;(0) [ 0)1=0 # O (7.2.20)
From above we have :
MZ (k) = e(ko)kocrd(k?) + kocad(k?)
= /d4w expli(kx))(0 | [J5(x), 9;(0)] | 0)  (7.2.21)

/ h dleo Mg (k)z_, = / d*z2m8()(0 | [Ji(z), ¢,;(0)]0) (7.2.22)

—00

using the definition of § in the right-hand side :

| a0, = [ amin0] Q6,00 0
= (0]Q(0),9;(0)]0) #0 (7.2.23)
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using ( see appendix G2) :

5(| k| —ko) + (| k | +ko)
2|k |

§(k?) = (7.2.24)

we obtain:

h ij - 5(| k| —ko) + (| k | +k
/ dko My’ (K)p_y = / dko(e(ko)koct + kocz) (%] 02)“2'“ | +ko)

= ¢ (7.2.25)

€ leads to summing on the ¢; term the difference of sign leads to cancellation
of C9

The analysis could be extended to other types of fields by considering states
with spins.

7.3 Gauge Theory

This follows [9] Section 15.1

Although we have briefly introduced the idea of gauge theories above, with
the concept of a vector field and its relation to the concept of gauge in
electro-magnetism, we clarify this here. We initially consider only Abelien
Gauge theories and discuss non-abelien theories in the next chapter.

In analogue with our discussion on symmetries we consider a theory of fields
that obey the local U(1) symmetry «(z) i.e. they are invarient under the
transform

W — ey (7.3.1)

spinor fields are used here so we can compare with electomagnetism and
because the single derivative makes them marginally easier then scalar fields.
The process is the same for scalar fields however.

If we consider the standard Dirac Lagrangian (2.3.8):

then: ,
D — @e—la(ﬂc) (7.3.3)
since ot )
eia(@)t _ —ia(z) (7.3.4)

which commutes with 4° being a scalar
hence my1) is invariant
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We consider the definition of the derivative in the direction of vector n# (
p482 eq 15.2 [9]):

"0, = lim }[w(:c +en) — ()] (7.3.5)
e—0 €
n inside the brackets is also a four-vector
This is clearly badly defined since as « is a function of the space-time co-
ordinates the transform of the two halves of this derivative will be different
We now define:

U(z,y) = WU (z,y)e ") (7.3.6)
with U(x,x) =1,which we can write as (p482 eq 15.3 [9])
Uly,z) = explig(z,y)] (7.3.7)
Thus: ‘
Uy, 2)(w) = U (y, )i (x) (7:3.8)

which is the same transformation as for ¥ (y)
We now define the covariant gauge derivative as in the direction n* as (eq
15.4 p483 [9]):

1
n' D, = lir% —[Y(z + en) — U(x + en, x)(z)] (7.3.9)
e—0 €
where both sides now hopefully transform in the same way .
As we have chosen U to be a phase transform we can expand it in terms of
€ like a power series to give:

Uz + en,z) = 1 —ieen A, (x) + O(?) (7.3.10)

where e is an arbitrary variable and the space-time dependence comes in
A, (x) which is required to be a four-vector as U is scalar and n* is a four-
vector

Substituting this into n*D,, gives:

WDp(x) = lim ~([$(x +en) — ()]

e—0 €
+ deent A, (z)Y(x) — O(2)y(x)) (7.3.11)
which gives :
D,p(z) = 0y(z) + ieAy(x) (7.3.12)
canceling the n#*'s on both sides
Writing the infinitesimal transform of e?®(*+en) ag:
1+ i,z + ent) (7.3.13)
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we gain for the infinitesimal transform of U :
1—ieen” A, (z) — (14+i0,a(x+ent))(1—ieent Ay(x))(1—i0u () (7.3.14)

which canceling the ones and taking only linear terms gives :
1
Ay(x) = Ay(r) — —0uaf(x) (7.3.15)
e

This is the same as the gauge invariance we had for electromagnetism the
zeroth component of A is altered by an arbitrary time derivative and the
spatial components are altered by an arbitrary divergence

Thus :

Dyp(x) = 0Ou(z)+ieAu(x)yY(x)

— [8u(x)+ie(Au(x)—é@ua(az))]em(m)w(fv) (7.3.16)

passing the e!®®) to the left picks up an extra factor Oya(x) from the deriva-
tive which cancels with the d,a(x) from the transformation of the field
Thus

[3u(w)+ie(Au(m)—é o(@)]e () = (0, +ie A, (x)]¢(x) (7.3.17)
So: '
Dyab(z) = @D () (7.3.18)

Thus the Lagrangian : B
() (i1 — m)y (7.3.19)

is invariant under this transform the slash notation makes no difference since
e’ is scalar so passes through the slashed
since D1 has the same transformation law as ¢ we know D, D, will also
have the same transformation law
Thus:

[D,, D J(z) — @D, D, (x) (7.3.20)

using before the transform :
D, =0, +ieA,(x) (7.3.21)
[Dy, D) = [0u(x) +ieA,(x).0u(x) + ieAy,(x)] (7.3.22)
[Dy, Dol () = [0, Ou]p + ie([Oy, Av] — [0, Ap])p — 62[‘4#7 Ayl (7.3.23)
since partial derivatives commute and their is no summation :

[a,uv al/] = [A;u AI/] =0 (7.3.24)
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Thus:
(D, Dultb() = ie([8,, Au] — [0 Ayl (7.3.25)

using that the derivatives apply to everything on the right:

[aua Au]w = a,uAl/‘/) + Auauw - Aua,u"vz}

= 0,A (7.3.26)
Thus :
(D, D)Y(x) = ie(0uAy — 0, Au) Y = ieF 0 (7.3.27)
or:
[D,, D) = ieF, (7.3.28)

since [D,,, D, ]y transforms like ¢ , [D,,, D, = ieF},, must be invariant
Using that [, has dimension 2 i.e. as our lagrangian has dimension four
our f terms should be squares. Requiring invariance and that the theory is
renormalisable we gain the most general Lagrangian to be :

L= —m)y — i(FW)2 — ce®P" FogF,, (7.3.29)

The final term can be ignored as it violates time and parity symmetry (see
Appendix G3)

There is nothing to stop us identifying the A, with the A, of electro-
magnetism,especially since the Lagrangian is correct

7.4 Non-Abelien Gauge Theory

We now consider a non-Abelien gauge theory. Our field multiplet transforms
as :
Y — exp(ia’(z)th) (7.4.1)

and non-Abelien implies that
[t )] # 0 (7.4.2)

For later convenience we will only consider the three-dimensional rotation
group O(3) which is equivalent to the group SU(2). Since we are now in two
dimensions we start with a doublet of Dirac fields (p486 eq 15.19 [9]):

) = @;Eg) (7.4.3)

In this case the transformation is (p486 eql5.21 [9] ):

Y(z) = V(x)y(z) (7.4.4)
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where: )
O_’L

V(z) = emp[io/(a:);] (7.4.5)

where ¢’ are the Pauli-spin matrices
Again we are looking for a gauge co-variant derivative and thus we want an
analogous U this time it must be a 2-dimensional matrix such that :

Uy, z) — V(y)U(y, x)VT(x) (7.4.6)

where (p488 13 [9] ):
i

Vi(z) = exp[—mi(x)%] (7.4.7)

U(yy) =1

We can now do an expansion in small e:

U(x+en,z)=1+ igen”BL% + O(€%) (7.4.8)

where g is an arbitrary constant and now we have to associate a vector field
with each spin matrix i.e. there are three of them.

Hence with a completely analogous definition of the gauge co-variant deriva-
tive:

WP Dy = lim S [ + en) — Uz + en, 2)ih () (7.4.9)

e—0 €

separating out the two parts we get :

)

D, =0, - z’ng% (7.4.10)

We want the transformation of the fields BL. We consider the infinitesimal
transformation of U:

. i . i
1+ igen“BL% — V(z+en)(1+ igen“BL%)VT(x) (7.4.11)

We consider V (z + en)V1(x)
taylor expanding the first term we gain:
V(z+en)Vi(z) = [(1+ entd, + O(2)V (2)]V(z) (7.4.12)
assuming V(z)VT(z) = 1 V is a unitary transform and dropping the € term
Viz+en)Vi(z) =1+ ent(9,V(z))Vi(z) (7.4.13)
We use the identity:

0= 0,(1) = V@)V (@) = @,V @)V (@) + 9 (VI@)V(2) (7.4.19)
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thus:
0.V (2)VT(2) = =0,(VI(2))V (x) (7.4.15)

Thus :
Viz+en)Vi(z) =1—en(9,V(2)V(z) (7.4.16)

(7.4.11) becomes:

i

1+ zgen"B’ — 1 —en*(9,Vi(2x))V(x) + igen“V(w)BZ%VT(x) (7.4.17)

canceling the 1’s and dividing through by igen* we get:

i a'
Bu(x)i

> — V(@) (Bi)

ot 1
o4 - T
5 + g@u)[/ (z) (7.4.18)

The infinitesimal transform becomes using the infinitesimal form of (7.4.5)
and (7.4.7):

. ot alot . ot ) alot
BL(:U)E = (141 5 )(Bz(x)g + ;8#)(1 —i=

) (7.4.19)

which taking only linear terms in o’ :

gt ol
bl BJ
— + il 5 2]

PN PN N

We can now show that the infinitesimal transforms for both ¢ and D, are
the same:
o i k

L5 — (00 D . —i—g[a L iz ])(1+mk%>¢ (7.4.21)

D, — (0, —193 5 Ph7g

using the transformation of BL (7.4.20) and that the infinitesimal transform
of 1 is :

O.k
Y — (1+ m’f?)w (7.4.22)
O 5 0,0+l G BT+
k k )
= (1+ia* 7)(3 —igB, )¢+[ (i %)—i(@uai)%] b (7.4.23)

where all other terms vanish as they are higher then linear powers in .
So: .
1

Dty — (1 +ia’Z 5Dt (7.4.24)
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as required.
By comparison with above we consider [D,,, D, ] (z)
which as D1 transforms like 1) transforms as:

[Dy, Dylyp(x) = V(2)[Dy, D] () (7.4.25)
(D, D] = [0, — igBZ%Z, Dy — ing,%Z] (7.4.26)

7
i 9

Y2

ol o b o
= (00— ig(10 BLT) + BLZ0.) - * (B2 BL T
the first term vanishes since partial derivatives commute, the middle term
gives : ‘ '
R . O'Z . O'/L
by direct comparison with the abelian case (7.3.27) Thus :

%

. ot i o ot ;0

[Dy, Do) = =ig(0u B, = 0B, =) = g° Bl B ] (7.4.28)

and thus we can define:
. 0
(D D] = —igFp, = (7.4.29)
where :
For convenience we rewrite :
. O-i . g'i . O'i i «Uj kO'k
gl ka’“ ke ol ok

as the B’s commute with each other and the sigma matrices (for each pu,1
they are essentially coefficients.

N L W 1, . 1, . ;
5 5] = 3070t = qotel = {(oot —atal) (7.4.33)

using the commutator relation for the Pauli spin matrices (1.5.7)

olol = iedkk (7.4.34)
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we gain 0/oF = ie/*o? and o¥0d = ie"io? = —ie?* o by the anti-symmetry
of epsilon
so: _—
J 1 o 1
1%, %) = 2ot = Sieho' (7.4.35)

again using the anti-symmetry of epsilon. Thus (7.4.31) :

F;W% = (GMBZ,% - 8VBL%) + gB/{B’,fe“k% (7.4.36)
= (0uB}, — 0,B},) + gBJ,BLe'* (7.4.37)
From above the transformation law for F must be :
) O'i . o'i
Fl5 = V(a:)F;;l,EVT () (7.4.38)
infinitesimally this becomes :
and thus : A , . .
;o , o0 o o
F‘“’E — F‘“’? + [ia— 5 N 5 ] (7.4.40)
ignoring terms higher then linear in alpha
Thus Ffw‘g is not gauge invariant
However : )
Fi 2 Fl o' 2 4
( /u/) - 2t74[( /u/?) ] (74 1)
is. Consider the infinitesimal transform:
i
(Fug ) = V(ET )VTVFJ )VT
UJ
— V(Fﬁ?)QVT (7.4.42)
which becomes infinitesimally
i 1 gt
(Fi-)? = (1+a —)(FJ s ) (1-a'3) (7.4.43)
. J .
= (Fgf’ )2+ [(FIZ)%, 0] (7.4.44)

since (0%)? is the identity (see Appendix B5) we can take out (F}, %) of the

commutator and thus the commutator vanishes as it is now [1, 0]
The trace is required as we need the Lagrangian to be scalar . Thus

=T - myp - 3(FL)? (7.4.45)
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is invariant . This assumes that ewp(iai%) commutes with the 7, which is
true as these matrices can be considered as a constant scalars in the basis
of the multiplet

For Non-Abelien Gauge theory we obtain different Feynman diagrams this
will be considered latter

7.5 A Brief Summary of QED

Previously we have mentioned QED, we now summarise the salient points
of this theory. QED is an abbreviation of Quantum Electrodynamics, it is
amongst the first developed Quantum Field Theories and is a “prototype
for new theories ” , “the jewel of physics our proudest possession” (132,
130-31 p8[13]). QED describes the interaction between charged particles its
Lagrangian is given by (5.1.1):

L=~ L(FP (0l — m) — ey A, (7.5.1)
Photons are represented by the vector fields and can be seen to be massless.
The massive fermions are represented by the Dirac spinor fields. In this
Lagrangian we only include type of fermion field which we will take to rep-
resent the electron. It is obvious that we could include different field types
for any charged particle, we like. We see that the Lagrangian is the sum of
the Dirac Lagrangian describing the propagation of the fermion fields and
the Maxwell- Lagrangian describing the propagation of the vector field, the
final term (py#1)A,,) is an interaction term between the fermion fields and
the vector fields. The presence of only one interaction term means that our
Feynman diagrams have only one vertex type. The Feynman rules for QED
given above are repeated here for convenience.A more through analysis of
Feynman diagrams is given in section 4.5 .

photon propagator fermion propagator
H AVAVAVAVAVAVAVAY
D
" k
7 R _ i(ptm)
T k2+ie o p2+m12/)ie
QED vertex

Figure 7.5.1: Propagators and Vertex for QED

We refer the reader to section 6.3 for the discussion on the renormalisa-
tion of QED. We can also see that the gauge invariant form of the Dirac
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lagrangian combined with the Maxwell lagrangian.

1

L= —1(F") 496D —m)y
= (PR LD + e Aulw)] — m)
— _i(FWﬁ + (i — m)y — eyt A, (7.5.2)

is exactly the same as our QED lagrangian and thus QED is gauge invariant
with invariance under the symmetry group U(1)

7.6 Left and Right-handed Fermions

We now introduce the idea of handiness of fermions. The experimentally ver-
ifiable results that we will require are that no right-handed neutrinos have
been detected, thus we assume they do not exists, and that left-handed
fermions occur in doublets and right-handed fermions occur in singlets

We can choose to write any fermion field as :

Y = @;) (7.6.1)

The justification for this is that the generators that act on spinor fields and
thus define them (see section 2.3 ) are in block diagonal form (see appendix
B6) , thus each block can be though to act on a different component. Re-
membering the Dirac equation (2.3.8) (i@ — m)1) we can show that this can
be rewritten as (see appendix G4):

—m (00 +3.V)\ (v
(i(&o —&.V) O—m ) <¢1Ls:> (7.6.2)

ignoring the mass terms we see that (see appendix G5) :
iy = Yridr + ridin (7.6.3)

Notation is chosen to be dimensionally correct i.e ¢, = (%L> and similarly

for Yr
The left-hand side describes the lagrangian fro the propagation of a massless

fermion and the right-hand side describes the propagation of it massless left
and right-handed parts. Since the two parts are separated there is no reason
why they have to obey the same gauge symmetry and thus can have differ-
ent gauge co-variant derivatives. Obviously there should be an experimental
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reason for doing this

At this level all fermions will now have to be considered as massless, we
will use the Higgs mechanism in the next section to restore their masses

It remains to justify that Left-handed fermions obey SU(2) and U(1) group
symmetry and thus are in a doublet and that Right-handed fermions only
obey U(1) symmetry and are thus in a singlet. The famous Cobalt-60 ex-
periment of Wu [14] showed that there is a fundamental difference between
left-handed and right-handed particles, as the neutrinos admitted where al-
ways left handed. if right-handed neutrinos do not exist it is impossible for
these right-handed particles to form a doublet with electrons and thus the
electrons must be in a singlet. We assume all fermions can be formulated in
the same way

7.7 The Higgs Mechanism

We consider here only the GWS model of electro-weak interaction as an
example of the Higgs mechanism this is used as it is part of the standard
model and explains electro-weak interactions, as- well as giving masses to
all standard model particles.

In deriving the Higgs mechanism we consider a massless Dirac Lagranga-
ian where the left-handed fields are invariant under SU(2) and U(1) sym-
metries and the right-handed particles are invariant under the U(1) group.
We add on the terms for the propagation of the vector Bosons and then
describe the vacuum with a U(1) SU(2) invariant complex scalar field with
a negative minimum and self-interactions and U(1) charge 3. The vacuum
boson interacts with the fermions through yakuwa like terms and with the
bosons through the vector-scalar interaction terms from the gauge invariant

derivative :

1 1
= —(F,)?*-=
+ (ELDE} + ieg el — NLE ¢l — (\JE L del)

b QLINQ + i Pl — idn P dly, — NIQL bd
— (NQuody) — N Qo — W Qradup)t  (1TD)

(Fp)*+ | Dy P =m® [ o> =X ¢

where:
F, = 0ua, — 0yay, (7.7.2)

D, =0, —igYa, —igT'B, (7.7.3)
which is required for the doublets as they respect both SU(2) and U(1) sym-
metry groups
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Di =0, —1gYa,

(7.7.4)

which is required for the singlets as they respect only the U(1) symmetry

group
The sum on i and j is over the three generations of fermions
E;, is a vector with components :

1 _ u
QL (d)L
% = ()

5/L

3 _ 75>

QL <b .

(F)? = 2rl(Fi, 2 )

; O'i ~0'i
FL% = 0.8

j k
ol o
iZ_ BkZ_

'Ui R/
- 8ZIBZL?) -9 [B,u 9 ) }

o= (%)

\,Y,q,9,¢" are coupling constants
AE, Ay, Aq¢ are matrices of coupling constants

a, are the bosons associated with U(1) symmetry
B/, are the bosons associated with SU(2) symmetry

m? =2 p=R

(7.7.5)

(7.7.6)

(7.7.7)
(7.7.8)

(7.7.9)

(7.7.10)

(7.7.11)

The gauge covariant derivative is constructed by adding together the non-
derivative parts of the U(1) gauge co-variant derivative D, = 0, —igY A,
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and the SU(2) derivative 9, — ig’T" B}, our arbitrary constants are different
from those used above (sections 7.3 and 7.4) :
o

T8 = — 712
5 (7.7.12)

€ =10 = _¢ (7.7.13)

We have not included the right-hand neutrino as there is no experimental
evidence it exists

We have included the quarks as they acquire mass by this mechanism, we
are not however going to include the strong interactions and we ignore glu-
ons as they are massless.

For simplicity we consider the Boson and Fermion parts separately
Initially consider the ¢ field . We follow the section on spontaneous symme-
try breaking (section 7.1). We want to find the minimum of ¢ , ¢pignoring
the coupling to the vector fields as above gbogbg; = 5 .We can then write:

bo = (0) (7.7.14)
V2

up to phase changes in SU(2) and U(1) which we ignore (we simplify notation
at the expense of clarity by donating the fields that followed which are
transformed by this phase shift with the same notation as the untransformed
fields ) as this part of the theory is invariant under these changes . We can
then rewrite :

1 .
¥ = ﬁ(v + a(x) + ix(x)) (7.7.15)
where :
(a(z)) = (x(x)) = (¢7) =0 (7.7.16)
rewriting :
b(x) = ¢ (2) + do(x) (7.7.17)
where :

QZ)/(x) = <1( ( Q)Z):_ ( ))) (7.7.18)
75 (a(x) +ix(z

o (2) = Uz)— (ho )> (h(z)) =0 (7.7.19)

P(z) = \}5 (h(xg) N U) (7.7.20)



the so called unitary gauge.
Considering the potential term :

Ly=-m?|¢]>=Xo¢]|? (7.7.21)

We know: )
|6 = 00! = S (h(2) +0)* —m? =2 (7.7.22)

and finding the minimum as in (section 7.1) as :

— /= 7.7.23
v=1/5 (7.7.23)
We write:
_ 1 PPy 1 14
Ly = i’ (h@)+1/5)" = PMh(@) +/ )
s 1
= 5 2h24—A0h3471Ah4 (7.7.24)

(This is similar to section 7.1 ) where calculations are done more explicitly
If we consider h(z) as the field that describes the Higgs boson. then re-
membering that scalar fields have mass terms of the form —%m2¢2 in the
lagrangian we see that h has a mass:

V2p = V2 (7.7.25)

( compare —3m?%¢? to —p?h?)
We now consider the kinetic lagrangian:

Lk =|D,¢ * (7.7.26)

writing :
¢ =3¢+ ¢(0) (7.7.27)

ignoring for the moment the switch to unitary gauge and recalling (7.7.3)

Dy =0, —igYa, —igT'B, (7.7.28)

We realise that there will be terms that involve only gauge fields and con-
stants since ¢ is a constant vector coming from | D, |?
since d,¢¢ = 0 since ¢g is a constant vector :

| Dyugo I>= (Dpo) D¢ (7.7.29)
We gain:
AL = (—igYay, —igT'B),) | o |)'(—igYad" —igT*B*") | o | (7.7.30)
V2 V2
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using the definition of ¢g (7.7.14):
1 i 1ei iy (O
AL = 5(0, v)(9Ya,+9gT'B,")(gYad" + ¢gT'B"") ; (7.7.31)

taking out a factor of -1 from each of the gauge terms and combining the two
% factors from the ¢g and recalling that the spin matrices are hermitian
(this can be seen by recalling their form (1.3.14) )and iif =1 .

We can then write this in component form as (see Appendix G6) as :

1 ’1)2 2 2 g’
AL = iz[gl (B))*+4¢°(BY)* + 4(—532 + gYa")?] (7.7.32)
We can define :
wWE = L(B1 | B%) (7.7.33)
noo \/5 % :FZ o .

Thus :

1 1
WWwht = —(B. —iB%)—
I \/5( " ) V2
using properties of four-vectors (1.6.4)
We note (see Appendix G7) that the Y is the U(1) charge associated with
the scalar field % in this case so that:

, 1
(BY +iB*) = 5[(B}f +(BY)? (7.7.34)

1 2
AL = =L *WHWr— + (—g' B3 + ga)?] (7.7.35)
24 I Iz
Thus we define: .
7= ———(¢B,> — ga,) (7.7.36)
YoVttt T
where we have normalised the field
and its its orthorgonal companion
_ 1 / 3
Now: )
lo 2 _
AL =S Flg2WIWH + (g + 97)(Z,)7] (7.7.38)

remembering that Boson mass terms are of the form 1m?(¢,)? (section 2.4)
we see that :

(7.7.39)

U
mw+ 295

2 42
( compare ym2,. and 1%-¢* )

myo = 1/ g2 + g’2% (7.7.40)
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( compare %mQZO and %vff(gﬂ +9%))

myg =0 (7.7.41)
as it does not appear
Thus )
AL =miWIWr + §mQZ(ZB)2 (7.7.42)
We can write the relation between Z° A and B2,a in terms of a mixing
angle Oy :
Z0 cosby —sinby\ (B>
<A> o (sz’n@w cosby a (7.743)
where :
g/
costy = ———— (7.7.44)
9> +y
sinfyy = ——2— (7.7.45)
9> +9
The identities:
Q=T3+Y (7.7.46)
/
9°+g
and : )
TF = 5(al +io?) (7.7.48)

We can rewrite the co-variant derivative in terms of the fields and the two
variables e , Oy (See appendix G7) :

_ A — ——
D,=0, — ZE(WMT +W,T7)
. 97/ 3 o2 o
ZCOSQW Zu(T° = sin“Ow Q) —ieA,Q (7.7.49)
where : , e .
g = sinfyy o

Given that cosfy by definition is the ratio between the mass of the W’s and
the mass of Z the two are related by:

mw = cosbymyz (7.7.51)

In our unitary gauge version of ¢ (7.7.20)

p(x) = \}5 (h(xf N v) (7.7.52)
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the derivative of v vanishes since v is constant:

| Do |*= 0,0'0"¢ + ¢' (¢ BLT + gYa,) (¢ BT + gYa')p  (7.7.53)

09 =01 75 (i) +0) = 75 (0,000 (7754

Dupl ot = %(8Hh)2 (7.7.55)

SO !

The vector-part of our gauge co-variant derivative transforms the same way
for h(x) +v as it did above for v2. since we know the transformation for v?
we can divide through by v? and multiply by (h(z) + v)? to give (following
(7.7.42)) :

1 1
AL = S [miy Wi Wi + om(Z))%)(h(z) +v)? (7.7.56)

and thus in unitary gauge,following (7.7.42)

1 1
£ = S(0uh)? + [ W W= + S (Z0)7)(

We now consider the fermion terms.
Considering the quark terms first.
ie.:

“N{Quod — (N Quodi) = NI QL asfuh — (N Qraojdi)t  (7.7.58)
P transforms swap left and right-handed fermions, C transforms charge plus
to negative charges. Thus if we impose CP as a symmetry of the lagrangian
for the fermion -scalar interaction terms , the terms after the coefficients are
interchanged with their hermitian conjugates 111-12 p722 [9] . Since in the
lagrangian the hermitian conjugates already appear the transform is just
equivalent to: N N - -
AN = (N N = (W) (7.7.59)
If we define two unitary matrices U, and W, by:
A\ = U, DUT (7.7.60)

M, = W, D2W] (7.7.61)

D? is a diagonal matrix with positive eigenvalues
Thus (eq 20.137 eq722 [9]):

Ay = Uy D W) (7.7.62)
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by exact analogue :
Mg = UgDgW] (7.7.63)

where Uy, Dy are defined analogously
We now make the transforms:

uly — Wiuly diy — Wi d, (7.7.64)
ulh — Udud diy — U d, (7.7.65)

which we can do by the gauge freedom for the U(1) group
in the unitary gauge (7.7.20)

1 0
== 7.7.66
(@) V2 <h(:c) + v) ( )
Writing:
— (NI QL oul)t — N QLadhdy — (N QLaohdh)! (7.7.67)
NI QLody — NI e Qb + h.c. (7.7.68)

where h.c. denotes the hermitian conjugate :

NIQL odl, — NITePQ)  dlud, + hc. (7.7.69)
remembering: €'l = 2?2 =
N i T)y0 ! 0 @, — N (T dh) ay° (0, v)pul, + hec
\/i h(l’) +u R U ) La y V)b -C.

(7.7.70)
since the 1 component of (0,v) is 0 we need a=1, b=2 :

jo—i iy 1 0 P i ; 1 ;
U (=1 J i 1204 it 0 J
A (ay,dr) <h(x —i—v) dp=A7e=(u', d") 1y \/§(O,h(:c)+v)2uR+h.c.

V2 )
(7.7.71)
which becomes:
ij=i 5 h(T) +v ii—i g h(x)+v

clearly we now have a coupling between the higgs field and the fermions and
constant terms multiplying two vector like terms.
in preparation for later we can then write this as:

v = h( ) h(z)
)\z] de'7 ( ) )\ZJ?ULU?R( +

{5 1) + h.c. (7.7.73)
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The transform uy, will give a UJ term and the transform dy, will give a U;
These transforms mean that :

> @ (P + di(iD%)dR) — Y (Wi uk + di(iDP)dy)  (7.7.74)

[ 7

and
— Xﬂ?%@%h() 1) — Xa@lﬂ%h?y+n+hﬂ
= ”\”ﬂzLdﬂ(h(:”)Jr 1) — D”\/Q ] (h(:)+1)+h.(:7.7.75)

DY =Di=0j+#i (7.7.76)
we have the only contributing terms being :

2 d, (h(x) 1) - D”Q'LLLUR(h(Ux) +1)+ hec (7.7.77)

J’

which we can rewrite with mass terms :

i . h .. . h
—mildeﬁq((f) +1)— mﬁﬂ’Luﬁ%(ﬂ + 1)+ h.c. (7.7.78)
where i v
and :
mi = ij% (7.7.80)

as normal fermion mass terms are of the of the form mun)
Obviously we can completely analogously for the lepton sector define

N = UDW, (7.7.81)
the transforms:
el — Ulije% Vi — Ulifyi S Ulijeg% (7.7.82)

and thus our electron and neutron propagation terms are again unaffected
and the mass term becomes:

. h
—migt e ( (vx) +1)+ hee. (7.7.83)
where :
— Dl (7.7.84)

f
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We now consider the operators Q = T3 + Y . It is shown in appendix G7
that T is a conserved charge combining this with the conservation of Y from
above we deduce Q is conserved. if we associate Q with the electric charge
p702 119 [9] then the coupling on A, suggests that it should be identified
with the photon if e is the electron charge, which now has the correct charge
and mass and through the ) terms couples to all the fermions with strength
Q (We ignore the difference between D' and D? as this is equivalent to
T, T% T3 = 0 the last of which we will use to get the charges for these ).
The right-handed fields have T2 =0 as they are only invariant under the
U(1) group, their charges are then given by assigning the value Y for each
right-handed field Y=-1 for e’é , Y = % u’]é, Y = —% d%. For all our-right-
handed fields T3 = i% for the top and bottom components respectively (as

1 . ; o
T3 = % <O _01>) since Q= -1 for e thenY = —% for the doublet (as it is
a U(1) symmetry charge it should be the same for both components ), this
means the neutrino is chargeless as required. The choice Y = % gives the
correct charge for the quark components i.e. uiL, Q= % diL, Q= —%

Obviously we want this theory to be renormalisable, our consideration of
the non-gauged constituents of the theory in section 6.3 leads us to suggest
that is. it has been proved that this is indeed the case but we will not dwell
on it here.The article [15] looks into proving the renomalisability of this and
other similar theories.

We illustrate below the Feynman diagrams for the vertices:
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R o = S *—t<§zf
VRN l
// \\ 1
/, i _ .
ermion-Higgs vertex 4-Higgs Vertex 3-Higgs Vertex

Figure 7.7.1: All possible couplings with the Higgs-boson in the unitary gauge.

through the kinetic term it can couple to itself either cubicaly (with coefficient
2 2
\/g Mu o= Ty, = /2M )or quartically (with coefficient § = g4 ) . It couples

to the fermion fields with coefficient "L .It couples the Zg field to the ZY field with

coefficient mTZZ g"” . Finally it couples the W field to the Wt field with coefficient

2
2mw g;w
v

We will consider the Feynman rules in more detail when we come to do-
ing calculations for the Higgs Boson in the next chapter

7.8 Summary

In this section we have introduced the idea of spontaneously broken sym-
metries , and then introduced the goldstone theorem as a way of associating
bosons with broken symmetries. We then introduced the idea of gauge theo-
ries in both their Abelian and non-Abelian forms , giving a summary of QED
as an example of Abelian Gauge-invariant theory. Finally we demonstrate
the Higgs mechanism in GWS theory
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Chapter 8

Detecting the Higgs Boson

8.1 Higgs Boson Detection Paths

At the time of writing, the Higgs boson predicted above has not been de-
tected. The Boson itself will be short-lived because there are lower energy
particles the lagrangian allows it to decay into, it is also uncharged and
therefore will not interact with electro-magnetic fields. This means that
the best way of detecting the Higgs is by waiting for it to decay into more
detectable products and detecting these products which will have a given
energy, momentum and angular distribution dependent on the Higgs. The
immediate products of the decay of the Higgs may still be difficult to detect
particles e.g. the top quark and thus we may have to under-go a series of
decays to obtain measurable products. This is called the decay path

There are several different ways the Higgs can decay, in assessing which
decay path to use there are obviously two key properties that it must have:
1) the decay products must be distinguishable from the background , i.e.
we must our measurable products must occur at a much greater frequency
then can be be expected from similar processes ( i.e. the angular range or
momentum or energy range is indistinguishable) natural background radia-
tion or other processes involved in the experiment and the products

2) The decay products must occur relatively frequently, due to the inherent
error in experimental processes and probabilistic nature of quantum me-
chanics we want a statistically significant sample of decay events and thus
they must occur relatively frequently

As can be seen different Higgs decay channels produce different results for
different Higgs masses. We need to select a decay channel that gives mea-
surable results.
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Figure 20 Toted decoy width U{H) in Gel and the main branching ratios BRIH) of
Standord Mode! Higgs decay chonnels, using the inputs of Tab, 2

Figure 8.1.1: (Figure 2 [16] , the rest of the article details the program used
for producing this model) Diagram showing different decay widths for the main
branching ratios of the standard Model Higgs decay channels at different Higgs
masses.

The branching ratio for a given decay channel is defined as the ratio be-
tween two decay widths in this case the branching ratio for Higgs decaying
to ZZ would be the ratio between the decay width for H — ZZ and the
decay width for all possible decays of the Higgs ( see p 392 eq12.151 [20] for
the Z — ptp™ )

T(H — Z7)
I'(H — all)

where I' is the indicated decay width

The decay width for a given decay channel is defined as the inverse of the
mean lifetime (the time required for the number of original particles to re-
duce to % of its original value . The differential decay width can be obtained
by taking the probability of particles with given momentum propagating
to particles with other given momentum (the amplitude squared) divided
by the transition time and then multiplied by the number of momentum
states in momentum space for each momentum ( a simple example is given
in Appendix:Decay rate and cross-section p139 [8] )

B(Z7) = (8.1.1)
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8.2 The LHC and Detecting the Higgs Boson

There already exist experimental bounds on the possible mass of the Higgs
Boson. Initially we have a have a lower bound for the Higgs mass of 114.4
% at 95% certainty level given by LEP experiments [17], we then have
an upper bound given by 185 GC%V by analysis of other known paramaters
(see figure below and section 5 of [18] for details ) , finally experiments at
Tevatron have excluded Higgs masses in the range 158 G;;QV - 175% at 95%

certainity level ( 19-11 [19]).

Search for the Higgs Particle

Status as of July 2010 95% confidence level

Excludad by
LEP Exporimants
95% confidance leved

Excluded by
indirect Measuraments
05% confidoncs el

100 114 120 140 158 175 185 200 GeV/c?
Higgs mass values

Figure 8.2.1: (top Figure ) [19] )This graph shows the possible range for the
Higgs-mass, it shows the excluded regions and those yet to be probed

The LHC (Large Hadron Collider) is an experimental apparatus, which has
detecting the Higgs Boson as one of its key aims. Physically it is a torus of
circumference 27km( line 7 [21] )which is cryogenically cooled to a tempera-
ture of 1.9K(line 12 [21]) it collides together two counter-rotating beams of
protons with a centre of mass energy up to 14TeV ( twice the beam energy
110 [21] ) . The collisions produce the excess energy which is needed consid-
ering energ-mass conservation to make the Higgs Boson.These collisions are
arranged so that they take place at one of four particle detectors positioned
around the ring of these ATLAS and CMS are the ones relevant to detecting
the Higgs Boson [22] .

The LHC should be able to discover or exclude all remaining possible masses
for the standard model Higgs Boson and thus prove or disprove its existence.
(See [22] section 2 12-3)

Although the LHC uses protons and therefore the interactions are affected

by the strong force which we have not considered we will take two useful
properties of the LHC:
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1) H —» ZZ* — 4u is a“gold-plated” channel for the LHC , i.e is amongst
the cleanest ways to get a clear signal of the presence of a Higgs Boson (see
the section on intermediate and high mass of section 1.2.1.2 [23], section
1.2.1.1 and section 1.2.1.2 [23] contains a nice analysis of how different de-
cays occur at different energies , “golden ” is used in this reference rather
then the more common “gold-plated ” )

2) The outer detection layers of CMS is made up of muon detectors (see
figure 1.8 [23] ) making muons good candidate for this detector

8.3 Grassmann numbers

Grassmann numbers are numbers that anti-commute i.e. for two Grassmann

numbers 6 and 7 (eq9.62 p299 [9]):

On = —nb (8.3.1)
This means that :
0> = —6? (8.3.2)
which gives:
20% =0 (8.3.3)
ie.
62 =0 (8.3.4)

This means that the taylor expansion is curtailed after the linear term and
so any Grassmann function can be taylor expanded to be written as:

F(0)=A+ B0 (8.3.5)

A and B normal constant numbers which commute with Grassmann num-
bers. We consider the integral :

/def(e) = /d0A+Be (8.3.6)

if this is invariant under a shift :

0—0+n (8.3.7)
7 independent of 6
we gain:
/dGA + B = /dG(A + Bn) + B6 (8.3.8)
assuming normal integration:
02
/d9A+Be = a0+ BT v (8.3.9)
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where C is a constant

The 6% = 0 as this is a general property of Grassmann numbers (8.3.4). The
integration gives different linear terms on each side so it can not be linear
and therefore the integration is given by a constant

choosing :

/d06 =1 (8.3.10)

We gain (eq 9.63 p300 [9] ):
/dO(A + B0) =B (8.3.11)
We also define( eq9.64 p300 [9] ):

/d9dnn0 =41 (8.3.12)

We can treat 0* and 6 as different complex Grassmann numbers
We consider:

/ do*dpe="" (8.3.13)
using the taylor expansion the exponential :
e 0 =1 9%bo (8.3.14)
again curtailing after the squared term
hence:
/ do* e = / d6*do(1 — 6*b) (8.3.15)
as :
000 = —bho* (8.3.16)
SO :
/de*dee—"*b@ = /d&*d&(l + bhO*) (8.3.17)
as we found that :
/d01 =0 (8.3.18)
and (8.3.12):
/d@dnn@ =41 (8.3.19)
/d@*d&(l +b00") =b (8.3.20)
Thus :
/ do*de="% = (8.3.21)
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we consider the n-dimensional Grassmann vector which has components ¢;
i=1,...,n
We consider a unitary transform of ¢ :

& = Uij; (8.3.22)
1 ..
D 0= el 00 (8.3.23)

where permuting the 0 ’s picks up a factor of -1 as they are Grassmann
numbers which are cancelled by permuting the variables in the epsilon. Thus
all the permutations are equivalent and thus equivalent Z 0, to there are

1
n! possible permutations which explains the n!

We use the transform (8.3.22) ¢} = U;;¢; , to give :

1 ..
> 6= Ee”‘“lUii’Gi/Uj 500 UL'6y (8.3.24)

(W12 = (8.3.25)

without implicit summation if the i’ j> k’ ...I" are all different

(¢"TF Y2 = ) (8.3.26)

with implicit summation as there are n! ways of permuting i’ j’ k’ ...’ all

different and if they are not all different €7 " = (
SO : -/ '/kl l/ 2
_ (@)
So:
1 .. (0K )2
ZQ; = n'Gw'“lUii’Ujj’~-~Ull’9i’9j’--~0l’n')
]. s AN /
= Eewmla IR UG Oy 6 (8.3.28)
i
using an analogous definition for Z 0, as for Z 0; Using:
i i
1 S N4 !
detU = =0t KLty g4' . U] (8.3.29)

n!

Thus :
> 0 =detU» 6 (8.3.30)
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We consider the hermitian matrix B .
It is known that a hermitian matrix can be written :

B=UDU'! (8.3.31)

where D is the diagonal matrix of eigenvalues [].
We then consider the analogue of the Gaussian integral in Grassmann num-

bers:
(I / de;de;)e % Bii% (8.3.32)

We transform 6 to U6 . The surviving factor in each exponential is ¢¢* the
product over these transforms to pick up a factor of det(U)(detU)* .
This is also true of the derivative so we can use the transformed variables
instead
Thus:

0T B = 0TUDU'H (8.3.33)

using the appropriate unitary transform on 6 gives :

0TBO = 0;b0; (8.3.34)

where b; are the eigenvalues of B
Thus (8.3.32) becomes:

= 07bi0;
(H/dGZ‘dGi)e i (8.3.35)

using the property of exponentials we can bring the exponential inside to

give:
11 / do; d;e % bibi (8.3.36)

since each:

/ dO;dsebb% = p; (8.3.37)
using the normal exponential (8.3.21) :

= 070t
(I / do;d;)e i = [[ bi = det(B) (8.3.38)

since the determinant of any matrix is the product of its eigenvalues

The continuum analogue of this is:

det(B) = /Dche:Up[—i/d4chc} (8.3.39)
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as ¢ is equivalent to ¢ as these are dummy variables

and D¢ and Dc* are unitarily equivalent 13 p302 [9]

Knowing we can write the Dirac fields(since they anti-commute as (eq 9.71
p301 [9] ):

Y(x) = sz‘@(w) (8.3.40)

where 1; are Grassmann numbers and the ¢; are a basis of four-component
spinors

8.4 Faddeev-Popov Ghosts

Similarly to before (Section 7.4) we define :

_ 1 (et —ie?)
0= V2 <v + (h+ i¢3)> (8.4.1)

and also define (eq 21.35 p739 [9]) :
¢i(x) = dio + Xi() (8.4.2)

with A% = Bf a=1,2,3 A = q,
we now consider :

Z= / DAye' | £1AX] (8.4.3)
We introduce the definition (eq 16.23 p512 [9] ) :
AO[
| / Da(m)é(G(Ao‘))det(de(a ) (8.4.4)

which is just the continuum analogue of the definition of delta with a switch
of variables from G to «

G is taken to be a gauge-fixing condition i.e. some condition such that G=0
fixes the gauge

Assuming G is linear in o and det(aGgﬁa)) is independent of A, we can write
Z = det(de(A )) / Da / DAye' | FAN§(G(AY)) (8.4.5)
a

Obviously we can write L[A, x] by changing the gauge , our transformed
vector is just our original boson plus a linear shift and unitary rotations
19-13 p513 [9] . This means the measure is preserved so we can write :

IG(A”)
oo

Z = det( ) / Da / DA*xe S AN §(G(AY)) (8.4.6)
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and then eliminate the « ’s by changing the dummy variable from A% to A

G (A~ ;

Z = det( Gg ))( / Da) / DAxet S FAXI5(G(A)) (8.4.7)
a

Thus ([ Da) just becomes part of the normalisation

We now think of a gaussian weighting function centred on w=0 , width /e

and rewrite the delta as:

5(G — ew) (8.4.8)

we get :

Ao 2
7 = det(dGéa ))C/Dwexp[—i/dat“;;]

X / DAxet S FAXI5(G(A) — Vew(x)) (8.4.9)

C a normalisation constant
using the J to eliminate the w integral we get :

o ] 2
Z = det(écé(A))C / DAyet S = £IAXI= 5 (8.4.10)
«
We define the R, gauge (eq 21.45 p741[9)) :
a 1 a, a
G = %(GMA H—egF%x;) (8.4.11)
where (eq21.36 p739 [9)):
F% = Tl (8.4.12)
where ( 116 p740 [9]):
@ 1
T® = —i% TV = —iY = —i] (8.4.13)

where Y = % as we are looking at the scalar doublet

We know the transform of the gauge fields is ( eq 21.31 p739 [9]):
a 1 a
34 = (Dye) (8.4.14)

comparing with our transforms above (7.3.15) , (7.4.20) comparing the co-
variant derivatives above (7.3.21) , (7.4.10) we have ( eq21.33 p739 [9] ):

Dydi = 0udi + gA, T 0, (8.4.15)
using our y we get:

Dugi = 0Ou(xi+ doi) + gALT (X + doj)
= 0u(xi) + gA T X + gALFY (8.4.16)

108



using our definition of F (8.4.12)
Our general lagrangian as in eq 21.32 p729 [9] is:
-1 a \2 1 2

L= T(F‘“’) + §(D¢) - V(o) (8.4.17)
So considering only the quadratic terms in the Lagrangian as these give the
mass terms and as shown before the propagtaors, higher order terms give
interactions
Thus our squared terms are :

1 a
_Z(FMV)Q (8.4.18)
| Dy | (8.4.19)
1
—5 inin (8.4.20)

which is the mass squared term coming from the potential term
as our mass terms are the y;x; terms in the potential and our potential is:

V(p) = %m%% + A(¢T9)? (8.4.21)

we pick up the required x terms from the ¢? coefficients in the m? term and
from the \(¢'$)? which we can write as A((x +¢0)(x +¢0))? and thus there
will be a term of the form )\¢$¢OXTX

Thus (p740 eq 21.41 [9]):

82

M;; = V 8.4.22

]' a a a a

| Dpo > = i(au(Xi) + gALTiX; + gALFY)
x  (0"(xy) + gA™MTxi + gA™ F}) (8.4.23)

which has squared terms:
1 i Qa0 a 1 a a

| D¢ [*= 5(8ux)2 + g ALFS + §g2Fj FPASAM (8.4.24)

considering Aj A*b as afermion term which requires a mass coeflicient we
can identify the mass:
may, = g*Fi'F} (8.4.25)
1
4
0, ALO! A”® is equivalent to 0, Af,0” A** by changing the names of the sum-
mation variables

(Ff, ) = — (AL — D,AL) (A — 0¥ M) (8.4.26)
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0, AL0" AF® is equivalent to 0, Af,0" A¥* by changing the names of the sum-
mation variables

9, A% AV (8.4.27)

is equivalent to :

—A%9,0" AV (8.4.28)

by integration by parts and ignoring the boundary terms as A goes to 0 at

the boundaries wich is
—A%9 AV (8.4.29)

using the definition from 92 (the vector 9 and the (1.6.4))
we know the identity is considering (1.6.1) :

9" g =1 (8.4.30)
Thus our term becomes:
—ALD? g g, AV (8.4.31)
which is :
—ALDP g ALY (8.4.32)
0 ALO" AR (8.4.33)
integrates by parts to :
—A70,,0" AM¢ (8.4.34)

again ignoring the boundary terms:
—A500, A (8.4.35)

as the partial derivatives commute .
using the properties of four-vectors that a*b, = a,b" (easily seen from our
definitions in Section 1.6)this becomes:

—AJ0"0"* A, (8.4.36)

So in:
1 F)? 4.37
_Z( ul/) (8 : )

The Lagrangian square terms becomes:
1 1
- §AZ(*9W82 + 0"0") Ay + 5(%5)2 + 90" + gt i AL FY

1 a 1
+ §(mA)2 bAﬁA“b - §Mz’inXj (8.4.38)
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Recall (8.4.11)

G = —(8 A —egF%xi) (8.4.39)
Ve
Thus we get:
o o LA egFr) (0,4 —egFry)  (8.4.40)
Py = = 9& Xi) —7z\Ov —SgLXi -
2 Ve Ve
1
= e uAMO, A — 20, A% igF i + €4 F )
which is:
-1 1
—G? = T 7 (0 A0, A™) + g0, A™MF X — *59 [Fixal® (8.441)
using the property of four vectors that a*b, = a,b* this becomes:
—1
- G = —?(a WA ALY + gD AN F i — ffg [Fixal®)  (8.442)

if this is inside the integral we can we can integrate by parts and ignore the
boundary terms to get:

_71(;2 = ng(Aa"a“a”A‘;) + g0, A" Fix; — %@2[1?5;@]2 (8.4.43)

since from our definition (8.4.12) F is constant
we can write this as :

5= 25(’4&“8 u0" Ay) = gAMFL O — 5697 [F Xl (8.4.44)

the square terms in our constrained lagrangian £ — %G2 are:

]‘ a v 14 a 1 a a

- SAu(=g" D% + ") AL + 5(aug)2 + g0t + gOM X ALF (8.4.45)
1 b a 1 1 a, vV AQ a, a 1 a

+ 5(mA)?“ Al ARD — 5 Migxix; + —2§(A 19,0" A%) — gAFL0),x; — 5»592[5 xil?

which is :

1 a 12 1 1% a a v
= SAU(=g" O+ (1= )MD]6" — g g A,

3
1 1
+ 5(8;0()2 - §(M” + EggFiaFf)Xin (8.4.46)
where we have rewritten :
1
5 (ma)™ A A (8.4.47)
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as:

1
Ao GPFAFP g Ab (8.4.48)
We now consider the term:
oG
Sab (8.4.49)

our scalar fields have gauge transform( eq 21.30 p739 [9]):
(5(}51 = —a“(:v)ﬂ‘;qﬁj (8.4.50)

as the variation of the field has to cancel the variation of the gauge trans-
formatiom multiplying the field

as (8.4.11):
1
G* = —(0,A™ — egFx;) (8.4.51)
\/E H
The variation is then :
1
0G* = —(0,,0A™" — egFx;) (8.4.52)
\/g H
x and ¢ differ by only a constant so :
oxi = —a(2)T}3¢; (8.4.53)
as stated above (77):
1
JA = —(Dya)? (8.4.54)
g
so: . )
6G* = —(9,~(D,a)* — egF(—al(x) T} ¢, 8.4.55
\/E(,ug(u) (=a’(2)T7;95)) ( )
which is:
1 1
6G* = —=(0,~(Dua)™ + eg(T o) (z) TP (x + ¢0)) (8.4.56)
Ve Ty
replacing the F in terms of T. So:
0G* 1 1
— = —=(9,~ (D)™ T%o).T" 4.
Sob \/5(6“9( W)™ A eg(T¢0).T7 (€ + ¢0)) (8.4.57)
we showed above for the hermitian matrix B (?7):
det(B) = /Dchexp[—/d4xich} (8.4.58)
‘;% is hermitian so following Fadeev and Poppov we get:
0G* -
det((%b) _ / Deeapli / 2L gpost] (8.4.50)
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where ¢ and ¢ are anti-commuting ghost fields and thus this term leads to a
new set of Feynman diagrams for the ghost fields
our :

0G*
Eghost - _Eag\/g (50[b Cb (8460)

where the g/€ is chosen through our normalisation of the fields to give the

succinct expression
S0:

Lohost = —¢"(0,(Dua)® + eg*(T¢0)a’ (2) T (€ + do))c” (8.4.61)

8.5 Feynman Diagrams

We consider here only a few of the feynman diagrams of GWS theory, this
is for the sake of clarity the entire set of feynman diagrams is given in Ap-
pendix B pp509-512 [20]. We consider first the scalar fields from our overall
expression (8.4.46) for the squared terms in the constrained Lagrangian it
is clear that the only part involving the scalar fields is :

1

1
5(3;0()2 - §(Mij + eg? FF)xax; (8.5.1)

which considering (2.2.1) is just a complex scalar field with mass term:
M;j + eg* F{'F}' (8.5.2)

we showed in (8.5.3) that for a normal complex scalar field the propagator
is:
—ih

Gr =
BT ke +m? — e

(8.5.3)

Thus we have the Feynman diagram eq 21.53 p742 [9]:

i e /_(+>
- 2_ ¢ 20T _MAJ2
R FTF-M? | .,

Figure 8.5.1: Propagator for the scalars associated with the constrained

Lagrangian

We now conside the Vector fields we have in (8.4.46) the squared terms :
SA(=g" 0 + (1= O™ — P FE Rl ™) A, (85.4)

which is the propagation term for a vector boson with mass squared term :

G FAFP g™ (8.5.5)
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We found (D.10.49) in that the expression for the massless vector boson is:

—1 kyk
= o — (1= 9730) (8.5.6)

D Fvp (k)

We thefore expect an analogous expression which is a Green’s function of :
(=g + (1= OO = P FEFg”) (35.7)

we postulate that our propagator with down indices in momentum space is

(e (90 — (1L &) ke )™ (8538)
Z—g2FFT \vp K2—¢g?FFT -0,

substiuting for a=b and changing the derivatives to momentum vectors as
we are in momentum space we have (which also picks up a minus sign for
each pair of k’s):

v 1 v v —i kuk
'4w“k1%1—gﬁwﬂ—ﬂhwqf)(P?ﬁﬁﬁ@w‘(L*QWQ?%ﬁw

multiplying out we get:

_ 1 1 (1= kK
v s 2 _ 2 Ty v Sy Ty S S Vit
1
gup(l - 7)]{“]{:”] (8'5'9)

§
which becomes using (1.6.4) :

. 1 1 1-¢
ig" gup + m[(—(k’Q - QQFFT)k“kp +(1- f)kukpk2)]§2££g2p)*FT
- (1- 2);&;@1)] (8.5.10)

which factorises to:

Ktk 1 1_
ilg" gup + m[(_(k@ — g2FFT) +(1— €)k2)k2££gf}2,FT
1
- U=z 8.5.11
U= (85.11)
cancelling k2
- v kHE 1 1—
19" 90 + 13 g2%FT [—(—g?FFT) — ng)kQ(&élFT
1

- (=2 (8.5.12)
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which is :

’i[g“ygl,p + kz_ngFT[_(g )
1
- (1- E)] (8.5.13)
i.e.
19" gup (8.5.14)

which just re-writing the product of g’s is:
o, (8.5.15)

Thus we can denote our vector bosons in GWs theory by the Feynman
diagrams (eq21.54 p743 [9] )
v

u
(AVAVAVAVAVAVAV —i v
-+ :k2_jq12 (9" — kzkfgmz (1-¢)

Figure 8.5.2: Propagator for the vector bosons associated with the con-
strained Lagrangian with have reintroduced tha mass i.e.m = My forZy,=
myy+ for W+ and My =0 for A

To specialise we only consider the muons coupling. we find their general
coupling to the Z° boson and then find their coupling to the Higgs in the
unitary gauge and the coupling of one Higgs boson to two ZY bososns in the
unitary gauge.

Consider (7.7.1). The term involving muons is:

i, Pur + ingPur (8.5.16)

where from (?7?):
g/
D,=0, - ZE(W;T+ + W, T")
g/

3 2 _
cosHWZ”(T sin“Ow Q) —ieA,Q (8.5.17)

- 1

clearly then for both left and right-handed muons interacting with Z,, the
vertex has two muons going in and one Z, coming out and the coefficient
associated with the vertex is recalling (2.3.24) nd that in going from the
Lagrangian to the vertex we pick up a factor -i:

/

9

3 2
p— (T° — sin“Ow Q) (8.5.18)

i
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We know Q the charge is -1 for both fields and that 7% =0 for the right-
handed field as it is a singlet and —% for left-handed muon as it is the bottom

component of the doublet. Recall (7.7.50) to give:
_ 0T 3y sin2oy) (8.5.19)
cosByy sinbyy W e

Thus our required Feynman diagrams are:

—_ ite 1 ) _ iyte i 2
_COSHWS’L'”HW( 2 + s HW) " cosbyy sinfy (SZTL HW)

Figure 8.5.3: Vertex for Left-handed (T = —1) and right-handed fermions (7% =
0) meeting the Z° boson

Recall the term that links Higgs to the Z° (7.7.57) in the unitary gauge:

1 _ 1
L= 5(8“h)2 + [m%VWJW“ + ngZ(ZS)z]( +1)2 (8.5.20)
As we are only considering one Higgs boson coming out the term we want
is:

h(z)

L 5042
§mZ(Zu) [2 ] (8.5.21)
so for two incoming Z° with four-vector indices p and v we have a coefficient
for our vertex proportional to:

—M”% (8.5.22)

where the v*” switches the indices : the exact term is( see Figure 20.6 p716

[9]):

2

21'7“”% (8.5.23)

Thus our relevant Feynan diagram is:
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ZU

- - .m>2
h =27 7UZ gf“/
ZO

Figure 8.5.4: Vertex for two Z° ’s annihilating to make a Higgs boson

Recall the term that links Higgs to the fermions (7.7.83) in the unitary
gauge:
h(z)

—miereh(—2> 4+ 1) + h.c (8.5.24)
v

We will also assume that their is only one generation of leptons so that we

do not have tor worry about their mass mixing matrices so the term we want

1S:
—mffoR[h(vx)] + h.c (8.5.25)

so for two incoming Z° with four-vector indices p and v we have a coefficient
for our vertex proportional to:

.my

1— (8.5.26)

v
the exact term is see Figure 20.6 p716 [9]:
v (8.5.27)
v

Thus our relevant Feynan diagram is:

L———)——h'—' .Mf

Figure 8.5.5: Vertex for two fermions (left or right-handed muons ) annihilating
to make a Higgs boson

We know the Higgs boson is a scalar with mass my in the unitary gauge
therefore it has a propagator given by:
)

_ .5.2
K —ml —ic (8.3.28)

8.6 Calculations for Different Higgs Decay Paths

For simplicity we here ignore the counter term vertices and take diagrams at
one loop level. We ignore the Fadeev-Poppov ghosts and work in the unitary
gauge. We will also assume that their is only one generation of leptons so
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that we do not have tor worry about their mass mixing matrices.The unitary
gauge is £ = oo limit of the R, gauge (8.4.11)( p738 [9] 1127). The explicit
calculation we will do is the terms associated with the Feynman diagrams for
two paths that involve Higgs boson production. The two paths we choose
have the both start and finish with muon They are : Two right-handed
muons become by interacting to make a Higgs Boson two left-handed

Hpip — h— pppug (8.6.1)

which gives the Feynman diagram :

uR-

L m—

Figure 8.6.1: A two right-handed muons exchange a Higgs Boson and emerge as
two right-handed muons

and
two right-handed muons and anti-muons annihilate to each make a Z° which
annihilate to make a Higgs which decays into two Z° that then decay into
left-handed muons and anti-muons

Pl it — Z2°Z° = h — 2°2° - ppppping (8.6.2)

which gives the Feynman diagram

Figure 8.6.2: A two right-handed muons annihilate with their anti-particles to
produce two Z° ’s which annihilate two produce a Higgs Boson which decays into
two Zy’s which decay to two left-handed muons and their anti-particles

Considering figure 8.5.4 in the unitary gauge we see the propagator for the
ZY boson is :

et (8.6.3)



Thus for our first process our by the Feynman rules we get recall section
4.5 we get a term of the form:

S S Z S S
U/JL (p)uuL(p)mvﬂRv#R (864)

and our second process gets a term of the form:

—1

=, (p)uy, 1, (p);,, (p) (P)WQW (8.6.5)
—1i uy i —1 uv —1 uv, .S S =S —S
ozt Eml i —m? Romz? tm (P)v, P, (P)T, (P)

These can then be manipulated to get the transition amplitude

8.7 Summary

In this chapter we have considered the Decay paths of the Higgs as the way in
which it it most likely to be detected and considered its possible detectetion
at the LHC. we have then introduced Grassman numbers and used these to
introduce the concept of Fadeev-Poppov ghosts which are needed for gauge
invariance. Finally we have introduced some of the Feynman diagrams in
unitary gauge and used these to do a sample calculation
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Chapter 9

Conclusion

In this report we have studied the Higgs mechanism as an important aspect
of quantum field theory and an integral part of the standard model. Al-
though the main justification for studying the Higgs mechanism is that it
provides a way of giving the vector bosons that carry the weak force masses
(a phenomena seen in experiments ) whilst allowing the theory to be renor-
malisable, it is also heavily involved in the formulation of the GWS model
which is believed to deacribe the weak force.

Initially we begin by introducing the basics of a quantum field theory. Specif-
ically we introduce the three typesof fields needed for our model (scalar,
vector and Dirac fields) . We then introduce the two most common ways of
quantising a theory path integral formalism and the path integral formal-
ism. Finally we introduce the idea of an interacting field as a pertubation
on the exact solutions we have found for our fields using the LSZ formula to
calculate the relation between the perturbed and unperturbed fields and In-
trodusing the Feynman diagrams as a diagramatic way of working out terms
in our expansion.We also introduced conserved currents which are important
as many theories are now formulated by taking all possible interactions that
are allowed by gauge invariance and the conservation of certain quantities.

We then gave a basic view of renormalisation, this is important as a the-
ory being renormalisable means that we can draw Feynman diagrams with
counter-term vertices in such a way that they are nomn-divergent and thus
give physically sensible results at all orders. Renormalisability is also a con-
straint that we apply to our lagrangian to exclude explicit vector boson mass
terms which is the reason for the Higgs mechanism.

We then described spontaneous symmetry breaking as a prelude to the sym-

metry breaking required for the Higgs mechanism. We then discussed the
idea of a gauge invariant theory giving both an abelian U(1) and non-abelian
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SU(2) example and highlighting QED as an example of a gauge theory which
is known to give accurate real world predictions. Finally we defined left and
right-handed fermions which is necessary due to nature’s asymmetry with
handiness.Upto this point the material is completely general in that it is
chosen for its use for describing the Higgs mechanism but is fundamental
for any understanding of quantum field theory.

We then introduced the Higgs mechanism in the context of GWS theory.
we specifically showed how if we take the QED lagrangian and add on a
negative minimum self-interacting propagating scalar field then invariance
under SU(2) and U(1) transforms allows us to re-write the theory in terms
of combined bosons which acquire mass and can be identified with the weak
force gauge bosons. We also showed how manipulation of this lagrangian
leads to a mass term for the scalar field which in unitary gauge becomes the
Higgs boson and can give mass to the fermions. The mass terms that we
acquired are all related to our vacuum expectation value.

We then attempted to link the hypothetical Higgs boson to obtainable ex-
perimental results.We discussed the idea of higgs boson decay and identified
decay paths as a way of identifying its existence we then linked this with
the experimental efforts at the LHC.

Our final part was to ltry and formulate Feynman rules that would allow us
to make calculations. We defined Grassmann numbers and used these to in-
troduce gauge fixing by the Fadeev-Poppov method another technique that
has general applications. Having found the gauge constrained Lagrangians
we gave an example of how to find the propagators for the scalars and vector
bososns in any gauge along with one of their vertices as well as giving Higgs
boson vertices and propagators in the unitary gauge. We concluded with a
sample caluculation.

In conclusion although this project focuses on the Higgs mechanism it is
useful in general as it covers many general field theory techniques and in-
troduces most of the methods needded to cover the standard model up to
the strong force. This project could be extended by inclusion of the strong
force or by looking beyond the standard model. We also note that the single
Higgs boson is just the simplest standard model way of producing the Higgs
mechanism and there could in fact be a Higgs sector see p717 [9]
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Appendix A

Appendix A : Chapter 1

A.1 det(AB) =det(A) det (B)

We consider only 2 x 2 matrices let :

A= (“1 a2> (A.1.1)
a3 as
SO :
det(A) = ajaq — agas (A.1.2)
(b1 b
po(n B i
SO :
det(B) = b1b4 — b2b3 (A.1.4)
ap az\ (b1 b2 a1by + azbz  aibs + agby
AB = = A.l5
(as a4) <b3 b4> <a361 +asbz  agbs + asby ( )
S0
det(AB) = (a1b1 + azbg)(ang + a4b4) — (albz + agb4)(agbl + a4b3)
= aragbiby + arbiasbs 4 azsazbsba + asasbsby
— a1a3b1b2 — a1a4b2b3 — a2a3b1b4 — a2a4b3b4
= albla4b4 + a2a3b3b2 — a1a4b263 — a2a3b1b4 (A.1.6)
det(A)det(B) = (ajaq — agasz)(biby — babs)
= aja4b1by + azazbabs — asasbiby — ajasbabs(A.1.7)
SO :

det(AB) = det(A)det(B) (A.1.8)
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A.2 elements of R are real

Recall the generic transform (1.3.9):

-2+ a b -z T+ zy —b

(1?’ _ Zy/ Z/ - >|< CL* T — zy b* a <A21)
A AN a b\ [—za*+ b* (x +iy) zb+ alx +iy)

' — iy 2 \=b* a* b*z+a*(x —iy) —blx —iy)az

We get four equations:

1)—2" = —z(aa* — bb* + x(ab* + ba™) + yi(ab* — ba*)

2)x" + iy’ = 2abz + (a® — b*)z +i(a? + b?)y

3)$/ o Zy/ — 2a*b*2 + (—b*2 + a*Z)x + —i(b*2 + a*2)y

4)z" — z(aa* — bb* — x(ab* + ba™) + yi(—ab* + ba*)

summing 2) and 3) and division by 2 gives:

2 *2 _ 712 _ p%2 2 _ %2 2 _ px2
(a*+a b*—b ):n—l—i(a a**+b°—b )y (A.2.2)

= (ab+a™b*
(ab+a*b*)z+ 5 5

summing i 3) and -i 2) and division by 2 gives:

(a? — a*? — b? + b*?)

y = —i(ab—a*b*)z+ —i 5 x
2 *2 2 *2
+ +b2+0
, @t . )y (A.2.3)
This implies the matrix equation:
$/ (a2+a*2—b2—b*2) Z-(a2—a*2+b2—b*2) (ab + a*b*) "
2
y/ — _Z_(a27a*%27b2+b*2) ((l +a*2+b2+b*2) _Z(ab _ a*b*) y
7 (—b*a — a*b) i(ba* —ab*)  (=bb* +aa*) ) \Z
(A.2.4)
So generally:
(a2+a*2;b2_b*2) (a —a*2+b2 b*Q) (ab + a*b*)
R= _i(aQ—a*2;b2+b*2) (a2+a*2—2i-b2+b*2) —i(ab — a*b¥) (A.2.5)
(—=b*a — a*b) i(ba* — ab*) (—bb* + aa*)
writing :
a = aj-+tias
a* = a; —ia9
b = b +ib
b* = by —iby (A.2.6)
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with aq,a9,b1,b0 € R

a® = a? —dd+ 2iajas
a? = a? —d - 2iajas

This means :
a?+a*?=2a?—ad) eR

a2 — a*® = diajas

which is purely imaginary and similarly for b
Thus:

(CL2 + a*? _ b2 _ b*2) (a2 4 a*2 + b2 4 b*?)

2 ’ 2

(CL2 _ (l*2 + b2 — b*2)
2

is purely imaginary so:

i(a2 _ a*2 + b2 _ b*2)

R
5 €

for any complex number c :
cc* =|c|’eR
SO :
(—=bb* +aa*) €R

ab = (a*b")
ab®* = (ab*)*

for a generic complex number:
c=c1+1co c1,c3 € R
with conjugate:
c=c1 —icy
c+c" =21 R
c—c* = 2icy

is imaginary
So
(ab+ a*b*),(=b"a —a*b) € R
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(A.2.10)

(A.2.11)

(A.2.12)

(A.2.13)

(A.2.14)

(A.2.15)
(A.2.16)

(A.2.17)

(A.2.18)
(A.2.19)
(A.2.20)

(A.2.21)



and :
(ab—a*b"), (ba™ — ab*) (A.2.22)

are imaginary
Thus:
i(ab—a*b*),i(ba* —ab*) € R (A.2.23)

Thus all elements of R are real

A.3 Properties of Hermitian Operators

let A be hermitian and | n1),| ny) be eigenstates with eigenvalues ny,ny
respectively

((n2 | Alna)" = (n1 | AT n2) = (n1 | A | no) (A.3.1)

0 = ((n2| An1)" — (n1|A|n)

= (n1(n2 | n1))" — na(ny | no)

= (0] —na)(n1 | na) (A.3.2)

the case:

| n2) =| n1) (A.3.3)
gives:

ny — n]; =0 (A.3.4)
i.e nq real .
If ny # no

(n1 | ng) =0 (A.3.5)

so the two eigenvectors are orthogonal
The Proof of linear independence means that we can a space with the same
number of dimensions that we have degenerate eigenvectors

A.4 The Harmonic Oscillator in Quantum Mechan-

1CS
. P21 .
H=_—+ -muw? A4l
5 T 5w @ (A.4.1)
IA;T is the hamiltonian operator
P is the momentum operator
Q is the position operator
H|n)=E,|n) (A.4.2)
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where E,, is the energy eigenvalue associated with the eigenvector | n)

the annihilation operator is defined as:

1
AoV2

Ao

) +ip
Q =)

a =

with Ay = /-

mw

the creation operator is defined as:

o 1 Q _ 1/ )\0 A~
AoV2 hv2

af

since (1.5.6) :

rearranging gives:

N N 1-
H = hw(N + 1)

(A.4.3)

(A.4.4)

(A.4.5)

(A.4.6)

(A.4.7)

(A.4.8)

(A.4.9)

this implies that any eigenvalue of N is automatically an eigenvalue of H
since I merely adds a constant to the eigenvalue of NV , as the identity matrix

takes any vector to itself
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We want to show:

This is:

ﬁ(PQ -PQ) = I
—|P = 1
7?[ Q)
1 A A ~
——|Q,P| = 1
16,7
which is true since by (1.5.6):
[Q, P] =ikl

We want to show a | n) is an eigenvector of N
Na | n) =aa'a|n)

as [a,a] = I (A.4.10) we get:

This means (A.4.15) becomes:

(@aat =) |n) = a(N—1)|n)
= a(n—1)|n)

Q>

(A.4.10)

(A.4.11)

(A.4.12)

(A.4.13)

(A.4.14)

(A.4.15)

(A.4.16)

(A.4.17)

as N | n) = n | n) by definition in the last line, rearrangement then gives:

Né|n)=(n—1)a|n)

(A.4.18)

therefore a | n) is an eigenvalue of N with eigenvalue n-1 since the eigenval-

ues of N are unique by its construction as a hermitian matrix:

a|n)yx|n—1)
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the constant of proportionality is equal to the modulus of the vector i.e .:
(n]ata|n) (A.4.20)
(n|ata|n)=(n|aat —1I|n) (A.4.21)
c.f above (A.4.16) Using the definition of N (A.4.5)

mldfalny = (| N—Ilnp=(nln—1|n)=(n—1)n|n
= n—1 (A.4.22)
as (n | n) =1 as | n) are orthonormal

thus:

a|ln)y=vn—-1|n-1) (A.4.23)

We want to show af | n) is an eigenvector of N using the definition of N
(A.4.5) we get:

Na' | n) = aatal | n) (A.4.24)
(A.4.10)[a,at]) = I gives:
aal =ata+ 1 (A.4.25)
Thus (A.4.24) gives:
(afa+ Dal|n) = af(N+1)]|n)

= d'(n+1)|n)y=m+1a" |n) (A.4.26)

where we use the definition N | n) = n | n) and that operators commute
with constants in the last line. therefore af | n) is an eigenvalue of N with
eigenvalue n+1 since the eigenvalues of N are unique by its construction as
a hermitian matrix:

al | n) oc| A +1) (A.4.27)

the constant of proportionality is equal to the modulus of the vector i.e :

(n]aat | n) (A.4.28)
(n|aa'|n) = <”|]\:7|n>
= (n[N[n)=(n|n|n)=mnn|n)
= n (A.4.29)

as (n | n) =1 as | n) are orthonormal
thus:
al |n)=+vn|n+1) (A.4.30)
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A.5 Pauli Spin Matrices

We want to show (1.5.7)

olod = ik gk
0102_01 O—i_iO_il
“\1 0 i 0) \0o —i/ “\0 —1
which is olo? = io3 as €2 =1

()6 -6

which is olo3 = —io? as €132 = —1
21 (0 =i\ (0 1\ _ (=i 0\_ (1
79 =\ o)W1 o) " \o i) "o
which is 020! = —ig3 as 213 = —1
0 —2 1 O 0 =2 0
2 3 _ _ _
79 _<z 0)(0 —1)‘(@ 0)‘2(1

which is 0203 = io! as 23! = 1

s (L 0N (0 1Y _(0 1y_ (0
79 =0 —1)\1 o) " \=1 0) 7"\
31 2 3121

which is 00" = 10° as €’ =

10\ [0 —i 0 —i
3.2 _ — — 4
o=l 50 0= )
3.2 1 321

which is 0°0“ = —i0" as €+ = —1

so as required oo = ielkgh

{ai,aj} =olod + ol = iak(ﬁijk + ejik) =0

as €% = —€l™* by the anti-symmetry of epsilon

We want to show (1.5.10):

ottt = g0
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(A5.1)

(A5.2)

(A.5.3)

(A.5.4)

(A.5.5)

(A.5.6)

(A.5.7)

(A.5.8)

(A.5.9)



s +ion = 31 o)+ (& o) =310 5
= ()
s =i = 51 o)~ (& o)=31 o
- ()
gt 2 dimensonat ot (* %) can o weiin
~((a+d)o® + (b+c)o! +i(b—c)o? + (a — d)o®)
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(A.5.14)

(A.5.15)

(A.5.16)

(A.5.17)

(A.5.18)

(A.5.19)



A.6 Proofthat V x Va =0

for any potential a

6& = (amvayvaz)
6 X 6(1 — (azy - ayz7a:r:z - aZCC7a’yCC - aﬂcy) = O

if all partial derivatives commute

1 —

A.7 Proof that V.V x (C =0

for any vector C'
C = (c1,¢2,¢3)
V x C = (e3y — €2z, C12 — €33, Cop — Cly)
V.V x(C= C3yz — C2zx + Clzy — C3zy + C2zz — Clyz = 0

if all partial derivatives commute

A.8 Proofthat VxV xA=VV.A—V2A

for any vector A = (a1, a9, as)

62/_{ = (alx:c + G1yy + A1z, Q220 + Q2yy + A222, Q320 + A3yy + (1322) (A81)

V.A = ay, + azy + asy

(A.8.2)

66/_( = (almx + G2yxr + A3z, Q1ay + Q2yy + A32y, Alzz + A2y + a3zz) <A83)

V VA-V?A=

(A.8.4)

( A2y + a3zz — Alyy — Alzz, Alzy + A3zy — Q2xx — A2zz, Alxz + a2y — A3gx — a3yy)

VxA= (a3y — A2z,A1z — A3z, A2z — aly)

—

V xVxA

(A.8.5)

(A.8.6)

= (a2:cy — Qlyy — Olzz + G332, A3yz — 022z — G2zz + Qlyz, Qlzz — A3zz — A3yy + a22y)

soVXxVxA=VV.A-V24 if partial derivatives commute
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A.9 Converting Maxwell’s Equations into Vector

, Potential Form

Recall (1.7.1) and (1.7.4)

VE=L
€0
L . OF
V x B = puoJ ——
X o + Lo€o ot
Use: R
- - o — - A
B:VanndE:_ng_a—
ot
(1.7.1) becomes:
. = 0A
V(Vo-T) = L
. o - -
— 2 [ — — -
V<o 8t<v' ) -
which by rearrangment is:
9 o 7 p
2 — P —
Vo + 3t(v ) o«
(1.7.4) becomes:
e )
V x (V x A) = pod + poco 5 ot
Recall
Ho€o = —
and from Appendix A8 that:
VXxVxA=VV.A-V2A
We get the equation:
A—-V?A = - =V—=4 —
VVA=VA= 0] = 5V + 5e)
Rearranging gives:
L, 1024 o o ¢ .
2
- = — A+ 5—) =
( 2 92 ) V(V 2 8t) NOJ
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(A.9.1)

(A.9.2)

(A.9.3)

(A.9.4)

(A.9.5)

(A.9.6)

(A.9.7)

(A.9.8)

(A.9.9)



A.10 OA* = ,LL()J“

In Lorenz gauge :

VA C—QE—O

the two Maxwell’s equations (1.7.7) , (1.7.8) become:

=9 182¢_ P

C2 8t2 N €0
o - 1 09%4 >
2 _
VA= zge = H
(A.10.2) becomes :
NE 10° 2

using:p€eg = C%
dividing by c gives:

with :

=lagm -
and thus we get:

OA* = ,LL[)JM

A.11 Components of I3

Recall (1.7.13):
Fop = 0aAs — 0344

interchanging indices we get:

Fgo = 05A0 — OnAs = —Fap

(A.10.1)

(A.10.2)

(A.10.3)

(A.10.4)

(A.10.5)

(A.10.6)

(A.10.7)

(A.10.8)

(A.11.1)

(A.11.2)

this means we need only consider F’s where o < 3 as the cases a > £ will

just be the negatives of these. If both the indices are the same:

Foo = 00Aq — 00A0 =0
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so it remains to find the cases with p < v i.e.:
Fou, Foz, Fo3, Fi2, Fi3, Fa3
Our first component is:

F01 = 80141 — 61140 (A.11.4)

this becomes using the four derivatives and four vector form of A:

10 a ,¢
Foo=——-—74,— —(—- A1
01 cot (9:1:(0) (A-11.5)
using E = —§¢ — %ff we get:
Ey
Fo = — (A.11.6)
Our second component is :
Fy = 80A2 — 62140 (A117)

this becomes using the four derivatives and four vector form of A:

10 0 ¢
Foo=—-=A,— —(— A.11.
02 cot™? 8y( c) ( 8)
using E = —ﬁd) — anT we get:
E
Fpo=- (A.11.9)
c
Our third component is :
F()3 = 80143 — 83A0 (AlllO)

this becomes using the four derivatives and four vector form of A:

10 0 ¢
Fos=——-—A,—— (= 1.
03 c Ot az(c) (A-1L.11)
using E = —ﬁ(b — %ff we get:
E,
Fos=— (A.11.12)
c
Our fourth component is:
Fig = 0145 — 024 (A.11.13)
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this becomes using the four derivatives and four vector form of A:

0 0

Flo=——A,+—A A11.14
12 oy + oy ( )
using B=V x A we get:
Fi2=-B, (A.11.15)
Our fifth component is:
F13 = 81A3 — 83./41 (A.11.16)
this becomes using the four derivatives and four vector form of A:
0 0
Fls=——A,+—A A1l
13 O z T Oz T ( 7)
using B=V x A we get:
Fis = B, (A.11.18)
Our sixth component is:
Fos = 82143 — 63142 (Alllg)

this becomes using the four derivatives and four vector form of A:

0 0
F23 = —7AZ + %

A.11.
3y Ay ( 20)

using B=V x A we get:

Fy3 = —B, (A.11.21)
Thus we get :

FM = (A.11.22)
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A.12  F* from Fp

P = gha Faggﬁ”
1 0 0 0 0o L L
o -1 0 o E= 0 -B,
~ oo -1 0 BB, 0
0 0 0 -1 E. _B, B,
1 0 0 0
L |0 -1 0 0
0 0 -1 0
0 0 0 -1
1 0 0 0 0 -E &
(o -1 0o o £= 0 B,
~ o o -1 0 T - M |
— b,
0 0 0 -1 E. B, -B,
Ey E E.
0 -7 -2 —=
_ i? 0 -B, B,
% B, 0 -B,
£ B, B, 0
A.13 F™
PHVP — _ HHVp
by swapping p's. This implies:
2P = ()

by analogue if any two indices of € are the same it vanishes
hence :

- 1
Fous §6mwp F,,=0

R — EE#VPUF — _levupop — _fvH
2 7 2 7
as
Foo = —Fy5p
ignoring summation:
PO F,e = P Fy,
So:
1

2 vpo
5 € Fyy
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(A.12.1)

(A.13.1)

(A.13.2)

(A.13.3)

(A.13.4)

(A.13.5)

(A.13.6)

(A.13.7)



with summation gives :
PO F g (A.13.8)

without summation. This is because with pu and v fixed because of the
epstlon there are only two terms in the summation which are permutations
of p and ¢ and since permutating the epsilon picks up one minus sign and
permutintg the F picks up another minus sign and thus the two permutations
are the same . This means that we need only consider six forms of F*” i.e. :
FOL f02 p03 p12 [13 23 We recall the components of F#¥ from Appendix
All:

Ol = B8R, — _Fy =B, (A.13.9)
2 = O2B8p, = F3=B, (A.13.10)
F% = 2R, = _Fy =B, (A.13.11)
- E
F12 == 61203F03 == —F03 == (A1312)
C
N E
F13 == 61302F02 == F02 == = (A1313)
C
. E
F2B = BIR = Fy=-——2 (A.13.14)
C

which gives:

ICES (A.13.15)

A.14 Maxwell’s equation in F*’ F*” Notation

We consider (1.7.22):

= juoJ” (A.14.1)

Consider the case
B=0
(1.7.22) becomes:

aFOO 8F10 8F20 6F30

_ 0
020 + Ox! + Ox2 + Ox3 = toJ (A.14.2)

from above Appendix A12 F% =0, 10 = %, F20 = %, F30 = % and the
time component of J = ¢p so we get:
9 B, 0

9 Ey Y E.. _
5+ ay(7)+$(7) = Hocp (A.14.3)
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which becomes:
V.E = uop (A.14.4)

1

which is:
€0/L0 el s

using ¢ =

VE=" (A.14.5)
€0

Consider the case
B8=1
(1.7.22) becomes:

8F01 aFll 8F21 8F31
00 Ozl 0z ox3

from above Appendix A12 FO = — £ pll — 0 p2' = B, 3 = —B,
which means

= poJ! (A.14.6)

10E, 0O 0
This is: .
- o - OF
(V X B = pugJ + Moeoa)x (A.14.8)
Consider the case: [ =2
(1.7.22) becomes:
OFY QF'? 9F*  QF% 2
920 + 971 + 972 + 923 Lo (A.14.9)

from above Appendix A12 F02 = —%, F12=_B, F? =0,F% =B,
using this we have:

10 F 0 0
72&% *%Bz‘i“@Bz = oy (A.14.10)
which is: .
- o - OF
(V X B = pod + /LoEOE)y (A1411)
Consider the case: =3
(1.7.22) becomes:
aFOIS 8F13 8F23 6F33
50 T o T 57 T 5 poJ? (A.14.12)

from above Appendix A12 :F03 = —E= pl3 — By,F23 = —B,,F3 =0
using this we have:



This is:

. - OE
(VX B = pod + poco5,)-

Thus we have the first two maxwell equation (1.7.1) and (1.7.4)

Recall (1.7.20): )
OFs

oz

Consider the case:
=0
(1.7.20)becomes:

8F00 N 8F10 N 8F20 N 8F30
020 Ox! Ox? Ox3

=0

(A.14.14)

(A.14.15)

(A.14.16)

from above Appendix A12 F% =0, F10 = —B, F?0 = —By, F3 = B,

Using this we get:

<
ol

=0

Consider the case:
=1
(1.7.20)becomes:

aﬁv()l N aﬁvll N aﬁle N 8F31
OzY ozt 0z? 0z3

=0

(A.14.17)

(A.14.18)

from above Appendix A12 FOL — Bm,ﬁ’n = O,Fﬂ = %,F?’l = —%

Thus we get:
0 0 F 0 F
— (B, e — A
815( )+ dy ¢ 0z c¢
which implies:
]
E=—),
(V x 5 )

Consider the case:
=2
(1.7.20)becomes:

8F02 815112 8F22 8F32
0z0 + Ozl + 0x? + ox3

=0

(A.14.19)

(A.14.20)

(A.14.21)

from above Appendix A12 F02 = By, F12 — —%, F2 = F32 = %

8B 0 E,

0 (By) - 2 2
ot~ Y Jr c

0z ¢
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(VxE=-2), (A.14.23)

Consider the case:
8=3
(1.7.20)becomes:

aFO?) N 8}?13 N 8F~v23 N 8F33
0z0 ozl 0z? oz3

=0 (A.14.24)

from above Appendix A12 F% = B, F13 = %,FW’ = —%,F&g’ =0
we get:

0 0 FE 0 E

— (B, — 4 = A.14.2

8t( )+ or c dy ¢ ( )
(Vx E = _%?)Z (A.14.26)

This gives the other two Maxwell equations (1.7.2) , (1.7.3)

A.15 Showing The Maxwell Lagrangian gives the
Equation of Motion

Recall (1.7.21) :

-1
L=—F"FF,;— A,J" A15.1
e 8 ( )
Euler-lagrange equation gives:
oL oL
) — =0 A.15.2
This becomes Y
=-J° A.15.
oA, J (A.15.3)
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We also have:

8£ o ;1 8<F,u,yg'u)\gyaF)\o')
a(aﬁAa) 4po a(aﬂAa)
- ;1 72\ vo( OF o OF Fy)

ape? T 905A0) T 0(05Aa)

~1 0(0zAy)  0(0,A),  0(0,A,)  9(D,A,)

— T pA o 5 _ 4 _ Fy
i 56,4, T 0054 T 00,40 ~ 0(85A0) )
1
= 9 (o 010 — 865) + B (0305 = 975)
1
— _TM[FAU(gﬁAgaU _ ga/\gﬁcr) + Fluy(g,uﬂgya _ g,uaguﬁ)]
_ 2FP 2P
B 410
Ba
_ _Z (A.15.4)
0
(A.15.3) rearranges to:
oL oL
= A.15.
Plo0a0) ~ 94, (8.155)
which means:
Fhe
85[—7] = -J* (A.15.6)
Ho
ie. : 5
oFPe o

which is the equation of motion above (1.7.22)
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Appendix B

Appendix B : Chapter 2

B.1 Complex Scalar Field Obeys Klein-Gordon equa-
tion

Consider the complex scalar field Lagrangian (2.2.1)

L= 20,6 (@) 0(a) — ym" (2)o() (B.1.1)

The action is the four integral of the Lagrangian density (2.1.5) :

S = /d4x£ (B.1.2)
We know the variation of the action is 0 i.e.:
05 =0 (B.1.3)

Considering the two fields (¢, ¢*) as different and varying with respect to
these two fields:

68 = /d4 —(M) 5¢*5d> ()] (B.1.4)

by analogue with the real scalar case (2.1.7) we get :

/ BTMILLAL 8% 0T = 9) g 4% () — m2e (@) (e — 1))56(y)

064 (x — %

& W oroa) — m2o(@)ia oo @)  (B.L5)
We consider only the second part as we want the equation for ¢ the two
terms can be considered as both equal to zero as ¢ and ¢* are treated as
different terms.

so we have:

Ay
[ e 0o(0) — mole)ste — )66 ) =0 (B.16)

+
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where we have cancelled the % as both sides are equal to zero

We integrate the first term by parts and ignore the constant term as 9" ¢(x)
should go to zero at the boundaries.

This gives:

[ a8~ )0,0"6() — mPo(a)ia ~ )56 () =0 (BLT)

We take out:

—Mx —y) (B.1.8)
to give:
[ 0(0,0"6() + m?o(a)) - 8 - 4)60" (5) =0 (B.1.9)
using the delta we get :
(00" () +m*¢(y)) — 69" (y) = 0 (B.1.10)
ignoring the factor —d¢*(y) as both sides are zero we get:
00" d(y) +m>p(y) = 0 (B.1.11)

which is the Klein-Gordan equation (2.1.11)

—

B.2 Deriving a(k) and b(k)
Recall (2.2.6) , (2.2.7) , (2.2.8) , (2.2.9) :

&’k ik F—iw * (TN, —ik.Tiw

* d*k * (T —ik. Eiw ik Z—iw
$*(z) = /(%(a (R)eiFationt | p(F)eika—ionty (B2.2)

)3/ 2wy
m(z) = ¢"(x)
-/ (337:;3\/?<i><a*(/%'>e—i"f'~f‘+w—b(/Z)e“?f—Wkt) (B.2.3)
™ (x) = ¢(x)

dgk Wk . ™ ik F—iw * T\ —ik.Z+iw
- / @mp | g k)t T b (ke B .2.4)

Multiplying ¢(x) by @ and 7*(z) by \/L to get the same factor of a for

Wi
both and a relative minus sign between the b* factors i.e.:

d3k I o o
Voo = | Sy (AR T b (eI (B.2.5)

— ¢k 1 o * (1) p—ik.Z+iw
(x) = /W2(a(k‘)ek' e (F)e Rt (1.2.6)
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summing these gives :

W . R o i it
s — - k) etk-T—iwg b (k ik.Z41wy
o)+ =r@) = [ G (a@et I e )
1 o 7L = L
+ §(a(k,)ezk.x—zwkt _ b*(k,)e—zk.x—l—zwkt) (B27)
This simplifies to :
Wi 7 % d3,1{; - E Fiwont
bt _ = k)R ik B.2.8
3o+ Z=r@) = [ galh (B.23)
Fourier transforming gives :
AT 3 [ Wk i * —ik.Ztiwgt
Multiplying ¢*(z) by @ and m(z) by \/zsz to get the same factor of b for

both and a relative minus sign between the a* factors i.e.:

3 R .
\/?Cb*(x) = /dk(a*(E)e_ik'£+i“kt—i—b(l;)eik'f_w’“t) (B.2.10)

2(2m)3
i 3k 1 e ma o ra
_ (—a*(k —ik. Z+iwgt bk —ik. 241wy, 211
=) = [ Gy +b(F)e R 2.11)

summing these we get:

Wk |« i Prk1 e R w (TN, —ik.F+iw
?qb (x) + m(x) = /(2w)32(b(l€)ek g ¥ (k)e R E iRty

=

(Q(E)eik.m—iwkt . b(E)e—iE.f+iwkt) (B212)

This simplifies to:

Wk 4 i Bk o i ot
— = B B.2.1
V50 @+ =rta) = [ s (B.213)
Fourier transforming gives :
b(F) = / Py L (@) + ﬂ%kw(:c))e—“?-fwkt (B.2.14)
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B.3 Commutator Relations of @& and b

We now recall , and their conjugate transposes:

a(k)

/d?’x( ?kgzg(x) +

/ Py (x) - L a(a))efiiot  (B39)

#t(z))e ket (B.3.1)
W

/ Pa(y /(@) + mfr(x))e—i’?ﬂw (B.3.3)

/ (/2 (x) - \/;TkﬁT(x))eiE'f_iwkt (B.3.4)

We consider the commutator of a and its conjugete transpose:

[a(k), a' (k)

Recall (2.2.12):

([ aaly) o) + =l @iy
(/ dsm/( W ¢T( ) 22%/ﬁ(x/))eil?.f’—iwk,t)
(/ d3x/( %&L(w/) _ ﬁ(x’))eikl'f/_iwk’t)

\ 2wy
d3:U ,/%é (x)

fefufFonnponn

x )e—ilg.f-i-iwkt)

(A)k/

(/59" = \/mﬂ(x))

( wk'é*( ) - \/Q%C/fr(x’))

( ¢>() \/%ﬁT(x)))e(Elf";-ﬂ(wkw;)t)
[ [ @ ), by
o (0, )

i [wg .
2\/;[¢<x>m<x>]

W 2t (k& — k.24 (wp— wy)t)
+ 5o F@.6' ))e" (B.3.5)
[6(t, ), 7 (', )] == 1h6®) (Z — &) (B3.6)

152



transposing and conjugating gives:
(07 (t, ), 7T (¢, &)=y = i8S (& — 7 (B.3.7)

the ordering exchange imposed by transposing the elements cancels the -1
from conjugating the i
using the Dirac pescription:

[6(,2), & (8, @) ]omr = [(6,2), 71 (1, )] = 0 (B3.8)

This means (B.3.5)

a(R),at(7)] = / Te / (2 [ 5O (& - 7))

2\ wyr

n . /ka(_mé(g)(f_f/)))ei(ﬁ/.fuk‘.m(wkw;c)t)

2V w
1 |w 1 Jwpr i iy = /
_ 3. k - K\ i((K'—k).Z+(wr—w )B
h/d 213(2 Wi! * 2 Wi )e k( '3‘9)

Thus using the fourier definition of the three-dimensional delta (1.2.12):

[a(k),af (k)] = (2m)3h6% (k — k) (B.3.10)
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We consider the commutator of a and its conjugate transpose:

[b(k), b1 (k) = ( / da(\ |50 @) + \/;Tkﬁ(x))e—i'?fﬂwkt)
X (/d?’;(;/( wk'¢( N — \/Qidﬁﬁ’r(x/))eilg’.f’—iwk/t)

_ (/d%’( wk’¢( N - ;;dklﬁ_f(x/))eil}".f’iwk/t>
< (f d3a:<\/7<£*<w>+ '

- Joefo5e

x))efilg.er’iwkt)

iz il L (!
MG o (2))(/ %) — No (7))
— Wk ¢ At

(/5 o) - No (7))

- (x) ) )] ei(k’ T —k. B4 (wg—wys )t)

@)+

- /d3 [ @), o)

[7r(2), 71 (a")]

wm
- 2\/“7’ $1(@), 71 ()]
b o @) e E e @)

using the Dirac prescription to give:
(0" (2), (a")i=er = [F(x), 71 (@) = O (B.3.12)

(67 (2), 7" (@))i=vr = [(@), 7 (@)1= = ih6*(& — T') (B.3.13)
So (B.3.11) becomes:

BR), BT (F) = /d3 /d3 (g 2 ihs*(7 - 7)
+ 5 / [ lh53( —»/)]ei(lg’.f’—lg;v—&-(wk wyr )t)
— d3 Wk: z(k’ ). Z+(wp— wyr )t (B314)
wk/
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Then using the fourier definition of the three dimensional delta (1.2.12) we
get: R L
[b(k), bl (k)] = (27)2ho® (k — k) (B.3.15)

clearly for any operator p :
[p. 5] = pp — pp =0 (B.3.16)
a(R), (k)] = [b(E), b)) = [af (8, al ()] = B, 1) =0 (B.3.17)

The commutator of a with b is:
~ArTN 170 3 WEk »
@) = ([ () b)
“r 4 i —iR & iy
x / ([ L3 ) + mw(m’))e Py

_ d3 \/7 ¢T

1 x))e—iE.f+iwkt)

)efiﬁ.f+iwkt)

X ( (;ﬁ( ) \/Tﬁ-T(x))efzszrzwkt)
= /d3 /d3 / \/>¢ )

Wi’
x ¢T( )+ \/mﬂ'(x )

Wi i L,
- (( ¢T( ")+ \/mﬂ'(a: )
x ¢( )+ \/QZ—kaT(x)))}el(—’?-f’—’?ﬂ(wwwk/)t)
} /d3 [ P 660,61
- 2m[ f(a), 7 (a")]

i [wg o

gy g P )
+ i wr [ﬁf(x),gZST(:p’)]]ei(—’;'-f'—’;“(wﬁww)t) (B.3.18)

2\ wi

using from the Dirac prescription :

[61(2), d(a)]s—p = [7(2), 7 (&) ]s=p = 0 (B.3.19)
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(6 (2), 71 (2)]i— = [d(2), #(x)]s—p = ih6*(& — &) (B.3.20)

a(R),b(iy] = / e / B/ ( \/f [ih8(7 — 7) (B.3.21)

_ We! o i(— ha ,_kﬂf"r(wk-‘rwk/)t)
o[ ins( - e
= h/d%(— el I wk/)ei(*(E’.+lZ).f+(UJk+wk/)t)
2 Wit Wk

Then using the fourier definition of the three dimensional delta and realising
the sum in brackets no longer depends on k K , Wk, Wy but just on the ratio
between wy and wys which depend only on k:2 which is the same for k and
—k

we have:
[a(R), b(R)] = 0 (B.3.22)
generally
@ (R), b (7)) = (B, a(R))' (B.3.23)
Thus:
[af (k),bT (K] = 0 (B.3.24)
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The commutator of a with the conjugate transpose for b is:

la(k), bl (k)] = (/dsx( %QB(@JF \/;Tkﬁ-T(x))eiE.f+iwkt)

([l [ - @)

vV 2wk

(/fm W a) ot (a')) it

V2o
X (G0 + e R

=‘ﬁﬁ/f%<”m> S=#i(@)

x w>—7%7ﬂw

using : ) A
(61 (@), v = (). 71 (@Yo = 0

Using the Dirac procedure the analogue of :

[0 (%), 7 (x)]

® Op*0q  JqOp*
tha) = dp g Op g
So:
61 (x), #(x')] = 0
and as :

[r1(x), 6(x)] = ([¢!(x), 7(x)])}
6 (%), 7(x)] =0
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Thus:

[a(k), bt (K)] =0 (B.3.32)
and
bt (K, a(k)] = —[a(k),bT (K] =0 (B.3.33)
[af(k),b(K)] = [bT (K, a(k)]T =0 (B.3.34)
[a(k), b (k)] = [af (k),b(K")] = 0 (B.3.35)
B.4 [a,b]f = [bf,al]
[a,b]t = (ab)t — (ba)t = bfal — afo! = [bf, af) (B.4.1)

B.5 The Hamiltonian for the Complex Scalar Field

Recall (2.1.13):

- / Ao+ (@ (x) — L) (B.5.1)
We also have (2.2.1):
= 26— S 1P —om? | BP (B5.2)
Using (2.2.3): ' .
r=9¢t #t=¢ (B.5.3)
Thus;
4 L igr2,1 9,50
jr /d > 42 19O +gm® | BP) (B.5.4)

Recall (2.2.6) ,(2.2.7) , (2.2.8) , (2.2.9)
dlx) = / L(a(%)eiﬁ-f—w+6T(1¥)e—“5-f+w) (B.5.5)
(27)3 /2w,

7 &’k TN ik B iw 2O ik E—iw
@) = [ G @ R FE bR (B56)

3 o Lo S

i) = / (gﬂk)s,/;(i)(dT(k)e_’k'”W’“t—b(k)e’k'””_’“kt) (B.5.7)
3 o o A

i) = / %,/;(—i)(&(k)e’k“““kt—bT(k)e’k'”Z“ktXB.5.8)

we recall that wz = m? + k2 We can see from the plane wave form of these
solutions that:
(Vo =k (B.5.9)
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Hence

| 92) > =
X
+
+
| 7 (x) [*

i = [ ataly | #(a) P 45k | 60) ) (B.5.10)

(d(g)eilz.ffiwkt + ET(E)GfiE.eriwkt)

b(x)

d3k/ - T = A = AR
/ v &T(k/>efzk 4wt + b(k/)ezk .xfzwk/t)

¢t ()

3 3 i—Fk
il O (a(Fyal (1)) #=itaen

(2m)3\ 2wy J (27)3/ 2wy

A (_))i)(E/)ei(E+E/)'m_i(wk+wk/)t + BT(E)&T(k/)6—i(E+E’)~f+i(wk+wk/)t
bt (B)b(k") e~ F—F)-a+ilw—wity (B.5.11)
a3k Wk o\ ot TN —ikBtiw 2N ik Z—iw
/ | g @@ (Rt Trt — bRttt
#r(x)
Bk o, - ik E—iw 2t —ik Eiw,,
/ G\ 2 TR T Bl (R e )
pit (z)
Eh [ P SOy e iR E
~T Ba(k —i(k—K).Z4i(wi—wy )t
[ oy [ a5 B
_ d‘]‘(_')l;‘i‘(E/)e—i(E—I—EI).f-i-i(wk-‘rwk/)t
— bR)a(R) el kR ittt (B.5.12)
o b(R)bT (k)i R R Eilwr—wy )ty (B.5.13)
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Thus we get:
3 3L 0., - =

2/ @n)3 ) @2n)3 2
+ (W%BT(E)dT(E/) — @ﬁ(ﬁ)y(;}))(/ d4$e—z’(ﬁ+1€').o‘:‘+z‘(wk+wk,)t)
+ (2\/%& k)b(E') — E(E)d(ﬁ’)@)(/ el FHR) F-ilwnteonty
+ 2\/%&(5)&*(%’)( / Al (F=R)-F=ilw—wp)t)
+ E(E)IBT(E’)@(/ Qe F=F) # il -ty
- BT(E)B(E’)Z\/%( i =) F=ilon )ty (B.5.10

using definition of delta (1.2.12):
: 1 d3k 310 - -

2) @2n)3 ) (2m)3 2
wz - — 4 /wkojk/ = oAy = — —
+ (5==bl (k)al (K') T (R)T (K'))((2m)°6° (K + K )e!rteon)t)
2 WEWE!
2
Wi, S OTNRCTIN R TNA (T  WEWE! 33,7 TN —i(wpwy )t
+ (72 kak/a k)b(k") — b(k)a(k") 5 )((2m)°6° (k + K')e k)
2
Wi A TN AT T 27)353 . y,—t(wr—wps)t
S a(Rat () (29 — e

+ MR e Z:wk,((%)?’ﬁ(z%’— R)emienent)
3L W o
+ SRR — al (B (R
+ S @Rb(R) — b(E)a(~K)e >
+ %a(%)af(ﬁ') + 8(%)8*(%’)% + BT(E)B(E')% (B.5.15)
using from Appendix B3:
[a(k), b(K))] = [a(k),b(K)] =0 (B.5.16)
we obtain:
7 = % g&,au%)a(ﬁ)m@)awa + b(k)bT (K') + b (K)b(k)  (B.5.17)



using from Appendix B3:

[a(k), at (K] = [b(k), bT (K] = (27)°hé3(k — k) (B.5.18)
and thus:
A w 3 - — - A -
= / (;ZW’;@T(k)a(k) + B (B)B(E) + 2(2m)°h (B.5.19)

B.6 S* Satisfy the Lorentz Algebra

The general Lorentz algebra is eq 3.17 p39 [9] :
[JH JPO| = (VP JH — gl JV7 — gV JHP 4 gho JVP) (B.6.1)

For this section we assume that S is in matrix formation we prove this form
in Appendix B12
The forms of S are:

5% =2 (‘(’; _?,z) (B.6.2)
and: DRI
woeon(? ) 883
Since (2.3.5) : '
S = 2, 7"] (B.6.4)
If p=vw: ‘
SHH = %['y“,v“] =0 (B.6.5)
Since :
SH = —§¥H (B.6.6)
as:
"] = ="M (B.6.7)

We need thereforeonly consider the commutators and self-commutators of
SY% and S

since by the definition of commutators (1.2.6) [S%, S7¥] = —[S7k SO we
just consider [S%, S7¥]

The Lorentz algebra is now :

(51, 5°7] = i(g"PSH7 — g’ S"T — g"T S + g7 S"P) (B.6.8)

Thus we need:

[SOi,SOj] — Z( giO SOi . gOO Sij o gij SOO + gOi SOz)
NG N X
=0 =1 =0 =0
= —iSY (B.6.9)
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[SOi, S]k] — Z(gZ]SOk _ g(]j Szk _ giksoj + gOk S’L])
=0 =0
= i(g¥S% — gtk g0I) (B.6.10)

using the matrix form:
0i QOj]  _ o’ i(o? Ny i(07 0N _ifo O
5,50 = (-5 (5 _ )(2( _J)><2(0 O (g %)
(_3'2 ai 0 _ gl 0 a0 ]
—o' —Jj 0 —o’ 0 —o
_ _3'2 olal 0 olot
= ( 2) < a’oj> ( _0]0)] (B.6.12)

We showed above (1.5.7) that

olol = icikgh (B.6.13)
Thus by the anti-symmetry of epsilon ¢/o? = —g'o7
Thus:
- » 1.(20%7 0
02 07 - _ - ’
5™, 5] 4[( 0 2(710])]
1. (c% 0
So : -
[§% §Y] = —iS¥ (B.6.15)

as required

Using the matrix form:
: i l l : i
0i gty _ (i (" 0Ny (ot 0Ny (1 gufor 0 i fo" O
50,5 = (-5 (5 2D (5 o) -G (5 apes (D )
_oifot 0\ ot 0N, L fdt 0Y, ifct 0
= 2(0 —<ﬂ'>)<26 0 o)) 75 o )30 o)
; ) I
_toggfoto 0' _(o'o 0 ‘
- 46 [< 0 _ngl> <O —O'kO'Z ] (B616)

We define analogously to (1.5.7):

olol = ilmg™ (B.6.17)
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thus by the anti-symmetry of epsilon

olol = —olo? (B.6.18)
So we get:
. ; l
0i qiky b jrf20'0 0
157,87 = 1€ [< 0 —20%0! ]
1 . . m
_ _;eﬁklie”m[<"0 _gm>] (B.6.19)

by the anti-symmetry of epsilon

Gkl gilm _ _ jkl iml (B.6.20)
we know ] o
6]klezml — 5@]6km _ 5]m6k1 (B621)
P 1 o™ 0
[SO ,S]k] = z(—§(5jm(5m’ — 5ij6km)[< 0 _0m>])
k

. i (o7 0 . 1 (o 0

using the definition of S% (B.6.2) :

[SOZ'7 S]k] — ’L((SMSO] _ Z(SZJSOk) (B623)
using : ,
i = —g'* (B.6.24)
and iy
Sij = —g" (B.6.25)
So : o B . 4
(5%, 574 = i(g"7 5% — g™ 5%) (B.6.26)

In matrix form:

[Sij,SZm] = lﬁijk (Uk Ok> 1elmn (Jn 0

163



We define analogously to (1.5.7):

ko™ = i oP

Then:
L 1 .. 2s7 0
ij Qlm — gk Imn; _knp
[SY, S € e < 0 20;,)
L ik _tmn; knp (07 0
= 56” €MMemP 0 o
by the antisymmetry of epsilon:
€lmn€knp _ _elmnkan

anagolously to (B.6.21) we then have :

MNP — St S — O1pOrm

ij qlm L a? 0

1 .. ol 0 g™ 0
(M il
= i (5 ) ()
1 iim (ol 0 (o™ 0
— i Z(lIm gl
e (5 o) =< (% )
We know that from (B.6.5) : S = 822 = §33 =0
and that from (B.6.6) 12 = —52! | §13 = g3l ' 23 — _ g32
we thus only have to check the three commutators:
1) [512"313]
2)[512’ SQS]
3) [5137 523]
taking the first and using (B.6.32):

1 ol 0 o3 0
12 13 (123 121
5259 = i () ) -en (5

as €123 = €231 and ¢

We obtain:

121 _

[SIQ 513] — 1:5123
Using (B.6.11) we get:
[S12,813] = (g2l — 41123 _ 23511 | g13g21)

= ¥
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asgll=—-1g21=¢gB=¢8=0
so there is agreement
Using (B.6.32)

— i (T 5))

using €22 = 0 and €'23 = —¢!32 this becomes:

1 o2 0 3
[512,523] — 2(5(6123 <0 2) _ €122 (

[512,523] _ _,L~513

Using (B.6.11) we find:

N

[5112’ 523] _ ,L-(gQQSIS _ 912323 _ 923512 _|_gl3S22)
= —i913
since 922 —— 912 — 923 — gl3 =0

so there is agreement

using (B.6.32)

1 133 (0% 0
13 @23 ; 133 132
[S7, 8] = 2(2 (e ( 0 2) € <

G )

using €'?3 = 0 and €'?3 = —¢!32 which becomes:

[513’ 323] — 1:5112

using (B.6.11) we get:

»

[5‘137 S23] — Z’(g32sl3 o gl2s33 o g33S12 + 913S32)
= 4512
since 933 = —1 932 — 912 — g13 =0

so there is agreement

165

(B.6.36)

(B.6.37)

(B.6.38)

(B.6.39)

(B.6.40)

(B.6.41)



B.7 A%_l”y”/\% = AF Y
Recall (2.3.7): ‘
i

= exp[—inS’”] (B.7.1)

Consider (p39 eq 3.18 [9] ):

(T")ap = (045 — 0500, (B.7.2)

Consider the transform of a four-vector :
7
Ve exp[—iww(j“”)ag]vﬁ (B.7.3)
which is in infinitesimal form :
« « Z v\«
Ve = (6% — S (T) ) V7 (B.7.4)
le. :

Ve S (bag — %wwiwa(sg — ghs) VP

1 000 0 w10 —Wol Woo — Wo2 W30 — Wo3
01 00 1| wor — wio 0 W21 —Wi2 W31 — W
V = + - B.
( 0010 2 | wo2 — w20 w12 —wo1 0 w32 — w3 )
0 0 01 Wo3 — W30 W13 — W31 W23 — W32 0
assuming wy,, = —wy, we get:
1 —wor —wp2 —wo3
1 _ _
Vo |0 Wiz T |y, (B.7.6)
wo2 w12 1 —wo3
w3 w13 w23 1

which can be seen to represent boosts if one wy; = § and all other w ’s are
Z€ero

and represents rotations if one w;; = 6 and all other w’s are zero

Thus :

i g
A, = ea:p[—iwpg(jp ) (B.7.7)
Thus:
A%_H“A% = A% Y (B.7.8)
is :
epl5up S eapl—5wor S°7) = expl=wpe (TP (BT9)
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or infinitesimally:
(14 50571 (1 = 20 S™) = (1= 2w (T7V, )0 (B.7.10)
which canceling the ones on each side and ignoring w? terms is:
i i i y
SWpr ST = A Swpe ST = =S wee (TP (B.7.11)

which canceling — wpg on both sides is:
YHGPT — SPTt = (TPTVH AV (B.7.12)

which is:
#, 577 = (J%°)",7" (B.7.13)

We prove this in matrix form we need to then compute the four commutators:

2)ly » , 5]
3)[y", §%]
[y, 8™
We also need to show that , since by (B.6.5) [y*, S| =0 :
(TP7) 4 =0 (B.7.14)
ifp=o
Substituting (B.7.2) we get:
(TPNE, =i(6PHoy — 8057H) (B.7.15)
If p = o we have:
(TP, =i(0PFS) — 0L6PH) =0 (B.7.16)
recalling (B.6.2) and (B.6.3) :
0i __ _1 O'i 0 ‘
S = —2 (o _Uz> (B.7.17)
and
1. (o 0
iy _ — ik
S = Ze (0 ok> (B.7.18)
Also recall (77) , (2.3.2)
o (0 1
0 = <1 0) (B.7.19)
i 0 O'i
= (—ai 0) (B.7.20)



Consider y = p =0 ¢ =4 in matrix form:
0 0i . 0 1 _3 Ui 0 . _E
s = (9 0)5(0 S5

()5 )

= i((( 0 %i>)—i’yi (B.7.21)

—0

from (B.7.2)

(T)°, = (6%, —6)6")
= id, (B.7.22)

as 00 =146% =0

(T, =iy’ (B.7.23)

which implies agreement
Consider y =0 p =1 ¢ = j in matrix form

I (I o (S TR (VT (O
- 3 )= (%)
= 0 (B.7.24)
from (B.7.2)

(T’ = (68 - 6,6")
- 0 (B.7.25)

as 60 =610=0

Consider y =14 p =0 ¢ = j in matrix form

s = (5 )35 S (6 (D)
B _% (—aoiaj _UinJ) - (Ujoai Ui)ai)) (B.7.26)

Recall (1.5.8) which implies:

olol = —oloti#j (B.7.27)
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So:

Recall (1.5.10) we get:

So using (B.7.26):

[,yi’SOi] - _

Recall (B.7.2):
(7)), = (6% —6)67)
—i6067¢
as 0% =0
This means:
(T = 0 it
(TN = iy

(B.7.28)

(B.7.29)

(B.7.30)

(B.7.31)

(B.7.32)
(B.7.33)

The two expressions are then equivalent. The minus sign comes from up to

down notation, i.e.00 = —§%
Consider p =17 p =m ¢ = n in matrix form:

; 0 o\ 1 (ot 0 | ——
i gmn]  __ - _mn (=, mn
b = (00 ) e (3 ah-gem (G o

_ lemnl( 0 olo! 7 0 olo? )
o —aigt 0 —clot 0

following (1.5.7) we define:

ool = iePgP

So:
. . 0 oP
o 1)
[v', 8™ = ie™™eP <—ap O)

— _iemnl 6ipl,yp

= _i(amiénp - 5mp5m’)’7p

Using (B.7.2) ‘ ' '
(™), = (58— a

(B.7.36)

(B.7.37)

The two expressions are then equivalent. The minus sign comes from up to

down notation i.e. 9, = =6 4§} = ="
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B.8 The Dirac Equation is Lorentz invariant
The lorentz transform of ¥ (z) is (2.3.9):
A%z/z(A’lx) (B.8.1)

The Lorentz transform of 8# is the inverse of the transform on xz* Thus:

Oy = (A"1)",0, (B.8.2)
Our Dirac equation is (2.3.8)
[iv"0, —mp(z) =0 (B.8.3)
This transforms to:
[i’y“(Afl)”#&, - m]A%’(/J(Aill’) (B.8.4)
Using that:
A%A; =1 (B.8.5)
We get :

9, —m]A1(A" ) (B.8.6)

AAy i Ay, ,

Re-ordering our lambda’s gives:

A%[iAfy”A%(A_l)”uay — m|yp(A ) (B.8.7)
2
Using that(2.3.6) Aéflfy“A% = A Y. We get

A%[z’A“py”(Afl)”uay — m]y(A ) (B.8.8)

As we are summing over p we can change it to v and re-order the Lambda’s
to give:
A% [i7" 0, — m]h(A ) (B.8.9)

This is just a constant A1 multiplying the Dirac equation, which is true,
2

everywhere evaluated at (A~'z) instead of x
so it is a constant multiplied by 0 i.e.:

A1[in"0, — m]p(A1z) =0 (B.8.10)

N|=

Thus the Dirac equation is Lorentz invariant
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B.9 The Dirac Equation Implies the Klein-Gordon

Equation

We know:
[i7" 0, — m]y(z) =0

the Dirac equation (2.3.8) multiplying by [—iy*0,, — m| gives:

[=i7"0u — m][iv" 0, — m]y(x) = 0

Multiplying out gives:
(V7" 0,0y, +m®)p(z) = 0
Y47 0,0, = v v*0,0,

by just changing the name of the variables
changing the order of the differentiation gives:

/Yufyuauau = ’nyyuauay
Thus : )
771" 0u00 = 5 (7" +179")0.0,
which is: )
5{7“7 'Vy}auau
and thus we get for (B.9.3) :
1 v
(5199 10,0, + mP)p(@) = 0
by our definition of the gamma’s we know: (2.3.4)
") =29
so our equation (B.9.8)becomes:
(g'wja,uau + m2)¢($) =0
which using the definition of g (1.6.3) is :
(0% + m*)p(x) =0

i.e. the klein-Gordon equation(2.1.11)
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B.10 Lorentz Transformation of 1

we define (2.3.10)

¢ =yly°

(B.10.1)

and we recall ¢ transforms to wTA%T by taking the conjugate transpose of
(2.3.9) our infinitesimal is then using our definition of A2 (2.3.7) is :

1
W = P11 = S 577)1"

assuming w,, is a real constant :

Skt =0 (B.6.5)
SH = —Svi (B.6.6)

1
$1° > L+ 2 (57)

in matrix form. Recall (B.6.2) snd (B.6.3)

and

from this we see that:

Consider (B.6.2) then:

We want:

Oi__z O'i O
57 = 2(0 —az>

U P S L
ij _ — ijk
5 _2E (0 O'k)

Uit _ _ goi
SOZT—E O-iT 0
_2 0 _JiJf
it i
=0
1 1 0
7= (o -1
17 1 0
=0 5)
it 1 0
+ =6 5
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(B.10.5)
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(B.10.11)



0
1 0

(£ )
(0 By
(£ )

(B.10.12)

0 —
1 0

ot (B.10.14)

o
—_

B (1 0) (B.10.15)
AT _ (? (1)> (B.10.16)
st ((1) é) (B.10.17)
We write , ) .
{SOz’ ,}/0} — 801’70 + ’YOSOZ (B1018)

In matrix form

CR R (R TGN [Re

_ (B.10.19)
So :
L0500 _ g0in0 (B.10.20)
Thus using (B.10.6)
4050 — goif. 0 (B.10.21)
We also want: y y
giit _ gij (B.10.22)
using (B.6.3):
T
P (ak 0
giit — 2 i (B.10.23)
2 0 O.kT
Thus using (B.10.8)
1 k
gl = Lot <0;) £k> (B.10.24)

We showed in appendix B7 (B.7.24):

9, 59] = 0 (B.10.25)
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and thus: - -
V84 = g0 (B.10.26)

So our infinitesimal transform goes from:

¥ = B (1 4+ S (57)1)° (B.10.27)
to .
iy = 01 + %wpgsp") (B.10.28)
which becomes the transform:
PTy0 — Ty PAT! (B.10.29)
2
which is the transform :
P — EA; (B.10.30)

B.11 Dirac Equation follows from Dirac Lagrangian
The Dirac-equation is (2.3.8)
[iv" 0, — m|y(x) =0 (B.11.1)

The Dirac Lagrangian is (2.3.12) :

Lpirac = Y[iv’0, — ml(x) (B.11.2)

The Euler-Lagrange equation for 1) considering ¢ and 1 to be different fields
is just:

oL _y (B.11.3)
oY
which is obviously just the Dirac equation (2.3.8)
B.12 5" are in Block Diagonal Form
We know (2.3.5) .
S = 2, 7"] (B.12.1)
We know (2.3.1) , (2.3.2) :
o (01
40 = <1 . (B.12.2)
i 0 O'i
= (gi 0) (B.12.3)

174



SO

s = 4[7 7]
_i,(0 1 0 o 0 o\ [0 1
= 101 o) o o) o)1 o)
i, (=t 0 a0
_ 4(< ‘ Ji>_<0 _ai)) (B.12.4)
So :
i . (20" O
S0 _4(< 0 201)) (B.12.5)
and : .
i v, (o 0
S0 _—2(<0 —ai>> (B.12.6)
s o= 10
i 0 o 0 o’ 0 o’ 0 o
N Z( —a' 0 —al 0 -0l 0 a0 )
) —olod 0 gl 0
_ 4(( . _Uigj)< . UW)) (B.12.7)
from (1.5.7)
olod = iekgk (B.12.8)
which means
50 = S )
1 k
_ QW((O &)) (B.12.9)
B.13 Normalising u and v
Recall (2.3.16)
VPTE
u'(p) = <\/ﬁ S) (B.13.1)
transposing gives:
w(p) = (Vpae), (Vpae)) = (¢ vpa,&7/po) (B.13.2)
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we get:

W p) = (€1po,&/po) (%Z)

= (po+po)ETe (B.13.3)
Recall (2.3.15) to give:
UTT(p)US(p) — (pOO'O +p10_1 +p202 +p30_3 +p000 _plo_l _p20_2 _p30_3)€rT£s
— 2p0£rT§s
= 2B
= 2Ez" (B.13.4)
by normalising &
Recall (2.3.17)
s VP-on® )
v*(p) = . B.13.5
= (o (B135)

its conjugate transpose is:

() = (o), —(Vpan®)) = ¥t vpo, —n*T/pa)  (B.13.6)
We then get:

S = i, - /po) (—%777>

= (po+ponmty
Recall (2.3.15) to give:
’UTT(p)US(p) — (pOO'O +p10_1 _|_p20_2 +p30_3 _|_p00_0 _ plo_l _p2o_2 _ p3o_3)n'r’Tns
— 2p0777”[773
= ZEWTTUS
— omr (B.13.7)
by normalising n
Using (2.3.16) , recall (2.3.10) and (B.13.2)
@ (p) = u*(p)’ (B.13.8)
_ — (0 1
w(p) = )y = (Vo &Vpo) <1 0>
= (&T\/p7, &t /o) (B.13.9)
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Then we have:

T = (€@ Vaetvim (VR

= 26%1¢\/pa/po (B.13.10)
Consider using (2.3.15):
papa = (%00 +plot + p2o? + p3o®) (%0 — [plot + p2o? + p3o?))

— (p000)2 _ [plo_l _|_p20_2 +p303]2

= (°0")? = [(p'a")? + (P*0?)* + (p°0°)?)

— pip2{o’, 0%} — pops{c?c®} — pips{ct, o®} (B.13.11)
recall (1.5.7):

olod =iekok (B.13.12)

recall (1.5.8) and (1.5.10) o
{o*,0’} =0 (B.13.13)
o’ =1 (B.13.14)

then use (B.13.11) to give:

popo = () =)+ ®)+ ()%
p2

So:
\/p.ap.c=m (B.13.16)
Thus (B.13.10) becomes:
@) (p) = 267T¢"m
26" m (B.13.17)

by normalising &

Recall (2.3.17) , (B.13.6) and (2.3.10)

7 (p) = v (p)'y" (B.13.18)

T S S s p— 0 1
©(p) = ()" = (T yvpo, —n*T\/p7) <1 0)
= (—n'"Vpa,n*y/po) (B.13.19)
Then:

TN (p) = ef*pmﬂVm”Q£%£J
= —o°ty/paypo (B.13.20)
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Recall (B.13.16)

\Vp.op.o =m (B.13.21)
to get :
V() = —20"ty'm
= —26"m (B.13.22)

by normalising 7

Recall (B.13.9) (2.3.17)

o) = (€ <—\/\§j%777>

= &' (Vpaypo — po/pT)
=0 (B.13.23)

Recall (B.13.19) ,(2.3.16)

v (pui(p) = (—n""\/pa,n"\/po) (%g)

= (/Do VDo + \/po\/pT)
=0 (B.13.24)

Recall (B.13.2), (2.3.17):

uTT(p),US(_ﬁ) — (fsT\/ﬁ’és’[\/ﬁ) < \/ﬁns)

_\/ﬁns
AN NN
=0 (B.13.25)

Recall (B.13.6), (2.3.16)

Apee) = ezt (YE2)

AN N N
- 0 (B.13.26)
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B.14 The Spin Sums

Using (2.3.16):

u’(p) = <‘/\/g ) (B.14.1)
and (B.13.9) :
w(p) = (&T/p7, & /po) (B.14.2)
Thus :
w(p)u’ VPIEN (et fpo, e Jpo
S:ZL2 (p) (p) 3212 (\/ﬁ S) (5 \/]T7£ \/r)

VEOVITEEt T moEE N,
2. \Vpavpaeet vpaypaeet)oh

s

using the normalisation of &:

Y oget=1= <(1) ?) (B.14.4)

s=1,2
We get:
St — (VEOVPT PO\ pO
3;,2 (p)w*(p) <\/ﬁ\/ﬁ WW) (B.14.5)

Recall (B.13.16):

\/p.op.o=m (B.14.6)
Recall (2.3.1) , (2.3.2)
o_ (0 1
v = <1 0 (B.14.7)
P 0 O'i
A= (—ai 0) (B.14.8)
in our new notation (2.3.15) we have:
0 ot
no—
v = <Ju 0) (B.14.9)
(B.14.5) becomes:
S/ \—s _ m p.o
> wiput(p) = (p‘a m> (B.14.10)

_ (p?a p60>+<73 7?1) (B.14.11)



Thus :
Z u’(p)u’(p) =v.p+m (B.14.12)

Using (2.3.17) , (B.13.19)

L
*(p) = < \/ﬁn> (B.14.13)
v*(p) = (—n°'/p.a,n°Ty/po) (B.14.14)

Thus :

s§2v 5212<%7n> -V 7. " V/po)

VDapaann®t  /pay/pann
; <mmn W N 3) 15)

using the normalisation of n

S;2n$n5T21: (é (1)> (B.14.16)
We get:
oty — (~VPOVPT PO\ PT
8;;2 (p)7° (p) (\/ﬁ\/ﬁ —Jﬁm) (B.14.17)
Recall (B.13.16)
Vpapo=m (B.14.18)
ve s — —-m p.c
> o) (b
_ <p90 p'o") _ (Tg T%) (B.14.19)
Thus :
Z v (p)vi(p) =vp—m (B.14.20)
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B.15 The Dirac Conjugate Momentum and Hamil-
tonian

the conjugate momentum is given by :

oL
B.15.1
5000 (B.15.1)
Recall (2.3.12) B
Lpirac = ¢[iryyau - m}d](aj) (B152)
Thus our conjugate momentum is given by (3.1.1):
oL —
= B.15.
5o =~ VY (B.15.3)
Recall (2.3.10)
=iy (B.15.4)
So: se
— = ipfa040 B.15.
sags W (B.15.5)
oo _ (0 1\ [0 1
T = <1 0)\1 0
1 0
o B9
So : 5e
=i B.15.
5000 Yli (B.15.7)
So the conjugate momentum is :
Yl (B.15.8)
The hamiltonian is given by (2.1.13)
H= /d4x’H, /d4qu L (B.15.9)
q is the conjugate momentum
So using (B.15.8):
H o= [ dilow - @liva, - mi()
— [ dtivion — iwin 0 — 7.9 + G
= /d‘*w(—wﬁ +m)i (B.15.10)
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B.16 ¢, = 4%
As we already have (2.3.29):
the = CY (B.16.1)

We want to prove:
CH° =2 (B.16.2)

We define C as the operator such that (113 p101 [8])
—1 = (C/") I M(CY) (B.16.3)

then :
CAOyH* = —AHCAY (B.16.4)
multiplying both sides from the left by C~°
as v2 is the only complex matrix for p # 2 :
0707“ = —’y“C’yO (B.16.5)
i.e.
{CY A"y =0 #2 (B.16.6)

72 recall (2.3.2) is completely imaginary as it is made of blocks of o2 which
are completely imaginary recall (1.3.14) so:

7 = 42 (B.16.7)
So (B.16.5) becomes:
C%9% = 42CA° (B.16.8)
which is :
[CY%,4%] =0 (B.16.9)

Obviously C o y2satisfies this
by the property stated above recall (2.3.4)

{77} = 2" X 1pxn (B.16.10)
i.e.
(24"} =0v #2 (B.16.11)
which means :
Cy° x ~* (B.16.12)

satisfies the equation (B.16.5) because C is known to be unitary we gain:

CH° =2 (B.16.13)
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B.17 Dirac Equation Implies the Majorana Equa-

tion
take the majorana equation (2.3.32)
i Py =mie
using (2.3.24) and (2.3.29) we get :
N Oy) = may”

conjugating we get:
—iy" 9" = m(—*)
as 2 is imaginary see (2.3.2) and thus :

A2 = 2

multiplying (B.17.3) by 72 gives:
V(=" 0") = v m(—y*)
as all other matrices are real:
T =AM 2

and (B.16.11) implies:
Yiy? = =Py # 2
(B.17.4) implies:
N

(B.17.1)

(B.17.2)

(B.17.3)

(B.17.4)

(B.17.5)

(B.17.6)

(B.17.7)

(B.17.8)

So combing the two previous equations and remembering all the matrices

except 72 are real we get:
VA = =k
recall (2.3.4)
{7",7"} = 29" X 1
This implies:
(V27 =21

22 — _1 this means :

since from (?7) g
—*y =1

after dividing both sides by -2
So (??7) becomes:
iy O = my
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which commuting the derivative and 4? becomes:

iy = my

which using (2.3.24) and (2.3.29) becomes:

Zawc = my

so the Klein-gordan equation (2.1.11) :

becomes:

using (B.17.15) twice

~0% = my

(i) =i Plmape) = m*y
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Appendix C

Appendix C : Chapter 3

C.1 The Commutator Relation for the Majorana
Field

The fact that a majorana field obeys the dirac equation means we can write
(2.3.29):

e = Cy" (C.1.1)
as ( p237 eq 37.18 [5]): B
v =yTC (C.1.2)
We know from (B.15.3) that the conjugate momentum is:
y° (C.1.3)
which is then using (C.1.1)
pTey° (C.1.4)
if C is defined as (p237 eq 37.19 [5]) :
—eae 0
ee () s
This commutes through 7 (2.3.1)
o (0 1
v = <1 0 (C.1.6)
so:
PpTCr® = T4 0C (C.1.7)
if following eq37.16 p237 [5]
ot = (1, ¥7) (C.1.8)
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o= (%) (€.19)
(551
assuming these terms are real then this is ¢ and our equation

{@Z)a(fa t)> 7/}5(£> t)} = (0’70)04,353(£ - 37) (0.1.10)

follows
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Appendix D

Appendix D : Chapter 4

D.1 Properties of U

we define by comparison with (4.2.10):

U(t,t) = eiHo(t—t") ,—iH (t—1) (D.1.1)
Thus:
Ut t2)U(ta, t3) = eiHoltita) =il (t1—t2) giHo(t2~t3) o —iH (t2~ts)
eiHo(t1—t3)e—iH(tl_t3) (D12)
which is U(t1,t3)
using (4.2.10) we get:
U(t, ') = e iHolt=t) il (t=t') (D.1.3)
we get:
U(t17 t3)U(t2a t3)T = eiHO(tl _t3)€_iH(t1_tg)e_iHO(t2_t3)eiH(t2_t3)
eiflo(ti—t2) ;—iH (t1—t2) (D.1.4)

which is U(tl, tg)

D.2 Wick’s Theorem

We know that wick’s theorem is true for ¢o(x)¢(y) to prove it is true prove
the case n+1 given the case n, i.e. prove by induction

T{¢o(w2)....00(xn+1)} = N{¢o(22)....00(2n+1) + (all contractions of ¢o(w2)....¢0(zn+1)}

is n case we take to be proven.
assuming 9 is a time greater then all the other times
We write:

do(w1) = ¢ (21) + 6™ (21) (D.2.1)
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splitting the field into creation and annihilation parts.

obviously thegg” can be brought inside the normal-ordering as it is a creation
operator and so should come from the left.

Therefore we only consider the term:

ant (1) N{¢o(2)....00(xnr1) + (all contractions of ¢o(x2)....¢0(Tnt1)}
We consider only: A
o5™ (1) N{¢o(z2)....00(Tn+1) } (D.2.2)

the contraction terms follow in exactly the same way except obviously we
can’t contract a term that is already contracted . Thus we get:

6" (21)N{do(w2)--to(zns1)} = N{¢o(x2)....00(xns1)}g§" (D.2.3)
N{go(22)...-¢0(wn11)} 03"
+ 95" (w1)N{¢o(w2)....0(xn11)}
= N{do(w2)....t0(znr1)} 05" (21)
+ (0" (1), N{¢o(x2)....d0(2n+1)}]
assuming the anihilation parts of each field commute we get .

we can commute off the field with each of the members of the normal ordered
part to get:

0 (21)N{do(z2)....00(xn 1)} = N{¢8m($1)¢0($2)-~--¢0($n+1)}
+ N{[#5" (1), G (22)]--Po(Tn+1)}

+ N{o(z2)[¢™ (1), 8 (€3)]...00(xn11)}
...... (D.2.4)

+

where the first term is now normal ordered

and the commutators are brought inside the normal ordering as they are
contractions and thus are § s and are unaffected by ordering

Thus we write in terms of contractions as

G () N{o(w2)---b0(ens)} = N{GE"(21)do(w2) - Po(ns1)}

1

+  N{do(z1)¢po(r2)...00(Tn+1)}
1
+  N{do(z2)po(1)d0(73)....00(Tn+1)}

+ (D.2.5)
This recombines with our term coming from the ¢§"
To give :
N{¢o(z1)do(x2)....00(xn+1) + the contractions of ¢g(x1) with ¢o(x2)....¢00(Tn+1)

(D.2.6)
The other terms follow by applying ¢o(x1) to them in the same way , except
if they are already contracted they can’t be contracted again
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D.3 a in Terms of Differentials

We know that (B.3):

a(E):/d3x( %¢(az)+

kO = wy
We know (3.1.1) and (2.2.1):

s
"~ 009t

1 1
_laug 2 12 2
L= 10" —5m?| o)

using (1.2.9)

So :

conjugate transposing means:
- -
al(k) = | d®z——=e"* 50
as i = —1

D.4 Forms of a;(—c0) and al(c0)

Recall (4.4.4):
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(D.3.1)

(D.3.2)

(D.3.3)

(D.3.4)

(D.3.5)

(D.3.6)

(D.3.7)

(D.4.1)

(D.4.2)

(D.4.3)

(D.4.4)

(D.4.5)



recall (3.1.1) , (1.2.9)

e_ikx<8_g>¢(x) = e R 9p(x) + iwpe *p(x) (D.4.6)
We get
aloe) —al(—oe) = L [ hou(h) [ atath(e M ono(a) + i o)
—1 1. —ikx
= o= [ Pra® [ atee @} +wpota)
_ \/;E / Phgy(F) / Qo (D2 4 F2 + m2)p(x)(DAT)
as w? = k2 +m?
Ve he — jfeike (D.4.8)
So: ' '
—V2emthT — 2k (D.4.9)

which means:

a}(c0) — al(—c0) =

/ Blign (F) / dre (02 — 2 4 m2) ()
(D.4.10)

integrating the nabla term by parts twice and iassuming the associated
boundary terms vanish we get:

ka

—i . » .
al(o0) (=) = <= [ Phan(F) [[atee(0f ~ 92+ m)oo)
(D.4.11)
using the definition of % ( from 8, and (1.6.4)):

- o
aJ{(oo) — aJ{(—oo) = m/dgkgl(k)/
We then have :

ol (=) = al(0) + <= [ @han(h) |

e (9% + m?)p(x) (D.4.12)
e

“k2 (52 £ mH(x) (D.4.13)
conjugate transposing gives :

dz
dtz
a1(—o0) = ay(o0) — \/227/% kg () /d4xeikx(82 +m?)p(x) (D.4.14)
/d4a: (

a(o0) = a1(— kg (k) e (92 + mP)p(x) (D.4.15)

e
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D.5 Creation, Annihilation Operators for the Dirac
Spinor Field

Recall (2.3.13)

—_

d3 A s _
Y = / (agu’(p)e” " + bﬁTvS(p)e”’x (D.5.1)
s=1,2
Fourier transform:
ipx 1 S,.S ST, .S W
/d?’xep = JAE; (azu’(p) —i—bﬁTv (p)e?et (D.5.2)
s=1,2

We multiply on the left by ( recall (2.3.10)) @*(p)7° i.e. u*f(p)
we use the spin sums, recall (2.3.18) , (2.3.21)

u"T(p)u®(p) = 2E50"° (D.5.3)
uT(p)*(—p) =0 (D.5.4)
and:
, 1 ,
/ A = (agu® (p) + 0™ v (—p)e™! (D.5.5)
V2E5 T g
which comes from changing the variable on b and v Thus:

as_. = 1
7 2E,
Fourier transforming (2.3.13) and by changing the variable on a and u

/ dPre Py = \/E > (a® jut (—p)e*™! + vt (p) (D.5.7)

s=1,2

/ d3ze™ 7 ()7 (D.5.6)

multiplying on the left by 7%(p)y° i.e. v*T(p)
and using the spin sums recall (2.3.21) ,(2.3.19):

v (p)vi(p) = 2E50" (D.5.8)
" (p)ut(—p) =0 (D.5.9)
We get:
b;T \/ﬁ/dga;eip%s(ﬁ)’yow (D.5.10)
@@ = o E)

= ) (D.5.11)

So: )
by = J2E; d3zeP 9y % () (D.5.12)
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D.6 al(c) for the Dirac Field

Recall (4.4.14) and its transpose:

1 3, ipT— 0
i = g | P
1 A
st _ 3,..,—pT 0, s
as = 2Eﬁ/dase 2 ()

as using (2.3.10):

@ (3)°9) = 1 @ (@) = iy st ()
Recall (2.3.1) we see :
,yoT — A0
So: B
@ (P)7°¥)T = Py u® (p)

We then have:

ol(=00) —al(o0) = - [ drenal(r)
o0 —aloe) =~ [P [ (e )
al(~o0) —af(00) = — ﬁ%
df(coo) —ale) = -~
1 1

al(—o0) —ai(o0) =~

take:

(p —m)us(p) =0

this is follows from using ue™ " in the dirac equation (2.3.8) and implies

using (2.3.24) that:
7°p0us(B) = (7'pi + m)us(p)
This means (D.6.5) becomes:

t—_

ay(—o0) —ay = V2B,
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(D.6.1)

(D.6.2)

(D.6.3)

(D.6.4)

/d3p91(ﬁ)/d4$¢(’70§)—iﬁ’opo)us(ﬁ)eim

(D.6.6)

(D.6.7)

1 _ A A
= / d®pg1 () / d2P(1°9 — iv'p; — im)u® (F)e= "

/d3p91(ﬁ)/d4$80(e—ipx)¢70u8(m) + e 9y Ou ()

/ d’pg1(p) / d'w —ip" (e ")y ut (1)) + e~ P 00vn ()

(D.6.5)



ip" can be written as J; acting on e so:

! ! / d’pg1 (p) / A2 (70—~ —im)u (F)e "

of (=) —af(00) =~

integrating the 'yigi piece by parts and taking the constant term to vanish
at the boundary .

a} (~o0)—af (o) = — ﬁ% [ @) [ 605 D —imyu e
using the definition of @ (2.3.24):
a}(~0) — af(o0) = - ﬂ% [ @) [ i (d - impu e
_ ;Eﬁ / &pg1 (7) / daB(F + m)ud (e P
=i \/;Tﬁ / d®pg: (P)
X / A0 § — myv (Fe= e (D.6.8)

D.7  bi(c0) for the Dirac Field

recall (4.4.16)

b = \/2%0 / Bre P (5700 (D.7.1)
We then have:
o0 -t = — [ anelo
= o | Cre® [ ataone e nty
= - ﬁ% [ ) [ daon(e o @00 + o
. ﬂ}f [ @0 [ e = (@) + e o
= g [ @ [ar @ - (072)

(p + m)vs(p) = 0 this follows from considering the dirac equation (2.3.8)
acting on ve®®and implies:

7207 = (v'p; — m)v® (D.7.3)
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1

V2E,

ip* can be written as 0; acting on e'P*

(o) b = = [ @pn(p) [ atowt @000, — iv'pi+ i)

(D.7.4)

1

b (—oo)—pl - _
(o) —tl(oe) =~

/dspgl(ﬁ)/d4$vs(@€_ipm(705£)—’Yi%i-kim)lﬁ
(D.7.5)

4
integrating the +* 0 ; piece by parts and taking the constant term to vanish
at the boundary :

b(-o0) ~b](00) = = [ @pon(d) [ dtev? Ge 70 4G i)
’ (D.7.6)
using the definition of @ (2.3.24)
bT _ _bT - _ 1 d3 d4 —S —ipx (3+ w
{(~o0) — bl () ﬁ/ por(s) [ dav (Fe (@ -+ im)
= i [ ) [ @i
p
1
= —i d?
o / pg1(P)
x / A7 (F)e= P (—id + m) (D.7.7)

D.8 Gp(z,2') in Terms of Four-Integrals
Recall the first line of (?7?):
Gr(x,2') = (0| T(¢o(a")}(x)) | 0) (D.8.1)

where T is the time-ordering symbol: We know (2.2.6) and its conjugate
transpose:

_ d37k a e e—ikr INEaN eikx
6= / s R 4 BBy (D.8.2)

T d*k dT 7 eik::r 2 efikz
o= A (B)e + By (D.8.3)
We also recall the set of creation operator commutators from Appendix B3:
[a(k), al (k")) = [b(k), b (K')] = (2m)36° (k — K')h (D.8.4)
[a(k), a(K)] = [af(k), a' (K)] = [b(k), b(K")] = [b'(k), 6T (K)] =0 (D.8.5)
[a(k), b(R)] = [a' (), b (F")] = [at (%), b(K")] = [a(k),b'(F)] =0  (D.8.6)



where we have restored the A for convenience
multiplying (2.2.6) and its transpose we get:

A3k dSk?, 1 AN —ikx | TN ik m ik’ | 1oy, —ik'x!
¢ = /27r3\/ﬂ an)e " bY (k)e™al (k)e™ ™ 4 b(k)e ]

3k d3k’ 1 - T N TR
— / [&(k)&’[e—zkzx—kzk L &(k)b(k)e—zk:c—zkk x
3 /2wy, / 3. Pw ’

(2m
+ f(k)a (k)ezk‘”“kx&T(k)b(k)elk“‘ik/r/] (D.8.7)

So taking the vacuum expectation we get:

Bk d3k;’ 1 e
0] 66 |0)= (0| / / g R Bl o

27)3 /2wy,
(D.8.8)
Using the definition of the creation operators:
al0y=5b]0)=0 (D.8.9)
Olat=(b" =0 (D.8.10)

We can add to (D.8.8)

&k dSk/ 1 ALOTN A (TN, —tkT+ik'x’
(0 |/ \/W F[GT(k)a(k)]e |10)=0 (D.8.11)
to give:
B3k d3k/ 1 - - . o,
f = ~T —ikz+ik'x
(0] ¢o"|0) 0\/ 27T3\/W/ [a(k),a’(k)]e | 0)

— 0 | / / dsk/ 1 )37153(];:‘* E/)e—ikx—i-ik/m/ | 0>
27)3 /2wy,
k1 T

= 01 [ Grpgthe e 10

2m)3 Zwk

BE 1 . ,
= —_— pethlz—a) D.8.12
/(271')3 2 ( )

by taking out the constant and realising that (0 | 0) = 1. also introducing
the heaviside function to account for the time ordering symbol we get

©017( o0 ) 10)= [ (d% L g — fyhe- =) 1 gt — e~ ihe'—2)

27)3 2wy,
Using the integral form of the heaviside function (1.2.2):

dw eiwt

0(t) = lim

e—0 2mi w — 1€

(D.8.13)
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We get:

dSkI dw 1 1 ; / T o = . / Py o
/ — 1 B i(w—wg) (' —t) ik.(Z —F) —i(w—wp)(t'—t) ,—ik.(Z' —T)
G, z) Py (2m)3 / 271 2wy, w — i€ & ‘ e ‘ }

We split into two terms:

3 -
o(x) = tm [ LE [ g gt

e—0 ) (2m)3 ] 2mi 2w, w — i€
A3k [ dw 1 1 A , o
1~ Rt —z(w—wk)(t —t) —’Lk‘.( ) 14
T P / o 2eon o — i e By
in the first term we take:
k‘o =W — W (D.8.15)
In the second we take:
ko = w — wg (D.8.16)
So:
dk 1 1 i
Gl — lim(—ik L —iko(t'—t) Jik.(Z'—Z)
(J},.%') egr(l)( ! )/(2ﬂ)42wkwk—ko—z’ee c

d*k 1 1 o .
lim(—ih —h —iho(t'—t) o —ik-(@y 8)1 7
+ egr(l]( ! )/ (271’)4 2w wk—i-k‘()—iﬁe ¢ (<1D_ )

swapping k — —Fk in the second term we get:

dAk e—ik(m’—x) 1 1
G(2',z) = lim(—ih
(x,x) egr(l)( ’ )/(27{')4 ka wk*kofie—i_war/{?o*ie
(D.8.18)
Consider
1 1 ) = wr, + ko — i€ + wy, — ko — i€
wp — ko —ie  wp+ko—ie’  (wp — ko — i€)(wk + ko — d€)
2w
= D.8.19
w? — k3 — i€2wy, — € ( )
where w,% = k%2 +m?
€2 term is ignored
We rewrite €2wy, as €
and get :
1 1 2w
— —) = 53 5
wr — ko —ie  wg + ko — i€ k% — k§ +m* — ie
2wy,
= D.8.20
—k k¥ +m? — ie ( )
using the definition of the momentum four vector (1.6.15)
Thus (D.8.18) becomes:
dik ef'ik(x’fx)
G(2',x) = lim(—ih D.8.21
(@, ) Egl%( ! )/ (2m)* =k kY + m? — e ( )
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D.9 Sp(z,y) in Terms of Four-Integrals

following [5] p268 eq 42.6:

S = i(0 | Toa(2)b5(y) | 0) (D9.1)
We know (2.3.13)
d3 1 —i T sT s T
knowing (2.3.10)
¢ =1l (D.9.3)
We know :
o d3p eiPTys st ipr s st
w_/(27r)3\/7,; Mt (p)ay + e (p)by (D.9.4)
Thus
<O‘¢o¢( ) ( = 0 |/ 27[_ QE_, (a% S(p)efipx+b;Tv3(p)eipz)

Py 1 oy iy
[ S S e + e .0
P =12

since any terms in normal order will vanish , we only get the term :

0| Ya = D.9.6
0| Yal@)T5(0) 01 | G (0.9.6)
/ d3 ,3 1 Z Z —ipx zp yﬂr( /)arT | 0>
(2m)7 2By 2 1,27r=1,2
We can add a term of the form :
3
O [gds x
1 d3p’ 1 i ol or ’
| a5 > ) @rp)e eV (p)ata | 0)
V2E;5 &) 2By s=1,27=1,2
= 0 (D.9.7)

To give:

3y 1
—ipT zpy
/ 27T V 2E / 27T \% 2Eﬁ/ 521:21"212 ! (p)

(0] {ag,a""} | 0) (D.9.8)

(0] Ya(@)ds(y) | 0) =

X
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Our anti-commutator for the creation operator a is by analogue with the
scalar case Appendix B3 to be :

{a%,a*T} = h(2m)36% (5 — )2\ /2E50sr (D.9.9)
Thus we get :
b dp 1 S(p)e~PE—Y)g
01050 10 = [ 55— 3w DT 6) 0110
which as the vacuum states are orthogonal is:
(0] Yal@)Ps(y) | 0) = / Tp 1 Y wp)e P Vu(p)  (D.9.10)
i ’ 2m)° 2EI7 s=1,2
using the spin sum (2.3.22)
> wp)E(p) = (p+m) (D.9.11)
s=1,2
Thus:
d3

O [ bale)d5(w) | 0) = [ @ﬁ,ﬁw )Py (D.9.12)
p

recalling again (2.3.13) and (D.9.4)

— dS / ! !
(0] Po(@)s(y) [0) = (0] / i (V" (p)alf + e~ "'V5" (p)brf

[ @ G O (e e Bl )e) | 0)

since any terms in normal order will vanish , we only get the term :

3 3./ -
O1Fules) 10 =01 [ G5 [ s e 3 3 w000 e |

s=1,2r=1,2

We can add a term of the form :

d3p’ 1 L,
s —ip'y ipx—r(, ./ bq:bsj _
O‘/Qﬂ' \/ﬁ/ 27_‘_)3\/%2 Zv(p)e e U(p)pp’m 0

s=1,2r=1,2

To make our term:

3 /
(0| Ful@)bs() | 0) = / s \/ﬁ/ = 3 X T )

P s=12r=12

(0] {ag,a""} | 0) (D.9.13)

X

198



recall (D.9.9) to get :

3 .
<0 | wa(‘r)iﬁ(y) ’ O> = / (;lﬂ_l))g \/217& Z 6s(p)ezp(m_y)’l)s(p)<0 || 0>
P s=1,2

which as the vacuum states are orthogonal:

3 .
01 4@y [0 = [ 35— 3 e (Do)

2B5 =
using the spin sum (2.3.23)
S T p)(p) = (p—m) (D.9.15)
s=1,2
we get:
ol d’ 1 ip(x—
(0] alz)vp(y) | 0) = /(2#”2%@_ m)ePT=y) (D.9.16)

We can multiply our propagator expression for the scalar field derived in
Appendix D8 by f(p) to give the identity

d'p f(p)e ") 000 dp 1 —ip(z—y)
I im0y )/(27r)3 2B, 1)
d3p 1 ;
(00 ip(z—y) £(_ D.9.1
b0 ) [ G e (D.9.17)

where the minus sign on the second term comes from changing the dummy
variable to -p in the d3p and because the p° is already negative due to the
time ordering

Thus recalling (4.4.40) , (D.9.12) , (D.9.16) to give:

3 .
OIT Gawnla) 10 =06" ") [ 5 J;Emm)em(zy)
3 .
- g(yo—xo)/(;lﬁz)\/;iﬂ(p—m)e’p(x_y) (D.9.18)

So we get considering f(p) = p + m:

B 4 efip(zfy) m
Sp(z—y) = %(0 | Y5(y)a(z) [ 0) = 1/ (;ZWZ))4 —p? -1-775}2i ie)

(D.9.19)
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D.10 Deriving the Vector Propagator

This follows from Section 9.4 of [9]
We consider the action :

S = / d%[—%(FW)Q] (D.10.1)

We know F),, is a function of A, and both F),, and A, are invariant under
the transform (see section 1.7 )

1
Ay(x) = Ap(z) + gaua(a:) (D.10.2)
Recall (1.7.13)
Fu = 0,A, — 0,A, (D.10.3)

is obviously invariant as under the gauge transform this becomes :
1 1
OuAy(x) + 0u—0,a(x) — 0,A,(x) + O,—0 () (D.10.4)
e e

which is just :
OuAy — 0,A, (D.10.5)

as the partial derivatives of @ commute

We consider the Fadeev-poppov method which we will come back to in
Section 8.4

We introduce the definition :

- / Da(x)é(G(A“))det(éGéfa)) (D.10.6)

This is just the continuum generalisation of the identity of the n-dimensional
dirac delta function with a switch from g co-ordinates to @ co-ordinates (p295
[9] 123):

" Jgi
1= (H da;)0"™(§(@))det( aaj) (D.10.7)
A are the transformed fields i.e:
1
Af(r) = Ap(z) + Eﬁua(az) (D.10.8)

G is a function that when set equal to zero corresponds to some gauge -fixing
condition

We assume that G has no terms of the form Aa or higher order terms and
is linear in alpha and its derivatives , i.e. 5G§Sa) is independent of both «
and A

Thus we can write :

1 = det(

5G§ja)) / Da(2)5(G(A%) (D.10.9)
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Now consider :

Z = /DAe"SW (D.10.10)
by inserting one (D.10.9) we can write this as:
A~ :
7= det((SG;a )) / Da(z)DA A5 (G(AY)) (D.10.11)

Since A® differs from A by only a term linear in the derivative of o (D.10.8)
DA® = DA (D.10.12)
since S (D.10.1) depends only on F),, it is gauge invariant ,i.e.:

S[A] = S[A%] (D.10.13)

Z = det(

5G5(;4a)) / Da(z)DA%SA5(G(AY)) (D.10.14)

Changing the dummy integration variable from A% to A we can take out
the a dependence and get

Z=N / DA (G(A)) (D.10.15)

where N is a normalisation constant
We suppose (eq 9.55 p296 [9] ):

G(A) = 0A,(x) —w(x) (D.10.16)
- . . . SG(AY)
providing w is scalar this does not affect our results. i.e.. =5 so
Z=N / DASHIS(OA,(x) — w(x)) (D.10.17)

We multiply Z by 1 in the form of a normalised gaussian function generalised
to the continuum centered around w withe width &
to get :

Z = NN(§) / DADwe ™/ d4x1207€26i5[‘4]6(814ﬂ(3:) —w(z)) (D.10.18)

where N () is the normalisation constant associated with the Gaussian func-
tion
using the delta to eliminate the w integral we get:

(oM Ay)?
2¢

Z = NN(&) /DAeiS[A]e_ifd% (D.10.19)
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We need now only consider :

S[A] —/d%(al;‘z“)z (D.10.20)
/d%« — i(FW)Q — W (D.10.21)

which describes the action of the A’s with gauge fixed if we can write this
as:

/ d*zA, () fA,(z) (D.10.22)

for some function f
Then our propagator will be the delta function of this f i.e.:

[Dpyp(z —y) = i5554(x —9) (D.10.23)

as the propagator describes the motion of a particle from x to y

You can see this is true of the Dirac-propagator and the scalar propagator
by seeing that in position space the exponential is the solution of both
the dirac and the Klein -gordan equation and that the other parts give
the klein-gordan or dirac equation in momentum space multiplied by ih i.e
applying the relevant equation to the exponential will give the form of the
equation in momentum space which cancels with rest of the equation to give
th multiplying the exponential which is just the dirac delta multiplied by
th . The rearrangement to get f will be simply integrating by parts on the
first A which as we ignore boundary terms is the same as differentiation on
the second A. Differentiation on the second A is the same as varying it with
repect to the derivative of the first A which would be the Euler-lagrange
equations. Hence f will be the equivalent equation: Consider using (1.7.13)
and (1.6.4) in the exponent of (D.10.21):

1 2 (6“14#)2 1 oy oy (auAM)Q
—gFw)’ = 5 = 1 (0udy = 0,4,)(0" A — 0" A) -

B A )2

_%(8uAy8MAV - (9VAM(9“AV — 8#14”8/‘6”14# 4 aVAﬂauAu) _ (825“)

The terms 9, A,0"A” and 0,A,0” A" can be considered to be the same by
renaming the summation variables

We integrate each term by parts and ignore the boundary terms as A van-
ishes at the boundary this is equivalent to integrating and multiplying by - 1

9, A, 0" A (D.10.24)

integrates to :
—A,0,0"A” (D.10.25)
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which is :
A0 AY (D.10.26)

by the definition of 9% ( (1.6.4) with 9,,): Consider
A0*A, = A0PAY g (D.10.27)

using the g to change A” to A, since g,,g" = 1 this is basically just (1.6.4)

AO% A, g = A,0% A (D.10.28)
where we have renamed variables for convenience.
Thus as
0, A, 0" AY (D.10.29)
and
0,A,0" At (D.10.30)

can be considered to be the same :
1 1
—Z(QMAl,@“A” + 0,A,0"AM) = §AM82AV9’“’ (D.10.31)

where the extra minus sign comes from integration by parts
The :

(0" A,)? (D.10.32)
term
can be written
orA,0MA, (D.10.33)
which is:
0'rAL0"A, (D.10.34)

changing the second summation variable
integrating by parts and ignoring the boundary term this becomes:

—A,0"0" Ay (D.10.35)
So : (A )2
1
— 2B — A0V A, D.10.
2% 26 1,010 (D.10.36)
The terms
0,A,0"AY (D.10.37)
and
0, A, 0" 0" AH (D.10.38)
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can be considered to be the same by for example exchanging p and v in the
(D.10.38)
taking :

0,A,0"AY (D.10.39)

and integrating by parts and ignoring the boundary term we get

— A,0,0"A” (D.10.40)

as partial derivatives commute this becomes;
- A 0t9,A" (D.10.41)

a property of four-vectors is that (1.6.4):

a,b" = al'b, (D.10.42)
we get:
0,A" = 0" A, (D.10.43)
Thus our two terms (D.10.37) and (D.10.38) are:
— A, 010" A, (D.10.44)
and so:
1 1
_1<_8VALL8MAV — 0, A, 010" AF) = —§AM8"8”AV (D.10.45)

substituting (D.10.31) , (D.10.36) , (D.10.45) into the exponent of (D.10.21)
we get:

L 2
—%(FW)2 - (82") = %(Aw?flug“” — A OM A, + 2AM3H8VA,,
_ AM(%[ang _ oner(1 — 2])14” (D.10.46)

hence our f is compare (D.10.23)
1
2

1 1
£
changing to momentum space which considering the exponential e?** is

equivalent to replacing the differentials by ¢k with the appropriate index
gives our f in momentum space as :

02" — o1

( ) (D.10.47)

4 1 v ™~ .
(=R*g" + (1 = k") Dryp(k) = i, (D.10.48)
Thus :
Drp(k) = (g — (1 — )220 (D.10.49)
Fvp — k2 +Z€ gl/p k2 . .
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We show this by substiting into (D.10.48) i.e:

_q uk
1)k“k”)k?—z(gyp (1-¢) kk2”) (D.10.50)

(K2 (1 g

multiplying out gives:

i (—h20M o+ (1= DRARY gyp+ k2g (1) Bt — (1 D)krkY (1-€) Bzt

rewriting the product of g and cancelling the k? using (1.6.4) on the last
term:

—1
k2 + e

(—k25“p+(1—;)k“kp—l—(l—f)k“k:p—(l—é)k“kpu(l—f)) (D.10.51)

taking out 6*, as a factor:

kHk

! 5“p(—k2+(1—2)k”ku+k2(1—§) L

k2 + ie
using (1.6.4):

—(1—2)1@%(1—5)) (D.10.52)

—1

5 (k2 + (1 — 2)18 PR —6) — (- DR2(1—¢)  (D.10.53)

k2 +ie 13
isolating the coefficients of k? :
1 1
5t (=K + 2k% — K2 (64 <) — 2k? - )k? D.10.54
simplifying:
i (D.10.55)
k2 +ie 7 o
ignoring the epsilon
it (D.10.56)
Therefore in the feynman gauge £ = 1 (118 p297 [9])
from (D.10.49): .
~ —1
Drpy,(k) = ——(gv D.10.
F p( ) 12 +Z~€(9 p) ( 0.57)
We now just need to show (4.4.47):
A UV 1 0 510 1 MR\ V(T
AP (k) = —ﬁaﬂ e > e (k)ex (k) (D.10.58)
A==
is equivalent to our D ignoring an i
following eq 55.15 p337 [5]:
- —» kik;
> en(k)en(k) = 65 — = (D.10.59)

A==%
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we consider :

t" = (1,0) (D.10.60)
then :
(0.k) = k* — (t.k)t" (D.10.61)
rearranging:
(0.k) + (t.k)tH = kM (D.10.62)
using (1.6.4) to square:
—k* 4 (1.k)% = k2 (D.10.63)
rearranging:
k2 = —k* + (t.k)? (D.10.64)

we want a normalised four-vector consider
B i(k* — (f.k)f“)
[k + (022

B (D.10.65)

ZHZY becomes — k’%l;] in the 1,j limit from (D.10.64) and (D.10.60) which gives:
=0 (D.10.66)
consider (1.6.1): —g"” = d;; on 1i,j
Thus we postulate :
D (k)es (k) = —g" 4+t + 22 (D.10.67)

A==+

as both sides vanish when p or v =0 we get complete agreement
Thus :

L <0 500 1 kTN 7
ORI > A (k) (k) (D.10.68)
becomes from (D.10.64) and (D.10.60) :
e e
—k* + (t.k)? k2 — ie

(D.10.69)

in position representation our k* become 0" acting on the exponential inte-
gration by parts means we can ignore them see 17-14 p342 [5]
Thus we can write (D.10.65):
—i(t.k)tH
ZH = #1 (D.10.70)
2+ ()2
Thus our expression (D.10.69) is :
- (t.k)tHeY
e B
—k? + (t.k)? k2 —ie

(D.10.71)
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This becomes ignoring the difference between k? and k? — ie :

1 k2 (t.k)?
— "+ (—————= + 1 — —————)t't”
k2 — ze[ g (—k2 + (t.k)? —k? + (t.k)2) ]
which is just :

1
k2 — ie

as predicted (D.10.57) divided by i

— g

(D.10.72)

(D.10.73)

D.11  Contracting Fields with their Momentum

States

switching the final state creation operators to the expressions given we gain
a field and a derivative function (either the klein-gordan (2.1.11) or Dirac
equation (2.3.8) ) . Moving the fields inside the time ordering symbol gives
you a sum of terms made of of n over 2 contractions for n of a given field
type these contractions correspond to the green’s functions of the relevant
equation thus we pick up a delta for each field paie and the remaining term

is the one we associate with the incoming particles
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Appendix E

Appendix E :Chapter 5

E.1 Comnservation of Current in the Dirac Field

We need to show that :
8;@7'“ =

given (5.2.24)
g =yt
Thus:
g = ()

separating into derivatives on v and v we get:
A" = ()Y + Yy

The Dirac equation is (2.3.8):

(id —m)y =0
ie. :
i = map
multiplying both sides by -i
P = —imy
remembering (2.3.24):
7M8u¢ = —imy

we then take the transpose :
a;ﬂ/ﬂ’YM — imwT
multiplying on the left by 7° and recalling (2.3.10):
0u 7170 = imi
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(E.1.1)
(E.1.2)

(E.1.3)

(E.1.4)

(E.1.5)

(E.1.6)

(E.1.7)

(E.1.8)

(E.1.9)

(E.1.10)



recall (2.3.1) , (2.3.2):

01
0_
70 = <0 1) (E.1.11)
i 0 O'i
= <0 _J,.> (E.1.12)
clearly
A0 = A0t (E.1.13)
and "
; 0 —o*
it 4
it = <0 i ) (E.1.14)
Recall (B.10.8) ' '
o'l =o' (E.1.15)
So ' A
AT = 4t (E.1.16)
Recall from (2.3.4): ‘
(Y%~} =0 (E.1.17)
So from (E.1.16):
AHTy0 = f0qr (E.1.18)

Then (E.1.10) recalling (2.3.10) becomes:
Q! = imap (E.1.19)

using the Feynman slash (2.3.24) and the property of four-vectors (1.6.4)
akb, = a, bt we get

P = imyp (E.1.20)

using the property of four -vectors (1.6.4) we write this as Thus (E.1.4)
becomes using also (E.1.7) :

Ougt = (imp )y + Yy (—ima)) (E.1.21)

which is :
(%j“ =0 (E.1.22)

and thus the current is conserved
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E2 %=t

Recall (2.3.25)

To write this in matrix from we remember (2.3.1) , (2.3.2)

So :

Recall (1.5.7)
ie.

231 _
So:

recall (1.5.10)

Thus :

Recall (2.3.2)

7Py

5

0,1,2.3

v =y Yty

0 1
0 _
7‘(1 0

)

i 0 O'i
Y= _O.i 0

(E.2.1)

(E.2.2)

(E.2.3)

(E.2.4)

(E.2.5)

(E.2.6)

(E.2.7)

(E.2.8)

(E.2.9)

(E.2.10)



vy

SO

Recall (2.3.1) and (2.3.26):

vy

7Y

SO

and thus recalling (E.2.12)

E.3 5 =4

from above (2.3.26)
So:

Thus :

E4 (°)?=1

from above (2.3.26)

0 o\/-1 0
—o' 0 0 1

0
(01
= 21 0
A0 = —0n
Yok = —ytayP

2
Il

= (oY)
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(E.2.11)

(E.2.12)

(E.2.13)

(E.2.14)

(E.2.15)

(E.2.16)

(E.3.1)

(E.3.2)

(E.3.3)

(E.4.1)



Thus:

_ ((1] ?) (B.4.2)

(v°)? =1 (E.4.3)

and thus :

E.5  0,j"(z) = 2imyySe

writing :(5.2.29):

3" = Py (E.5.1)
the derivative is: B
0" = By y) (E.5.2)
separating into derivatives on 1 and v we get:
Bui" = (OuOIV' Y% + 1 ) (E.5.3)
We found above in appendix E2 (E.2.12) that :
Pt = =4 (E.5.4)
So: B B
A" = (BuD)V Y — Py MO (E.5.5)
using the property of four -vectors (1.6.4) on the first term we find
@dﬂ = 7“(@@)’751# - E’YB'Yuauw (E'5-6)
which becomes using (2.3.24)
A" = Py — Py (E.5.7)
We found in section E1 that (E.1.20) , (E.1.7)
I = imyp (E.5.8)
and
hp = —imap (E.5.9)
Thus we have : B B
Oujt = impyh — Pyd (—imap) (E.5.10)
which is : B
gt = 2imaby°ip (E.5.11)
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Appendix F

Appendix F: Chapter 6

F.1 The Divergent Terms of ¢* Scalar Theory

We here merely prove that statement that was given in section 6.3 that the
N=2 and N=4 terms between them result in three divergent terms

This follows section 7.1 and 7.2 of [7]

We first consider the case N=2 which we call I'2

We look only at the one loop correction case as this is all we have considered
in section 6.3 and ignore the overall momentum conserving delta functions
and factors of % as these are common to all our graphs

illustrating this by a Feynman diagram we have

2
r(k,, k,) =

A
Xt

+
-

4 2 1 2

Our relevant Feynman rules are
1) associate a four-momentum to each external propagator

)
2) Associate a factor of (%h) to each vertex
3) associate with each internal propagator a factor of fﬁ@_ig
4) integrate over every undetermined loop momentum
5) Divide by the symmetry factor
using this we get :
B m® 4 5 i/\)/ ' —ih (F.1.1)
— m” 4+ —(—— 1.
! 2 h (2m)* —p? +m? — ie

since the first term is clearly non -divergent and the coefficient of the integral
is non-divergent we consider only the term :

/ (d4p —ih (F.1.2)

2m) —p? + m? — ie
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since this depends only on p? we can take out the angular dependence and
thus take out the volume integral which is finite and write :

dp —ih
Vol(S? 3 F.1.3
ol( >/(27r)4p —p? +m? —ie ( )
We consider ther term depending on p:
3
P (F.1.4)

—p? +m? —ie

as we can take out the ¢A as this is non-divergent to get:

P’
_— F.1.5
_p2 + m2 — je ( )
can be written:
—p(=p? + m? — ie) p(m? — ie)
5 5 5 5 (F.1.6)
—p° +m* — 1€ —p° + m* — 1€
which is just:
L _p(m? —ie) (F.1.7)
P —p? +m? —ie o
This integrates to:
2 m2

where we ignore the € ’s : evaluating at the two end-points 0 and the cut-off
momentum A : It ) It )
— m —N"+m
— — —log(———— F.1.9
= log(— ) (F.19)

this diverges in two ways both quadratically and logarithmically

We consider the case N=4
We again only consider one loop corrections and ignoring the delta’s and
omega’s calling this I'* we have

k3 k1 k3 k7 K3 1
r (k)= + P + +
k k

Our relevant Feynman rules are
1) Associate a factor of (_T’h) to each vertex

2) associate with each internal propagator a factor of —ih

) .
3) integrate over every undetermined loop momentum
4) Divide by the symmetry factor
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if we consider where k; joins the loop we see that the loop terms all have
the form :

1, i o [ d' —ih —ih
_ 2t F.1.10
Via) 2( h)\) / (2m)t —p? + m? —ie —(q + p)®> + m? — ie ( )

where q is the four-momentum sum of k; and the other four-momentum
that joins the loop at the same vertex
Thus our overall diagram gives:
A

(ki) = ~(5) + Vb1 + k) + V(b1 + ko) + V(b1 + ka) (F.1.11)
If we assume the four-momentum is much larger then the mass and the
mass is much lower then out cut-off momentum we can take m = 0 in the
integrals . We can ignore the —(%) term and the 1(—£\)?(—ih)? prefactor
of the integrals as they clearly do not diverge.Thus we consider only the

terms gt
P 1 1
F.1.12
| e (F.112)

We wish to show :

d'p 1 1
F.1.13
/ (2m)% —p? + m2ie —(q + p)?2 + m? — ie ( )

is equivalent to:

1 4
D 1
l—py—
/0 dxlde/ (2m)4 [x1(—p? + m? —ie) + xo(—(p+ ¢)* + m? — ie)]Q(S( T1-2)

getting rid of the x5 using the delta function and reordering the derivatives
we obtain:

[ 1
(2m)* Jo ! [z1(=p? + m2 —ie) + (1 — z1)(—(p+ q)% + m? —ie))?
(F.1.14)

we consider the denominator :
[21(=p? +m? —ie) + (1 — 1) (—(p + ¢)* + m? — ie)]? (F.1.15)

multiplying out this becomes :

23 (—p?+m?—ie)? 1221 (1—x1) (—(p+q)*+m? —ie) (—p*+m? —ie)+(1—x1)*(—(p+q)*+m? —ie)?

We re-arrange in terms of coefficients of the different orders of z; to get:

23 (P +m?—ie)? + (—(p+ )2+ m? —ie)? —2(—(p+ q)% + m? —ie)(—p?* + m? —ie)] +
2 z1 (—(p+q)? +m? —ie)(—p* + m* —ie — (—(p+q)* + m? —ic))
+ (~(p+ @)+ m® —ic) (F.1.16)
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consider the z7 coeflicient which is :
2 2 2 2 2 9 .
221(—(p+ q)* + m? —ie)(—p* + m* —ie — (—(p + q)* + m* —ie)) (F.1.17)
This becomes:
221 (—(p+ q)* + m* —ie)(—p” + (p+¢)?)) (F.1.18)

multiplying out the square this becomes:

221(—(p + q)* + m* —ie)(—p* + p* + 2pq + ¢%)) (F.1.19)

which is:
2x1(—(p+ q)? + m? —ie)(2pq + ¢%)) (F.1.20)
| 201(=(p +q)° +m? — i€)g(2p + ) (F.1.21)

The coefficient of 22 in (F.1.16) is
[(=p*+m?—ie)* + (= (p+q)*+m* —ic)* =2(=(p+q)*+m* —ic) (—p? +m” —ic)]
doing the squares as (a +m? — i€)? = a? + 2a(m? — i¢) this becomes :

4 2

[ p* —2p*(m? —ie) + (m® —ie)® + (p+ q)* — 2(p + q)(m* — ie) + (m” — ie)?

— 20%(p + @)% + 2p*(m? —ie) + 2(p + q)*(m?* —ie) — 2(m? —ie)] (F.1.22)
canceling terms we get:

'+ (p+a)* = 20°(p + 0)°] (F.1.23)

multiplying out the squares we get:

'+ p* + 4p°q + 6p°¢ + 4pg® + ¢* — 2p* — 4pPq — 277 (F.1.24)

which is :
[4p%¢* + 4pg® + ¢'] (F.1.25)

which is :
¢*[4p® + 4pq + ¢*] (F.1.26)

which is:
¢*[2p + q? (F.1.27)

and thus our overall expression for the denominator (F.1.16) is:

@*[2p + q)*z1 + 221 (— (p+ q)* + m® —i€)q(2p + ) + (—(p + @)* + m® — ie)?
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which can be written as a square as:

[4[2p + qlz1 + (—(p+ ¢)* + m® — ie)]?

Our integral (F.1.14) is then :

/ d*p /1 " 1
@m* Jo T al2p + dlan + (—(p + q) + m2 —ie)]?
consider only the integral over x

1 1
/0 Sl P S Py e PR S

using the co-ordinate transform :
[4[2p + glz1 + (—(p+ @)° + m* — i) = =

which has:
dx = q[2p + gldz,
our integral (F.1.30) becomes :
1 [g[2p+a)+(=(p+q)*+m?~ie)] 1
SN, bl
q[2p + Q] (—(p+9q)2+m2—ie) T

We can see that:

(F.1.28)

(F.1.29)

(F.1.30)

(F.1.31)

(F.1.32)

(F.1.33)

[q[2p+q]+ (—(p+q) 2 +m%—i€)] = 2pq+¢* —p* —2pq+ > +m? —ie (F.1.34)

our integral (F.1.30) is thus:

1 —p?+m?—ie)] 1
g ol
Q[Qp + Q] (—(p+q)2+m2—ie) L

This integrates to :

1 dperemisia)
q[2p + q] T (=(p+q)2+m?2—ie)
which is :
1 [ 1 1 ]
q2p+q] (=(p+q)? + m? —ie) —p*+m? —ie

simplifying to:

1 [—p2 +m? —ie — (—(p + q)* + m? — ie)
q[2p+q]" (=p* +m? —ie)(—(p + ¢)* + m? — ie)

]
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(F.1.36)

(F.1.37)

(F.1.38)



calculate:

—p*4+m? —ie—(—(p+q)*+m? —ie) = —p*+ (p+q)* = 2pg+¢* = q(2p+q)

(F.1.39)
So our integral (F.1.14) is
dip 1 q(2p + q)
/ O R ey e a ravaps v prapeee pun | B Gt
which is :
d* 1
/ (2m)4 [(—p2 +m2?—ie)(—(p+q)2 +m? — ie)] (F.1.41)

as required.
returning to the m =~ 0 case we have (F.1.12) which is by our identity:

! d*p 1
dxidx 0(l—x1—x
Ry e e e GRS
(F.1.42)
using the delta and x; integral to take z; to 1 — z2 and calling z2 x . We

get :

/ dx/ [(1 =) (= pz—ie)jx(—(wq)z—ie)}? (£ 143
the denominator is:
[(1 = 2)(=p* —ie) + a(=(p+q)* —ie)]? (F.1.44)
the root of this expands to:
(—p? — i€) + xp® + wie — xp® — 2xpq — xq* — Tie (F.1.45)

which is :
—p? — 2xpq — xq® — i€ (F.1.46)

Thus our integral (F.1.43) is then:

1
/ dzx / (F.1.47)
41p? + 22pq + xq? + i€)?
we introduce
l=p+xq (F.1.48)
which means
dl =dp (F.1.49)
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Consider:

P+zl-2)¢ = (p+9)°+a2¢ —2°¢
= p*+2zpq + 2°¢* + 2¢® — 2°¢*
p? + 2xpq + xq? (F.1.50)

which is the root of the denominator of (F.1.47) and our integral becomes :

d*l 1
d F.1.51
/ a:/ A2+ 2(1 — 2)q? + i€)? ( )

our integral now only depends on [? so we can take out the angular integrals
as the volume of the three-sphere which we ignore and our integral becomes:

Azq 1
d F.1.52
/ :U/ 2m) l2—|—x(1 — )¢ + ie)? ( )

m? =12 4 2(1 — x)¢* + ie (F.1.53)

let:

for the arbitary variable m which has nothing to do with mass, so:
2mdm = 2ldl (F.1.54)

and:
> =m? —z(1 — x)¢® — ie (F.1.55)

So our integral becomes (F.1.51) becomes:

V A2+2zgA+1q? d 1
/ dm/ (2:; m(m? — z(1 — z)¢* — ie)m (F.1.56)
This is :
A*H2eghted® g 1 (2(1—x)g2 —i
Vv q° — ic)
d - F.1.57
o orim s (T
which integrates to:
1 1 1 (z(1— av)q2 — 1€) \\/A2 1 22qAtxq?
- F.1.
/0 d:c( Y 1llogm + 3 2 ] e (F.1.58)

and then evaluating becomes:

! 1 .1 9 1(z(1 —2)g® —ie) 1 (x(1—x)g® —ie)
/0 dx L [§log[A + 2xgA] + = e T 9AZ 1 2ugh + a2

]
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which is

1 (z(1-2)¢*)
2 A? + 2zqA + z¢?

: (F.1.59)

1
1 1 1
d ~log[A® + 2zqA] + - (1 — z) —
| e glgtoslA® + 200 + 51— )

suppressing the epsilons as they are no longer relevant
Thus then only possible divergence is in the first term thus there is only one
divergent terms ,since our x integral is finite for finite terms as we have no
terms of the form ™" n integers

we then have as stated only three possible divergences

F.2 (Oj2)CT = —j ()

recall (5.2.24) B
JH (@) = by (F.2.1)
In section 2.3 (2.3.30)we stated that C gave:

CazC=b; CbzC =ay (F.2.2)
We also know that (?7)
d3p 1 5,8 —ipT st s ipx
) = > (asu®(p)e™ ™" + b3 v® (p)e'®”) (F.2.3)

1

bS]

(2m)3 \2E )

We earlier stated that the b creates the anti-particles of those particles
created by a

We can interpret anti-particles as particles traveling backwards in time p23
13-5 [7] . This is equivalent to applying the time reversal operator which
reverses the momentum and the spin 132-33 p67 [9]

if we associate spin we a given axis with polar co-ordinates 6 and ¢ Then
we have :

£ = (&, ¢() (F.2.4)

where the different spins up and down correspond to the different compo-
nent s of the spinor
we have following p68 13 [9]

g —e~ibginl
€= (omze) e = (™) (F.25)
The flipped spin version of (F.2.4) is :
£ =), =€) (F.2.6)
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Thus as we know b creates a positron whose spinor v contains the inversed
spin spinor €*

Recall (2.3.17):

v(p) = (_‘/\ff—:ﬁ (F.2.7)
This becomes : .
v(p) = (_%§3> (F.2.8)
We can show that :
e = —io?(&%)* (F.2.9)
Conjugate (F.2.5)
(4 —ePgin?
&) = <€_§§Zj§ng> s =< g”2> (F.2.10)

as the trigonometric functions are real for real angles Recall (1.3.14) so that:

—io? = (? _01) (F.2.11)
Hence applying to the two parts of (F.2.10)
o 2ex (0O cosg
(1) = (1 Z¢51n2
“bsm
0052
= &) (F.2.12)
.9 « _ (0 =1 —ei‘f’sing
o7 E()" = (1 0 cosg

- —cosg
el‘bsing

S (F.2.13)

We can now write using (2.3.17) and (??)

o) — [ VPO(=i0%E)
(p) = (_\/ﬁ(_ioggs*)) (F.2.14)

We now wish to show :
poot=o%\/pF* (F.2.15)
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and :

\V/p.ao? = o?\/p.o* (F.2.16)
We can show that for a general matrix:
a b
() wa21m)
its positive square roots are given by i.e. C? = A the negative square roots
are -C:
1 at A b
CF= — —— F.2.18
\/a+d:|:2A< c diA) ( )

where A = v/ad — be

prove by substitution:

o2 _ 1 (aiA b ) 1 <aiA b >
Va+d=+2A c dExA) Ja+d=E2A c dEfA
_ 1 <(aj:A)2+bc ab+bdj:2Ab>

a+d+2A \ca+ecd+2Ac (d+ A)? +be
o2 _ 1 a? + ad — be £ 2aA + be b(a+d=+2A)
- a+dE2A cla+d+2A) d? + ad — bc + 2dA + be
B 1 ala+d=+2aA) bla+d=E2A) (F.2.19)
a+d+2A \ cla+d+2A) d(d+a+2dA) -
So C*% = A as required
Consider using (2.3.15)
p.o = po —plal — p202 —p303 (F.2.20)

o1 0\ (0 1\ 5(0 =i\ _ 5(1 0
=))W 6 )

using the pauli spin matrices (1.3.14)
Thus recombining

0_ 3 1, ;2
_( b —DP —p - +1p
p-o = (_pl —ip? 0P ) (F.2.21)
and
det(p.o) = (p°)* — (1°)* — (p")* — (0*)* = p° (F.2.22)

So considering (F.2.18)

1 P’ —pPEp —p1+ip2>
Do = ‘ F.2.93
b 2p0ip<—p1—2p2 P +pdEp ( )

222



Consider using (2.3.15)

p.ot =p + plot* + p2o? 4+ pio (F.2.24)
o =gl 0% =02 as o', 0? are real
0% = —0? as o2 is complex
So:
pot = pd+plot —p?e? 4+ pPo? (F.2.25)

10 0 1 0 —i 1 0
_ 0 1 2 3
-2 () ()l )
using the pauli spin matrices (1.3.14) Recombining:
0 3 1 )
J— p +p° p +p
O = . F.2.26
b <p1 N sz po . p3> ( )
with
det(p.5*) = (0°)* — (°)* — (0')* — (")’ =P’ (F.2.27)

So considering (F.2.18)

1 0 3 1 -2
e pEpEp pAp F.2.98
VP

Tp0+p \ pt—ip* pPP-pPxp

Using (F.2.23)

1 0 __ 3:|: _ 1+' 2 0 —i
2 _ p p p p p ¢
\/DP.OO = 2p0:|:p <—p1—ip2 pO +p3 :|:p> (Z 0)

1 —ipt —p*  —ip"+ipPFip
B M (ipo +ip? +ip ipt — p? (F.2.29)

Using (F.2.28)
2 = (0 T L (PrrEr i
i 0)2p0xp\ p'—ip* pP-p’Ep

1 —ipt —p*  —ip® +ip® Fip
= —— . . . . F.2.
2p0 & p (Zpo +ip® +ip ipt — p? ( 30)

So comparing (F.2.29) , and (F.2.30)

o?\/p7* = o*\/p* (F.2.31)
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Recall (2.3.15)

p.aT = po —i—plal + p202 +p3a3 (F-2-32)

_oo(1 0N, (0 1y, (0 i), (1 0
=P o )P\ o)\ o) 0 41

using the pauli spin matrices (1.3.14)

Recombining;:
04,3 1 _ ;2
— p +p° p —p
0= ; F.2.33
p <p1+zp2 po_p3> ( )
with
det(p7) = (0°)* = (0°)* = (p)* = (v*)* = p* (F.2.34)
So recalling (F.2.18)
— 1 (+p£p  pl—ip?
/DT = . F.2.35
be 2p°ip< pt+ip* PP —pPEp ( )
Recall (2.3.15)
p.a* _ pO _ plo_l* _ p20_2* _ p30_3* (F236)
o =gl 0% =02 as o', 0? are real
0% = —0? as 02 is complex
So:
p.ot = p'—plol +p?o? — p3od (F.2.37)

 of1 0y (01 2 (0 =i\ 5(1 0
=20 )00 )6 )

using the pauli spin matrices (1.3.14)

recombining:
0 3 1 - 2
o= PP, TR ) F.2.38
! (—Pl +ip? P+ p? (F-2.38)
with
det(p.o™) = (°)* — (0*)* — (0')* — (p*)* =1’ (F.2.39)
Recall (F.2.18)
L (" =pEp —p'—ip?
o = . F.2.40
e 2p°ip<—p1+w2 PP +pPEp ( )

Recall (F.2.35)
Vet = A (PrrAr Pt ) (0
200 +p \ p +ip p’—p>xp/\i O

1 1 2 0 53
- . Olp +3p . lp . I,Lp :;:Zp (F241)
2p9 +p \ip” —ip® +ip —ipl +p
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Recall (F.2.40)

2ot = (O = L (P —pEp i’
i 0)2p0+p\ —pt+ip® pP+pPEp
- ! ' +p* —ip? —ip® Fip
20+ p (ipo i dip  —ipltp? (F.2.42)

So comparing (F.2.42) and (F.2.41) :

o?\/p.o* = \/p5o? (F.2.43)
Now recall (F.2.14)
B \/ﬁ(—’i02fs*)
v(p) = (_\/ﬁ(_wggs*)> (F.2.44)

which becomes recalling (F.2.15) , (F.2.16):

v(p) = <_wzmgs*> (F.2.45)

i0?\/p.oFES*

Thus :
o _ i —1VPTE . i0%*\/pTE”
o = 1( e TS = (1) (F.2.46)
0% = —0? as 02 is imaginary giving:
« —io?\/p.o&*

We can write this as:

« (0 —io? p.c&°
ol = (e Ty ) (Voo (F.2.48)
remembering from (77)
2 0 0'2

V2 = (_ G > (F.2.49)
So recalling the definition of u (2.3.16)

[o(p)]* = —iv*u®(p) (F.2.50)
taking the conjugate we get:

v(p) = v [u’(p)]* (F.2.51)



2k 0 02*
g —(_02* 0 (F.2.52)

0% = —0? as 0? is imaginary
Thus :
2 = =2 (F.2.53)
Thus (F.2.51):
o(p) = —in* [’ (p)] (F.2.54)
taking (F.2.51) multiplying each side by i we get:
ilo(p)]* = 7*u’(p) (F.2.55)
using (2.3.4)
vyt = -1 (F.2.56)
So:
i’ [o(p)]* = —u*(p) (F.2.57)
ie.
—i7*[o(p)]" = u®(p) (F.2.58)

recalling (??) using (F.2.51) , (F.2.58)

d3 1 —ipx STUS eipx
= / o 21:2 T 6o (p)ev) (F.2.59)
So using (F.2.51) , (F.2.58)
d3 *\ —1pT S : s * _1pT
o= | G w2 3 (o e+ B i )
(F.2.60)

So using the C ’s on the a and b we get i.e. (2.3.30)

3 ' '
ch _ d b 1 Z (bg(_i,y2[v(p)]*)eflpw + a;j[(_i,y2)[u3(p)]*ezpm)

(F.2.61)
which is :

. d3p 1 s *\ —ipx str s « ipz
_272(2703 \/ES;;%([U(P)] Je P+ al[ut(p)]*e™”)  (F.2.62)

which is considering (?7?)

—iy2p* (F.2.63)
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—iy" = —in?(y)"

(F.2.64)

We know following Appendix B15 for the Dirac conjugate momentum that:

Py =yl
Consider:
W) = @wh?A)T
T (phT

Recall (2.3.2) as 4?2 is purely imaginary :

ST = A2
Recall from (77?)
72 = =7
So
N

recall (F.2.66) B
—i? ()T = ~i(y**)"
and so recalling (F.2.62)

CYC = —i(Py"+*)T

Consider B
CYC = CyiCy°
We recall (77?)
ds 1 —ipx sT,.s ipx
Y= 3 (agu (p)e 7" + b3v® (p)e™?)

(2m)3 | /2E; Py

So:

d3 1 ST, s ipT S, S —ipx
ol =[5 (@l ()" + b (p)e77)
Recalling (F.2.50)

transposing we get :

)] = —i(u ()"

—iu*" (p)y*"
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(F.2.65)

(F.2.66)

(F.2.67)

(F.2.68)

(F.2.69)

(F.2.70)

(F.2.71)

(F.2.72)

(F.2.73)

(F.2.74)

(F.2.75)

(F.2.76)



using (?7)

using from above (F.2.58)
~i*(p)]" = w*(p)

transposing we get:

wip) = (=iv*fo(p)]")

Recall (?7)

Thus using (F.2.80) , (F.2.77) in (F.2.74) we get:

o= [

ps 1,2

Using the C on the creation operators as in (2.3.30) we get:

=i [ b S e e

which is recalling (?7)

—i(yp1)*y?

which is
—W)T’Y2
This can be written:
_i<72T¢T)T

and as v2T =42 (F.2.69) is

(—ir?e)T
SO :

CyYC = Cyicy?
= (=iv"0)"’

(=i )T

01
0 _
=)
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Recall (2.3.1)

Z sT sT eipT + b%usT(p)e—ipx)72

(p)e"P")y?

(F.2.77)

(F.2.78)

(F.2.79)

(F.2.80)

(F.2.81)

(F.2.82)

(F.2.83)
(F.2.84)

(F.2.85)

(F.2.86)

(F.2.87)

(F.2.88)



So:

AT =40 (F.2.89)
Thus (F.2.87) becomes:
CYC = (—in"~2)T (F.2.90)
Recall from (5.2.24) that:
Cj*(x)C = Cpy*pC (F.2.91)
cC =1 (F.2.92)

as charge conjugation twice on the a operators takes a to b and then back
to a and similarly takes b to a to b

Thus:
Cj*(x)C = CYCA*CyC (F.2.93)
Recalling (F.2.90) and (F.2.71) this becomes:
Ci'(x)C = (=" Y )Ty [=i(hy°7*)"]
= (") ()T (F.2.94)

following equation p70 eq 3.147 [9] we can write with indices as :

Cj*(@)C = =YooV P gV 9e Vo (F.2.95)

re-ordering and using the anti-commutation of fermions to swap the order
of 1. and ¥,; we get :

Cj*(2)C = v VenV Yoy Voetbe (F.2.96)

as 2 and ¥ are chosen to anti-commute recall (2.3.4):

Ci*"(x)C = = 1972 VoV e (F.2.97)

(2.3.4) also gives:

7130 anti-commutes with all the v* except p = 2

with which it commutes

’ygb anti-commutes with all the v* except =0

with which it commutes

Recall that as all matrices are real except 72 see (2.3.2) and (2.3.1) (??)

el (F.2.98)
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implies
A= T £ 2 (F.2.99)

Thus as our matrices commute between the gamma matrices and their trans-
poses recalling also (F.2.69) we find:

commuting for our symmetric matrices v, 2 therefore remains the same
commuting for our anti-symmetric matrices v!, v therefore picks up an ex-
tra minus sign

all our terms pick up a minus sign so (F.2.97) becomes:

Ci*(@)C = PGz VoY e (F.2.100)
which is : B
Cj*(x)C =y 72y (F.2.101)
(2.3.4) implies:
(V*)? =1 (F.2.102)
(V) =1 (F.2.103)
meaning:
Cj*(z2)C = —apytap (F.2.104)

F.3  imllea = —J(x)

Recall: (6.4.5)

Dol = ~EU) - [ d'sIw)sa(v (F5.)
So:
0 _,L _ 0 0J(y) ~ Iz
mr[%] = 5¢d(m)E[J] /d y5¢cl(x)¢c’(y) J(z)  (F.3.2)

changing the first differential from ¢ to J:

0Tl = — [ty LB [y ST )0y (ks

) Y56a() 57 (y) 56a(x)
We know (6.4.4)
Pa(x) = (] o(z) | Q) (F.3.4)
Recall (6.4.3)
)
= —qﬁcl(a:) (F.3.5)
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Thus (F.3.3) becomes:

*Tipal = - [ diyre W) () - [ W) ) — 7(2)

5¢cl($) y5¢cl(x) (Sd)cl('r)
(F.3.6)
So the first two terms cancel and we get (6.4.6):
0
5o (x)r[qbd] = —J(z) (F.3.7)
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Appendix G

Appendix G: Chapter 7

G.1 Simplification of the Lagrangian

Recall (7.1.19) , (7.1.21) , (7.1.23) , (7.1.20)

L = 0,00"d" + 1 20dT — \(dDT)? (G.1.1)
1 1
89,00"dT = — qulaﬂgﬂ + 78M¢28“¢; (G.1.2)
¢’2—|—2@¢’+v + ¢
ol 1.
(P07) = 5 (G.1.3)
@ty = O+ 20760 4+ 20764 4 do?eh”
4
40P + dvdidh” + vt + 20°04” + 9’ (G.1.4)
1 1.
with v = “72
eliminating v
¢/2 M3¢/ M4 ¢/2
P2 (001 = ;ﬂ? + )\ll +oy+ % (G.1.5)
2
using (7.1.23) we get:
r4 2 /2 12412
A
AM@Dh)?2 = ¢ + Az g fl + ¢12¢2 (G.1.6)
4
2 /2 K ¢1 2 2¢ Ay
)\ r
+ pierT + +u ¢1¢ +4)\+ 5 +4
Thus combining these :
4 14
M /\¢> 1 2
(@D —AN@DT) = T - e’ — T — Az g0
— Azp '3_”5/2 )y (G.1.7)

2 4
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Thus using (7.1.19):

1 ' 1 pt s Ay 1 2
L = 50u0d ¢l + §3u¢23“¢£ to TR 41 — 1PA2 ¢,
12 12 14
Mpgd — A%y M (G.1.8)
2 4
2y _ S(|k|=ko)+3(|k|-+ko)
G.2 (k) = =
writing our definition of the delta function(1.2.11)
/(5(u)f(u)du = f(0) (G.2.1)
and chose :
u=g(x) (G.2.2)
we get :
/5(9($))f(9(x)) | g'(z) | dz = £(0) (G.2.3)
Thus if the zero’s of g are at z; and ¢'(x;) # 0
we can define : 5( )
T — X
§(g(x)) =)y ——2 G.2.4
) =320 (@24
which gives us the appropriate result (G.2.3) Consider (7.2.24):
5(k%) = 6((K°)%— | k 2) (G.2.5)
This has two solutions :
ko =| k| (G.2.6)
and
ko=—|k| (G.2.7)
as we integrating over kg
(%) = 2k (G.2.8)
so we have using (G.2.4) :
S(ko+ | K1)+ 6(ko— | k
| 2k |
evaluating at ko = & | k | we get :
ko+ | k ko— | k
5([62) _ S(ko+ [ K [) +(ko— [ k) (G.2.10)

2| k|
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G.3 ceo‘ﬂ“”FaﬂF . Violates time

We consider only time symmetry
in matrix form recall (?7?):

Thus:

_ (BIHEG+ED)

C

_ | B:E,
C

ByEs

symmetry

s+ B,B, —%=P 4 BB,

assuming the B and E fields are time symmetric then our alterations just
occur in the top row and left column as these where the only ones we used
the time co-ordinates in see Appendix A1l Thus in our time transfered co-
ordinates we have ( the time transfer means time components pick up a

minus sign)

and then

Foplop =

Splmle o

which means :

(B +Ej+E2)

E.B,

Ey _E:
(& (&
-B. B,
0 B,
0

T

o Lgfh LE?O ‘51 (aw]
Sy}
N
o

E.,B. E.B, _ E:By

_ ByEs

c

C

C C
~-B2 -5y BB,

c2

E.E
- Ezch + Bach T2 Y + Bsz

(G.3.3)

_l’_

C

clearly this is not the same as the expression before the time change (G.3.2)

E, E.
C C
—B: By (G.3.1)
0 B,
B, 0
E. E
2 L e
o 0 b (G.3.2)
I
- —By B
E.By _EuB. | E:Bs E.By,  EyB.
C E % C Cc C
- BS - 22 Y + ByB:L‘ _EzQEZ + BzB:c

E? 2 2
= — By — B;

E, B,
C

_EaézEz + BzBac
2
_ By _

BQ



G.4 Dirac equation in Weyl matrix form

Recall the Dirac equation (77?)

(i —m)y (G.4.1)
clearly —ma) is equivalent to :
-m 0
(o) i
as -m is a constant Recall the Feynman slash (2.3.24) , (2.3.1) and (2.3.2):
d =~"0, (G.4.3)
o_ (0 I
v = <1.2 O) (G.4.4)
i 0 O'i
v = (—Ui O) (G.4.5)
SO : 5 »
. 0 o + 0'0;
d= (60 oig, 0 ) (G.4.6)
Thus using (G.4.6) and (G.4.2)
. —m (0 +3.V)
—m= R 4.
i@—m (i(@o &V -m ) (G.4.7)
as : .
V = (01,02,03) G.4.8
&= (ol,0% 0% (G.4.9)
writing (7.6.1)
Y = < W) (G.4.10)
YR
we gain using (G.4.7) :
. —m (0o + 7.V) ¢L>
— = - G.4.11
(i) = m)y (i(ao FAY% “m ) <¢R ( )

which is (7.6.2)
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G.5  Yidy =i + pidig

Recall (G.4.6) , (2.3.24),(7.6.1) , (2.3.1) , (2.3.10)

B 0 (0o + 3.V)
?= (i(@o —&.V) i 0 ) (G.5.1)
P =1ply0 (G5.2)
P = (;ﬁ) (G.5.3)
N <]92 {)2) (G.5.4)

Thus using (7.6.1) , (2.3.1) , (2.3.10) :
_ I
vt =l 0) (G5.5)
combining with (G.4.6) we get:
i s (0D 0 i(0 +&.V)
= (@}, eh) <i(3° PR ) (G.5.6)
multiplying from the left by 1) gives:
i (00— 3.V 0 1

ot i (100 = F V)
= Wr.¥r) (i(80~|—5ﬁ)¢R>

= $]i(0 — GV )L + Ri(8 + &V )R (G.5.7)
call
wp = (Q/;)L> (G.5.8)
by exact analogue with (G.5.7) we get :
Gridhpr = ¥1i(0 — 7.V ), (G.5.9)
call : .
o= (2) @
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by exact analogue we get :

Pridvr = Vhi(do + 6.V ¥R (G.5.11)
Thus comparing (G.5.9) and (G.5.11) with (G.5.7) we get (7.6.3):

Vidhp = i + Ppidvr (G.5.12)

G.6 kinetic part of scalar lagrangian in compo-
nent form

Recall (7.7.31)
1 i g i N AL
AL = 5(0,v)(gYaM +g'T'A,' ) (gYa + g'T* A*Y) <v)
1 q 141 24 2
— 5(0,1})(9Yau + 5(0 At + %A+ 0%AL%)
/
x (gYa" + %(JlA“1 + oA 4+ 03A“3)) (2)

1 1
= JPYH@ + jaY e A + A ) 0,00 (1)

4 4

9 /2
¢ Moo ()« oo ()
1g”

200 (1)

[

+

where (1.6.4) is used to define the squares. Recall (2.3.15) :

(=1 (G.6.2)

using (1.3.14):
A(0)=6 0 (=) s
: (v, 0)o <S> =0 (G.6.4)

again using (1.3.14):
(- (%) 0)-) .
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+ Ly (e, v 4,200)(0,0)0° <S) 20V g (au A + A,2a")(0,0)0° <0>

v

(G.6.1)



SO:

(v,0)0? <2) =0 (G.6.6)
using again (1.3.14):
5 (0 (1 0Y(0\ (0
OGO
so:
(v,0)03 <S> = —? (G.6.8)
and using (2.3.15) ,(G.6.4), (G.6.5) , (G.6.7) (G.6.1) becomes:
AL = %v2g2Y2(a#)2 — i’ugng'(aﬂA“‘3 + Auga“)
b L+ (a2 A2y (G.69)
5l v (A " " 6.
using the property of four-vectors (1.6.4)
a AP = A 3ak (G.6.10)
So (G.6.9) becomes:
1
AL = HRY3a) + LA + (4D + (D) = gV gla,a)
= LA ) + Y, - Sy @
BRI T Z g =7 e
which is (7.7.32)
G.7  re-writing D,
Recall (7.7.3) , (7.7.36) , (7.7.37) , (7.7.33) , (7.7.48)
Dy =0, —igYa, —ig'T'B, (G.7.1)
1
0_ 1p3
Z, = e (g B, gay) (G.7.2)
— 3 /
A, o (9B, +d'a,) (G.7.3)
+ 1 2
WE = T(B +iB2) (G.7.4)
1
T = 5(01 + io?) (G.7.5)
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We want :

/

Dy=08, - z’\%(WjT* W T
. 1 . g
— i 2 (¢ T — V) — i A, (TP HE)T.6)
Vg©tyg g°t+yg

comparing with (7.7.3) canceling the derivative terms as they are common
to both and dividing by -i:

/
i 9t — 1 123 2
gYa, +¢T'B, = ﬁ(WMT + W, T7) + g2+g'22“(g T3 — ¢%Y)
99’
+ =LA (T}+Y) (G.7.7)
Ve +g® "
Recall (7.7.33) , (7.7.48):
WETE = L(191¢z'1132)1((71iz'(f2)
B Nt D)
1
— E[B;Tl + BMT? +i(B,T* — B.T")] (G.7.8)
So :
(W,STH + W, T7) = V2[B,T" + BT (G.7.9)
Considering (7.7.36) :
S A S— L (4B}~ 9a,)(¢*T* — g?Y)
f —
92 +g"” VE+9* Ve +g? 7 "
13 373 3
= —|— g a Y
Prg?t T Tt
1 2
Consider (7.7.37)
99’ 3 99’ 1 3., 3
— 2 _A(T?+Y) = (9B, + g'au)(IT° +Y)
Ve +g? " Ve gtV rgr T
1 2 133 1 12
= B3T3+ ——g¢"%a,Y
g T g
1 2
+ W(g' ga#T3 + g/QQBZY) (G?ll)
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So adding (G.7.10) and (G.7.11) we get:

1 2 99’ 1 2
7Z 2T3_ /Y + 714 T3+Y:7/ /+ 2B3
e u(9 97Y) g i ) 92+g,29(g 9°)B,
1 1y 12 2
+ —— +g°)a
92+g,29(9 97)au
= ¢BT%+ga,Y (G.7.12)

Using this in (G.7.6) with(G.7.9) gives (7.7.3)
we know (7.7.47)

/
e=—99 (G.7.13)
Vgt +g”
we defined
Q=T+Y (G.7.14)

So (G.7.6) becomes:

D, = 0Ou— z‘%(WJT+ +W,T7) - z'ngngIQZu(gﬂT3 +9°T° — ¢°Q)
— 1eA,Q (G.7.15)
our coefficient of 1737, is
—\/ g2+ g% (G.7.16)
we defined (7.7.44)
cost = \/929;7 (G.7.17)
so our coefficient is : .
cog G (G.7.18)

we can re-write the T3Zu term as:

2
. g
—1 92 + gIQZN(T3 — WQ) (G719)

we defined (7.7.45) :
g

sinf = ——— (G.7.20)
Vg?+g”°
so we can re-write the Z, 7% term (G.7.19) as:
/
—i—L (13— sin%,Q) (G.7.21)

cosbyy
and thus (G.7.15) becomes:

/

9

P (T3 —sinf), Q) —ieA,Q (G.7.22)

g I
D#:aﬂ—lﬁ(WJT—‘r—f—WuT )—Z

which is (7.7.49)
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